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Total No. of Questions : 5]

[5961]-601
T.Y. B.A.

PERSIAN
CC-1E : Poetry, Poetic Terms and Figures of Speech

 (2019 Pattern) (Semester - VI) (36103)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3927 [Total No. of Pages : 2

SEAT No. :

P.T.O.
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Total No. of Questions : 4]

[5961]-603
T.Y.B.A.

HOME ECONOMICS
CC-1F, G-3 : Social Changes in Sociology - II

(2019 Pattern) (Semester - VI) (36263)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Diagrams must be drawn wherever necessary.

PA-3929 [Total No. of Pages : 4

SEAT No. :

Q1) Write the answers to the following questions in 20 words each. (Any eight)[16]

a) Give two reasons for non-compliance behavior?

b) What are the types of the deviant behavior?

c) What is the change society due to social stagnation?

d) What are the two characteristics of a family?

e) What are the stages of transformation in family organization?

f) What are the two financial reasons for family transformation?

g) Explain the types of intermarriage.

h) What is inter-marriage.

i) What are the types of society acceptable marriages?

j) What are the two characteristics of struggle?

P.T.O.
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Q2) Write the answers to the following questions in 50 words each. (Any four)[16]

a) Explain the nature of social deviation?

b) Explain the difference between non-discovery deviation and migration
deviation?

c) Explain the meaning and concept of family?

d) Explain the concept of transformation of family organization?

e) Explain the concept of dowry?

f) Explain the types of socially acceptable marriages?

Q3) Write the answers to the following questions in 150 words each. (Any three)
[18]

a) Explain the nature of social adherence?

b) Explain the values of Indian family?

c) Explain the meaning of family and explain the basic principles of family?

d) Explain the requirements of adoption law according to Indian law?

Q4) Write the answers to the following questions in 300 words each. (Any two)[20]

a) What is family? Explain family characteristics?

b) What is divorce? Explain the causes and consequences of divorce?

c) What is struggle? Explain the nature of conflict?


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Total No. of Questions : 4]

[5961]-603
T.Y.B.A.

HOME ECONOMICS
CC-1F, G-3 : Social Changes in Sociology - II

(2019 Pattern) (Semester - VI) (36263)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3929

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) AZwMb ZmË‘H$ dV©ZmMr XmoZ H$maUo gm§Jm?

~) {dMbZmË‘H$ dV©ZmMo àH$ma H$moUVo?

H$) gm‘m{OH$ AZwMbZm‘wio g‘mOmV H$moUVm ~Xb KSy>Z ¶oVmo?

S>) Hw$Qy>§~mMr XmoZ d¡{eîQ>ço H$moUVr?

B) Hw$Qy>§~ g§ñWoVrb n[adV©ZmÀ¶m AdñWm H$moUË¶m AmhoV?

’$) H$m¡Qy>§{~H$ n[adV©ZmMr XmoZ Am{W©H$ H$maUo H$moUVr?

¶) Am§Va {ddmhmMo àH$ma gm§Jm?

a) d§e Am§Va {ddmh åhUOo H$m¶?

b) g‘mO‘mÝ¶ {ddmhmMo àH$ma gm§Jm?

d) g§Kfm©Mr XmoZ d¡{eîQ>ço gm§Jm.



4[5961]-603

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) gm‘m{OH$ {dMbZmMo ñdê$n ñnï> H$am?

~) A{dîH¥$VrOÝ¶ {dMbZ d AnJ‘Z {dMbZ ¶mVrb ’$aH$ ñnï> H$am?

H$) Hw$Qy>§~mMm AW© d g§H$ënZm ñnï> H$am?

S>) Hw$Qy>§~ g§ñWoMo n[adV©Z hr g§H$ënZm ñnï> H$am?

B) hþ§S>m hr g§H$ënZm ñnï> H$am?

’$) g‘mO‘mÝ¶ {ddmhmMo àH$ma ñnï> H$am?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) gm‘m{OH$ AZwMbZmMo ñdê$n ñnï> H$am?

~) ^maVr¶ Hw$Qy>§~mVrb ‘yë¶ ñnï> H$am?

H$) Hw$Qy>§~mMm AW© gm§JyZ Hw$Qy>§~mMo ‘yb ŷV VËdo ñnï> H$am?

S>) ^maVr¶ H$m¶X¶mZwgma XÎmH$ {dYr ~m~V Amdí¶H$ AgUmè¶m ~m~r ñnï> H$am?

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Hw$Qy>§~ åhUOo H$m¶? Hw$Qy>§~mMr d¡{eï>¶o ñnï> H$am?

~) KQ>ñ’$moQ> åhUOo H$m¶? KQ>ñ’$moQ>mMr H$maUo d n[aUm‘ ñnï> H$am?

H$) g§Kf© åhUOo H$m¶? g§Kfm©Mr d¡{eîQ>ço ñnï> H$am?


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Total No. of Questions : 4]

[5961]- 604
T.Y.B.A.

MATHEMATICS
CC-IF : MG- 6 363 : Ring Theory

(2019 Pattern)  (Semester - VI) (Paper- I) (36343)

Time : 2½ hours] [Max. Marks :70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3930 [Total No. of Pages : 3

SEAT No. :

Q1) Attempt any five of the following. [10]

a) Define unit of a ring. Find all unit in  [i].

b) In [ ]i , show that 5 is not irreducible.

c) Let (R, t,) be a ring suchthat R contains unity.

If N is an ideal of R containing a unit of R then. Show that N = R.

d) Let   D be a Euclidean domain with Euclidean norm v.

If a and b are associates in D, then show that v(a) = v(b)

e) The set {0, 2, 4} under addition and multiplication modulo 6 has unity.
Find it.

f) List all zero divisors in the ring  18.

g) Determine whether f (x) = x2 + x +1 is irreducible over  5.

Q2) Attempt any four of the following. [20]
a) If A and B are ideals of a ring R, the sum

A + B of A and B defined by A + B = {a + b/a∈A, b∈B}.

Show that A+B is an ideal of R.

b) Let D be a UFD and F be a field of quotients of D.

Let f (x)∈D[x] where deg f(x) > 0. If f (x) is irreducible in D[x], then
prove that f (x) is irreducible in F[x].

P.T.O.
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c) Let F be a field. Show that every ideal in F[x]  is a principal ideal.

d) Let P be an ideal in a commutative ring R with unity, prove that R/P is an
integral domain if and only if p is an prime  ideal of R.

e) Let Q : R→ R' be a ring homomorphism with kernel N. Then prove that
the rings R/N and Q[R] are isomorphic.

f) Prove that every Euclidean domain is a principal ideal domain.

Q3) Attempt any four of the following. [20]

a) Show that the ring  [i]
 
is an integral domain.

b) Let p be a prime, Prove that  p 
has  no zero divisors.

c) Divide f(x) = x4 – 3x3 + 2x2 + 4x–1 by g(x) = x2– 2x + 3 in  5
[x] and find

the quotient and remainder.

d) Prove  that the cancellation laws hold in a ring R if and only if R has no
zero divisors.

e) Let R { 2 / ,  }a b a b= + ∈  and Let 
2

R  a, b  
a b

b a

 
′ = ∈ 

 
  Then

show that Q : R → R' where ( ) 2
Q  2

a b
a b

b a

 
+ =  

 
 is an isomorphism.

f) Let R = {0, 2, 4, 6, 8} under addition and multiplication modulo 10.
Write addition and multiplication table for R.
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Q4) Attempt any two of the following. [20]

a) i) If D is a UFD, then prove that the product of primitive polynomials
in D[x] is primitive.

ii) Prove that every finite integral domain is a field.

b) i) Let D be a principal ideal domain. Prove that every element that is
niether o nor unit in D is a product of irreducibles.

ii) Let D be a Euclidean domain with Euclidean norm v.  Prove that
υ(1) is minimal among all v(a) for non- zero a∈D. Also prove that
U∈D is a unit if and only if v(u) = v(1).

c) i) Prove that an element ‘a’ in a field F is a zero of f(x)∈F[x] if and
only if (x–a) is a factor of f(x) in F(x).

ii) Let Q : R→R' be a ring homomorphism. Then prove that

A) If S is a subring of R then Q[S] is a subring of R'.

B) If S' is a subring of R' then Q-1[S'] is a subring of R.

d) i) State and prove Eisenstein Criterion.

ii) If a and  b are associates in a ring R, prove that a b< >= < >


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Total No. of Questions : 5]

[5961]-605
T.Y.B.A.

STATISTICS (Special - III)
ST - 33886 - DSE - 1D : Distribution of Theory - II

(2019Pattern) (Semester - VI) (36381)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicates full marks.
3) Use of Scientific calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

PA-3922 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt each of the following.

A) Choose the correct alternative of the following. [1 each]

a) Let X → C (μ, λ) then median of X is

i) λ ii) μ + λ

iii) μ iv) μ – λ

b) If X → LN (0, μ, σ2) then standard deviation of log 
e
X is

i) σ ii) μ

iii) μ + σ iv) μ – σ

c) If X → L (3, 1) then second quartile of X is

i) 3 ii) 1

iii) loge2 iv) μ + loge3

d) If x → C(0, 1) then 
1

x
 →

i) C (0, 1) ii) C (1, 0)

iii) C (½, 0) iv) C (0, ½)

e) If (X, Y) → BN (μ
1
, μ

2
, σ

1
2, σ

2
2, ρ) then (X|Y = y) follows

i) Lognormal distribution ii) Normal distribution

iii) Cauchy distribution iv) Weibull distribution

P.T.O.
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B) State whether the following statements is True of False : [1 each]
a) Cauchy distribution is a symmetric distribution.
b) Lognormal distribution is positively skewed.
c) Mean does not exist for Cauchy distribution.
d) If X → W (α, β) then X2 → Exp(α2, β/2)
e) Exponential distribution is a particular case of Weibull distribution.

Q2) Attempt any four of the following: [4×5=20]
a) If X → W (α, β), then find mean and variance.
b) Let X → C (0, 1), find distribution of Y = x2.
c) If X → L (0, 1), find mean deviation about mean.
d) Derive the relation between Normal and lognormal distribution.
e) Let X → LN (a = 0, μ = 1, σ2 = 4). Find Q

1
.

f) A continuous r.v. X has Laplace distribution with parameter μ = 2 and
λ = 1.5. Find P[|X| < 5].

Q3) Attempt any four of the following. [4×5=20]
a) A continous r.v. X has Laplace distribution with parameter μ and λ.

Derive distribution function of x.
b) Obtain the relation of Cauchy distribution and Student’s t - distribution.
c) Let (X, Y) → BN (3, 2, 4, 9, 0.7) then find P(X + Y > 5).
d) Let X → LN (0, μ, σ2). Find the rth moment of X.
e) If X → W (α = 0.5, β = 3), then find P[X < 1] and P[X > 5].
f) If X → LN(a, μ, σ2), then obtain mode of X.

Q4) Attempt any two of the following. [2×10=20]
a) Obtain the distribution of difference of two i.i.d. exponential variates with

parameter (α).
b) Let (X, Y) → BN(μ1, μ2, σ1

2, σ2
2, ρ). Find the conditional distribution of

X given Y = y.
c) Let X → W (α, β), find distribution of Y = x2.
d) Let X and Y be two i.i.d. Cauchy r.v.s. with μ = 0 and λ = 1.

Find distribution of 
1

X
. Hence compute P 

1 1
2

X Y
 + >  

.


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Total No. of Questions : 4]

[5961]- 606
T.Y.B.A.

MATHEMATICS
CC-2F : AMG- 6 : REAL ANALYSIS- II
(2019 Pattern)  (Semester - VI)  (36344)

Time : 2½ hours] [Max. Marks :70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3932 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five of the following. [10]

a) Show that the function 

1, 0 1;

( ) 2, 1 2;

3, 2 3;

x

f x x

x

≤ ≤
= ≤ ≤
 ≤ ≤

 is continuous almost

everywhere on [0, 3].

b) If f(x) = x, 0 ≤ x ≤ 1 and  
1 2

0 , ,1
3 3

σ  =  
 

 is a subdivision of [0, 1] then

find  [ ]L ;f σ

c) If A is not of measure zero, B ⊆ A and B is of measure zero then porve
that A–B is not of measure zero.

d) Show that the improper integral 
1

0

cos
 

x
dx

x  is convergent.

e) Define conditional convergence of improper integral.

f) If ( )  = ,0 1,  n = 1, 2, .....
n

n

x
f x x

n
≤ ≤ then prove that ( ){ }

1n n
f x

=
∞  is

converges pointwise to 0.

g) Define uniform convergence of series of real functions.

P.T.O.
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Q2) Attempt any FOUR of the following. [20]

a) Prove that the set of all rational numbers is of measure zero.

b) Consider ( )3( ) , 0 1f x x x= ≤ ≤ and a subdivision 
1 2

0, , ,....,n

n

n n n
σ  = 

 
 of

[0, 1]. Find [ ]lim  U ; nn
f σ

→∞
.

c) If f  is continuous on [a, b] and if  F(x) = ( ) ( ) dt 
x

a

f t a x b≤ ≤ then

prove that F is continuous on [a, b].

d) Consider the function

f (x) = 
1,  is rational in [0, 1];

0,  is irrational in   [0,1].

x

x





Prove that f is not Riemann integrable on [0, 1].

e) Evaluate: 
1 21

lim ... .
n

n n n

n
e e e

n→∞

 + + + 
 

f) Prove that 
2 2

/2

/6

2 2 4
  

9 sin 9

x
dx

x

π

π

π π≤ ≤ .
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Q3) Attempt any FOUR of the following. [20]

a) Show that the integral 
1

20

1
 

1 x−  is absolutely convergent.

b) Prove that the improper integral ( )
b

a

dx

x a
μ− converges if and only if

μ < 1.

c) Examine the convergence of  ( )2

0
log sin  x dx

π



d) By using comparison test prove that ( )21

1

1
dx

x x

∞

+  is convergent.

e) Let ( )22
( )= ,  

1
n x

nx
f x x

n
−∞ < < ∞

+
then prove that f

n
(x) does not

converges uniformly to 0 on (–∞, ∞).

f) Consider the function

              ( ) 1, ;
 = 

0, otherwise.

n x n
xχ

− ≤ ≤



Prove that ( )lim 1.
n

xχ
→∞

=
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Q4) Attempt any TWO of the following. [20]

a) Let { }
1n n

f
=

∞  be a sequence of real valued functions on a set E. Prove that

{ }
1n n

f
=

∞  converges uniformly to a function F on E if and only if given

∈  > 0 there exists a natural number N such that

( ) ( )  m nf x f x− < ∈ , ,  N; E.m n x∀ ≥ ∈

b) Let f  be a bounded function on closed and bounded interval [a, b].

Prove that [ ],f a b∈  if  and only if for each ∈ > 0 there exists a

subdivision σ  of [a, b] such that U[ ; ] L[ ; ] .f fσ σ− <∈

c) Prove that the improper integral 
0

sin x
dx

x

∞

 is convergent. Also show

that 
0

sin x
dx

x

∞

  is divergent.

d) State and prove Weierstrass M-test for uniform convergence of the series

of functions. Hence prove that the series 2 2
1

1

n n x

∞

= + converges uniformly

on [0, ∞].





Total No. of Questions : 3]

[5961]-609
T.Y.B.A.

MARATHI (‘amR>r)
SEC-2D : H$m¶©H«$‘ g§¶moOZmVrb ^m{fH$ H$m¡eë¶o ^mJ - 2

(2019 Pattern) (CBCS) (Semester - VI) (36025)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-3935

à.à.à.à.à.1) Imbrb 2 n¡H$s 1 àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) ‘hm{dÚmb¶mV gmOam hmoUmè¶m ‘amR>r ^mfm n§YadS>m H$m¶©H«$‘mMr {Z‘§ÌUn{ÌH$m V¶ma H$am.

~) ‘hm{dÚmb¶mVrb àmMm¶mªÀ¶m godm{Zd¥Îm{Z{‘Îm ‘mZnÌmMo boIZ H$am.

à.à.à.à.à.2) Imbrb 2 n¡H$s 1 àíZmMo CÎma 200 eãXm§V {bhm. [10]

A) ì¶m»¶mZ‘mboÀ¶m H$m¶©H«$‘mMo g§¶moOZ H$go H$amdo?

~) H${dg§‘obZmÀ¶m Am¶moOZmgmR>r H$moUVr nyd©V¶mar H$amdr, g{dñVa {bhm.

à.à.à.à.à.3) Imbrb 2 n¡H$s 1 àíZmMo CÎma 100 eãXm§V {bhm. [5]

A) Py‘/JwJb {‘Q> darb H$m¶©H«$‘mbm CnpñWV AgUmè¶m§Zr H$moUË¶m AmMmag§{hVoMo nmbZ H$amdo.

~) "Am^mgr H$m¶©H«$‘mMr doi' ¶m KQ>H$mMo ‘hÎd Vw‘À¶m eãXmV {bhm.



[Total No. of Pages : 1

SEAT No. :



Total No. of Questions : 4]

[5961]-610

T.Y.B.A.
CC-1FGG6 : GERMAN GENERAL
(2019 Pattern) (Semester - VI) (36043)

Time : 2½ Hours] [Max. Marks : 70

PA-3923 [Total No. of Pages : 3

SEAT No. :

P.T.O.



2[5961]-610



3[5961]-610


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Total No. of Questions : 3]

[5961]-611

T.Y. B.A.
ARABIC

CC-1F : Classical Poetry & Grammar
 (2019 Pattern) (Semester - VI) (36141)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Attempt All questions.
2) Figures  to the right indicate full marks.

PA-3924 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on any two Eminent Poets in Eng/Urdu/Marathi of the
following : [30]

Q2) Translate and explain following Poem in Eng/Urdu/Marathi : [20]

P.T.O.
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Q3) Define and illustrate any two of the following Grammar : [20]





Total No. of Questions : 4]

[5961]-612
T.Y. B.A.

GEOGRAPHY
DSE -1D GG320(B) : Geography of Rural Development - II

(CBCS 2019 Pattern) (Semester - VI) (36202)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
2) Draw neat diagram and sketches wherever necessary.
4) Use of map stencils is allowed.

PA-3938 [Total No. of Pages : 4

SEAT No. :

Q1) Answers the following questions in about 20 words each. (any eight). [16]

a) Name any Four facilities which come under schooling physical facilities.

b) What is school dropout?

c) Write basic objective of Sarva Shiksha Abhiyan.

d) What is Drought?

e) Write any two supporting agricultural occupation in India.

f) In which state of India cold desert is located?

g) Name any two schemes in Swarna Jayanti Gram Swayamrojgar Yojana.

h) Define ‘Micro Finance’.

i) Who led the ‘Chipco Movement’?

j) Write any four names of Government schemes for rural development.

Q2) Answer the following questions in about 50 Words each. (Any three). [18]

a) Importance of Physical facilities in school.

b) Characteristics of hilly terrain.

c) Stepes for self help Group Formation.

d) Implementation of Employment Guarantee scheme.

P.T.O.
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Q3) Answer the following questions in about 150 Words each. (Any Two). [16]

a) Explain the problems related online education in India.

b) Explain the measures to improve command Area development program.

c) Explain the problems of Rural Development.

Q4) Answer the following questions in about 300 words each (any one). [20]

a) Explain the role of Government in the development of girl’s education in
rural areas.

b) Write a Field study of Hivre bazar village.


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Total No. of Questions : 4]

[5961]-612
T.Y. B.A.

GEOGRAPHY
DSE -1D GG320(B): Geography of Rural Development - II

(CBCS 2019 Pattern) (Semester - VI) (36202)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘wi B§J«Or àíZnÌrH$m nhmdr.

PA-3938

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) emboo¶ ^m¡{VH$ gw{dYm§‘Ü¶o ¶oUmè¶m H$moUË¶mhr Mma gw{dYm§Mr Zmdo {bhm.

~) embo¶ JiVr åhUOo H$m¶?

H$) gd© {ejm A{^¶mZmMo ‘wi CÔoe {bhm.

S>) "Adf©Z' åhUOo H$m¶?

B) ^maVmVrb H$moUVohr XmoZ eoVrnyaH$ ì¶dgm¶ {bhm.

’$) erV dmid§Q> ^maVmV H$moUË¶m amÁ¶mV Amho?

¶) ñdU©O¶§Vr J«m‘ ñd¶§amoOJma ¶moOZo ‘Yrb H$m|UË¶mhr XmoZ ¶moOZm§Mr Zmdo {bhm.

a) "gwú‘ {dÎmnwadR>m' ì¶m»¶m {bhm.

b) "{MnH$mo' Am§XmobZmMo ZoV¥Ëd H$moUr Ho$bo?

d) J«m‘rU {dH$mgmgmR>r emgZmÀ¶m H$moUË¶mhr Mma ¶moOZm§Mr Zmdo gm§Jm.
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) embo¶ ^m¡{VH$ gw{dYm§Mo ‘hÎd

~) S>m|Jar àXoemMr d¡{eï>o

H$) ñd¶§ghmæ¶Vm ~MV JQ>

S>) amoOJma h‘r ¶moOZoMr A§‘bdOmdUr

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 150 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb Am°ZbmB©Z {ejUmÀ¶m g‘ñ¶m ñnï> H$am.

~) bm^joÌ {dH$mg H$m¶©H«$‘ A{YH$ Mm§Jë¶m àH$mao H$aÊ¶mgmR>r Cnm¶¶moOZm ñnï> H$am.

H$) J«m‘rU {dH$mgmÀ¶m g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$ 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]

A) ‘wbtÀ¶m J«m‘rU ^mJmVrb {ejUmÀ¶m {dH$mgmVrb emgUmMr ŷ‘rH$m ñnï> H$am.

~) {hdao ~mOma JmdmMm joÌmä¶mg {bhm.





Total No. of Questions : 2]

[5961]-616
T.Y. B.A. (Philosophy)

SEC-2D : COURSE ON YOGA AND VIPASSANA : WAY OF GOOD LIFE
(CBCS 2019 Pattern) (Semester - VI) (Additional Credit Course) (36425)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.

PA-3942 [Total No. of Pages : 2

SEAT No. :

Q1) Write a short note on any three of the following in 50 words each. [15]

a) Meaning of Yoga

b) Bhakti yoga

c) Buddha’s concept of ‘Samyak vacca’

d) Health and Yoga

e) Vipassana

Q2) Answer the following question in 200 words. (Any one) [10]

a) Explain the terms’ Jnyana yoga’ and ‘Bhakti yoga’ in Bhagavadgita.

b) How can one improve his/her vipassana, explain.



P.T.O.
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Total No. of Questions : 2]

[5961]-616
T.Y. B.A. (Philosophy)

SEC-2D : COURSE ON YOGA AND VIPASSANA : WAY OF GOOD LIFE
(CBCS 2019 Pattern) (Semester - VI) (Additional Credit Course) (36425)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3942

à.à.à.à.à.1) Imbrbn¡H$r H$moUË¶mhr VrZda 500 eãXmV Q>rnm {bhm. [15]

A) ¶moJ g§H$ënZoMm AW©

~) ^º$s¶moJ

H$) ~wÕmMr g§H$ënZm "gå¶H$ dmH²$'

S>) Amamo½¶ Am{U ¶moJ

B) {dní¶Zm

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV CÎmao {bhm. [10]

A) ^JdÒrVoVrb kmZ ¶moJ Am{U ^º$s ¶moJ ñnï> H$am.

~) EImXr ì¶º$s Ë¶mMr/{VMr {dní¶Zm H$er gwYmê$ eH$Vo, ñnï> H$am.





Total No. of Questions : 4]

[5961]-617
T.Y. B.A.

G-3 : PUBLIC ADMINISTRATION
CC-1F : Local Self Government in India
(2019 Pattern) (Semester - VI) (36446)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3943 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words) [16]

a) Who suggested two tier system of panchayat Raj.

b) In which year the Mumbai Gram Panchayat Act . Came in to existence.

c) Who is the president of the Gram Sabha.

d) Write two powers and functions of chairman of Panchayat Samiti.

e) What are the sources of income of Zilla Parishad.

f) What are the three tiers of the three tier system of Panchayat Raj.

g) In which year the 73rd constitutional amendment was made.

h) How many members are there in Zilla Parishad.

i) Which state was the first to adopt Panchayat Raj in India.

j) In which year the Zilla Parishad and Panchayat Samiti Act came into
existence.

P.T.O.
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Q2) Attempt any four questions (50 words) [16]

a) Democratic Decentralization.

b) Sources of income of Panchayat Samiti.

c) State Election Commission.

d) Duties of Gram Sevak

e) Reservation in Panchayat Raj.

f) Block Development Officer.

Q3) Attempt any three questions (100 words) [18]

a) Explain the contribution of Panchayat Raj institutions in rural development.

b) Explain the process of democratization in Panchayat Raj.

c) Write the features of 74th constitutional amendment.

d) Explain the control of the state Government over the Panchayat Raj
institution.

Q4) Attempt any two questions (500 words) [20]

a) Explain the powers and functions of District Collectors.

b) Highlight the problems in rural local boides.

c) Write the powers and funcions of Panchayat Samiti.


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Total No. of Questions : 4]

[5961]-617
T.Y. B.A.

G-3 : PUBLIC ADMINISTRATION
CC-1F : Local Self Government in India
(2019 Pattern) (Semester - VI) (36446)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3943

à.à.à.à.à.1) Imbrbn¡H$r H$moUVohr AmR> àíZ gmoS>dm. (20 eãXm§V) [16]

A) n§Mm¶V amOMr {ÛñVar¶ aMZm H$moUr gyM{dbr?

~) ‘§w~B© J«m‘n§Mm¶V A{Y{Z¶‘ H$moUË¶m dfu ApñVËdmV Ambm?

H$) J«m‘g ôMo AÜ¶j H$moU AgVmV?

S>) n§Mm¶V g{‘VrÀ¶m g^mnVrMo XmoZ A{YH$ma d H$m¶} {bhm.

B) {Oëhm n[afXoÀ¶m CËnÞmMr gmYZo H$moUVr?

’$) n§Mm¶V amOÀ¶m {ÌñVar¶ aMZoMo VrZ ñVa H$moUVo?

¶) 73 dr KQ>ZmXþê$ñVr H$moUË¶m dfu H$aÊ¶mV Ambr?

a) {Oëhm n[afXoV {H$Vr g^mgX AgVmV?

b) ^maVmV n§Mm¶V amOMm pñdH$ma H$aUmao n{hbo amÁ¶ H$moUVo?

d) {Oëhm n[afX d n§Mm¶V g{‘Vr A{Y{Z¶‘ H$moUË¶m dfu ApñVËdmV Ambm?
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à.à.à.à.à.2) H$moUVohr Mma àíZ gmoS>dm. (50 eãXm§V) [16]

A) bmoH$emhr {dH|$ÐrH$aU

~) n§Mm¶V g{‘VrMr CËnÞmMr gmYZo

H$) amÁ¶ {Zdm©MZ Am¶moJ

S>) J«m‘godH$mMr H$m‘o

B) n§Mm¶V amO‘Yrb AmajU

’$) JQ> {dH$mg A{YH$mar

à.à.à.à.à.3) H$moUVohr VrZ àíZ gmoS>dm. (100 eãXm§V) [18]

A) J«m‘rU {dH$mgmV n§Mm¶V amO g§ñWmMo ¶moJXmZ ñnï> H$am.

~) n§Mm¶V amO ‘Yrb bmoH$emhrH$aUmMr à{H«$¶m {dfX H$am.

H$) 74 ì¶m KQ>ZmXþê$ñVrMr d¡{eï>²¶o {bhm.

S>) n§Mm¶V amO g§ñWodarb amÁ¶ gaH$maMo {Z¶§ÌU ñnï> H$am.

à.à.à.à.à.4) H$moUVohr XmoZ àíZ gmoS>dm. (500 eãXm§V) [20]

A) {Oëhm{YH$mè¶m§Mo A{YH$ma d H$m¶©o ñnï> H$am.

~) J«m‘rU ñWm{ZH$ ñdamÁ¶ g§ñWm‘Yrb g‘ñ¶m AYmoao{IV H$am.

H$) n§Mm¶V g{‘VrMo A{YH$ma d H$m¶} {bhm.





Total No. of Questions : 5]

[5961]-619
T.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE-1D : LAGHUSIDDHANTA KAUMUDI, HISTORY OF

VEDIC LITERATURE
bKw {gÕmÝV H$m¡‘wXr, hëgpÝY, {dgJ©gpÝY, {d^³Ë¶Wm© d¡{XH$ dmL²>‘¶mMm

B{Vhmg, g§ñH¥$V {Z~§YboIZ
(2019 Credit Pattern) (Semester - VI) (36111)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3945

à.à.à.à.à.1) A) Explain any two of the following : [10]
nwT>rbn¡H$s H$moUË¶mhr Xmohm|Mo ñnï>rH$aU H$am :

i) ^mo-^Jmo-AKmo-Anyd©ñ¶ ¶mo@{e&

ii) IadgmZ¶mo{d©gO©Zr¶:&

iii) gmYH$V‘§ H$aU‘²&

B) Explain any two terms of the following : [5]

nwT>rbn¡H$s H$moUË¶mhr XmoZ g§km ñnï> H$am :

i) H$Vm©

ii) gåàXmZ‘²

iii) AnmXmZ‘²

à.à.à.à.à.2) A) Split any two of the following by quoting relevant rule : [10]

nwT>rbn¡H$s H$moUË¶mhr Mmam§Mm g§~§{YV gyÌo d dm{V©Ho$ CX²Y¥V H$ê$Z g§{Y{dJ«h H$am :

i) {edmo dÝX¶:

ii) V„¶:

iii) Ahah:

iv) CËWmZ‘²

v) ‘ZmoaW:
vi) ^mo Xodm:

[Total No. of Pages : 2

SEAT No. :

P.T.O.
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B) Match of the following. (Any Five) : [5]
¶mo½¶ OmoS²>¶m Owidm. (H$moUË¶mhr nmM)
i) Pbm§ A) e[a
ii) Vmo: Am) gd}fm‘²
iii) AmXo: B) M
iv) nw‘: B©) Iæ¶ånao
v) h{e C) nañ¶
vi) h{b D$) {f
vii) dm F$) Oemo@ÝVo

à.à.à.à.à.3) Write an essay on "Amaì¶H$'. [15]
"Amaì¶H$' ¶m {df¶mda {Z~§Y {bhm.

OR/qH$dm
Explain the nature of "Amaì¶H$ J«§W'.
Amaì¶H$J«§Wm§Mo ñdê$n ñnï> H$am.

à.à.à.à.à.4) A) Write crifical notes on any two. [10]
H$moUË¶mhr Xmohm|da {ddoMH$ Q>rnm {bhm.
i) àíZmon{ZfX²
ii) H$ëngyÌm{U
iii) {Zê$³V‘²

B) Match the pairs. (Any five) [5]
¶mo½¶ OmoS>çm Owidm. (H$moUË¶mhr nmM)
i) Á¶mo{Vf‘² A) gyÌ‘²
ii) {Zê$º$‘² Am) K«mU‘²
iii) N>ÝX… B) ‘wI‘²
iv) H$ën… B©) hñVm¡
v) ì¶mH$aU‘² C) nmXm¡
vi) {ejm D$) lmoÌ‘²
vii) Aënmja‘² F$) Mjw…

à.à.à.à.à.5) Write an essay in sanskrit (any one) [10]
Imbrbn¡H$s H$moUË¶mhr EH$mda g§ñH¥$VmV {Z~§Y {bhm.
1) ì¶m¶m‘ñ¶ ‘hÎd‘²&
2) {dX²¶m Jwê$Um§ Jwê$…&
3) g§ñH¥$V^mfm&





Total No. of Questions : 4]

[5961]-620
T.Y. B.A.

ECONOMICS
DSE-2D : Public Finance - II (Special Paper - IV)

(2019 Pattern) (Semester - VI) (36152)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Answers should be precise and to the point.
4) Draw neat diagram wherever neccessary.

PA-3946 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questons in 20 words. [16]

a) Define fiscal policy.

b) What is full form of GDP.

c) What is deficit budget?

d) Who introduced the new direct tax code?

e) Define developing country.

f) What is period of finance commission?

g) Who was the chairman of the first finance commission?

h) What is supplementary budget?

i) What is the period of financial year in India.

j) Define balanced budget.

P.T.O.
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Q2) Answer the folloiwng questions in 50 words. (any four) [16]

a) State the objectives of Fiscal policy.

b) State the adverse effects of deficit financing.

c) Explain the concept of capital budgeting.

d) Write a note on finance commission.

e) Write a note on Gender budgeting.

f) Evaluate the centre-state economic relationship in India.

Q3) Answer the following questions in 100 words. (Any three) [18]

a) State the objectives of Fiscal policy in developing countries.

b) Explain the concept of zero based budgeting in detail.

c) Explain the favorable implications of deficit financing.

d) How is public Expenditure used as on instrument of Fiscal policy.

Q4) Answer the following questions in 200 words. (Any Two) [20]

a) What is Budget? Explain the various types.

b) State the main recommendations of 15th finance commission.

c) State the role of deficit financing in a developing country.





3[5961]-620

Total No. of Questions : 4]

[5961]-620
T.Y. B.A.

ECONOMICS
DSE-2D : Public Finance - II (Special Paper - IV)

(2019 Pattern) (Semester - VI) (36152)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) CÎmao Zo‘H$s d ‘wÔogwX AgmdrV.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3946

à.à.à.à.à.1) nwT>rb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) amO{dÎmr¶ YmoaUmMr ì¶m»¶m {bhm.

~) Or.S>r.nr. Mo nyU© ê$n gm§Jm.

H$) VwQ>rMm A§XmOnÌH$ åhUOo H$m¶?

S>) ZdrZ àË¶j H$ag§{hVm H$moUr ‘m§S>br?

B) {dH$gZerb XoemMr ì¶m»¶m gm§Jm.

’$) {dÎm Am¶moJmÀ¶m H$mbmdYr {H$Vr dfm©Mm AgVmo?

¶) n{hë¶m {dÎm Am¶moJmMo AÜ¶j H$moU hmoVo?

a) nyaH$ A§XmOnÌH$ åhUOo H$m¶?

b) ^maVmV Am{W©H$ dfm©Mm H$mbI§S> H$moUVm Amho?

d) g‘Vmob A§XmOnÌH$mMr ì¶m»¶m gm§Jm.
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à.à.à.à.à.2) nwT>rb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) amOH$mofr¶ YmoaUmMr C{Ôï>¶o gm§Jm.

~) VwQ>rÀ¶m AW©̂ aÊ¶mMo à{VHy$b n[aUm‘ gm§Jm.

H$) ^m§S>dbr A§XmOnÌH$mMr g§H$ënZm ñnï> H$am.

S>) {dÎm Am¶moJ ¶mda Q>rn {bhm.

B) qbJmYm[aV A§XmOnÌH$ ¶mda Q>rn {bhm.

’$) ^maVmVrb H|$Ð-amÁ¶ Am{W©H$ g§~§YmMo n[ajU H$am.

à.à.à.à.à.3) nwT>rb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) {dH$gZerb Xoem§‘Yrb amOH$mofr¶ YmoaUmMr C{Ôï>²¶o gm§Jm.

~) eyÝ¶mYm[aV A§XmOnÌH$mMr g§H$ënZm g{dñVa ñnï> H$am.

H$) VwQ>rÀ¶m AW©̂ aÊ¶mMo AZwHy$b n[aUm‘ ñnï> H$am.

S>) amOH$mofr¶ YmoaUmMo gmYZ åhUyZ gmd©O{ZH$ IMm©Mm H$gm Cn¶moJ Ho$bm OmVmo?

à.à.à.à.à.4) nwT>rb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) A§XmOnÌH$ åhUOo H$m¶? A§XmOnÌH$mMo {d{dY àH$ma ñnï> H$am.

~) 15 ì¶m {dÎm Am¶moJmÀ¶m à‘wI {e’$maer ñnï> H$am.

H$) {dH$gZerb XoemV VwQ>rÀ¶m AW©̂ aÊ¶mMr ŷ{‘H$m ñnï> H$am.





Q1) Select the correct option and rewrite the statement. [5]
i) In order to protect the rights of the bound persons as per section

_________ the High Court has the right to make various writs.
a) Section 226 b) Section 32
c) Section 143 d) Section 126

ii) National commission for protection of Child Rights was established in
___________
a) 2001 b) 2002
c) 2005 d) 2007

iii) Mahatma Gandhi was the first to use concept of Sarvodaya in _______
a) 1906 b) 1907
c) 1908 d) 1909

iv) The Government of India Passed the Human rights act in ________
a) 1990 b) 1991
c) 1992 d) 1993

v) Since ;the supreme court is the apex court of the country, it is located at
this place _______
a) Gujarat b) New Delhi
c) Maharashtra d) Kerala

Total No. of Questions : 3]

[Total No. of Pages : 4

[5961]-622
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
Skill Enhancement Course (SEC)

Value/Skill Based Course
Human Rights and India

(2019 Pattern) (Semester - VI) (36274)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3948
SEAT No. :

P.T.O.
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Q2) Answer the following questions in 100 words each (any three) [12]
i) Write note on Indian supreme court.

ii) What is fundamental rights?

iii) Explain the Maharashtra state womens commission.

iv) Describe the National Human Rights commission.

v) Explain the National Human Rights Act - 1993.

Q3) Answer the following questions in 200 words each (any one) [8]
i) Explain in detail the National commission for scheduled castes and

scheduled Tribe.

ii) Explain in detail the charter of Indian Rights.





Total No. of Questions : 3]

[5961]-622
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
Skill Enhancement Course (SEC)

Value/Skill Based Course
Human Rights and India

(2019 Pattern) (Semester - VI) (36274)
(_amR>r ê$nm§Va)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ  gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

àíZ 1) ¶mo½¶ n¶m©¶ {ZdSy>Z {dYmZo nwÝhm {bhm. [5]
i) H$b‘ ........... Zwgma ~§{YV bmoH$m§À¶m A{YH$mamMo g§ajU H$aÊ¶mgmR>r Cƒ Ý¶m¶mb¶mÀ¶m

{d{dY [aQ> (àm{YboI) Omar H$aÊ¶mMm A{YH$ma Amho.
A) H$b‘ 226 ~) H$b‘ 32
H$) H$b‘ 143 S>) H$b‘ 126

ii) am{ï´>¶ ~mbA{YH$ma g§ajU Am¶moJmMr ñWmnZm ............. ‘Ü¶o H$aÊ¶mV Ambr Amho.
A) 2001 ~) 2002
H$) 2005 S>) 2007

iii) ‘hmË‘m Jm§YrOtZr ............ ‘Ü¶o gdm}X¶ hr g§H$ënZm dmnabr.
A) 1906 ~) 1907
H$) 1908 S>) 1909

iv) ^maV gaH$maZo ............ ‘Ü¶o ‘mZdm{YH$ma A{Y{Z¶‘ nm[aV Ho$bm.
A) 1990 ~) 1991
H$) 1992 S>) 1993

v) gdm©oƒ Ý¶m¶mb¶ ho XoemMo erf©ñW Ý¶m¶mb¶ Agë¶m‘wio ............ ¶m {R>H$mUr pñWV
Amho.
A) JwOamV ~) Zdr {X„r
H$) ‘hmamï´> S>) Ho$ai

3

PA-3948

P.T.O.
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àíZ 2) Imbrb àíZm§Mr CÎmao 100 eãXm§V {bhm. (H$moUVohr VrZ) [12]
i) "^maVr¶ gdm}ƒ Ý¶m¶mb¶' ¶mda {Q>nU {bhm.
ii) ‘yb ŷV h³H$ A{YH$ma åhUOo H$m¶?
iii) ‘hmamï´> amÁ¶ ‘{hbm Am¶moJ ñnï> H$am.
iv) amï´>r¶ ‘mZdm{YH$ma Am¶moJ {deX H$am.
v) amï´>r¶ ‘mZdm{YH$ma A{Y{Z¶‘ 1993 ñnï> H$am.

àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr EH$) [8]
i) AZwgy{MV OmVr d AZwgy{MV O‘mVr amï´>r¶ Am¶moJ g{dñVa ñnï> H$am.

ii) ^maVr¶ A{YH$mam§Mr gZX g{dñVa ñnï> H$am.

.





Q1) Answer the following questions in about 50-60 words each. (Any Two)[10]
i) Explain T.S. Eliot's theory of impersonality in literature.

ii) "Poetry is not a turning loose of emotion but an escape from emotion
it is not the expression of personality, but an escape from personality".
Discuss with reference to Eliot's theory of impersonality.

iii) What are the seven types of ambiguity, according to William Empson?

iv) How does Empson differentiate between ambiguity of metaphor and
that of simile?

Q2) Answer the following questions in about 50-60 words each. (Any Two)[10]

i) Explicate George Lukacs concept of realism.

ii) Discuss George Lukacs as a marxist critic.

iii) Explain sigmund Freud's structure of human mind.

iv) Explain Freud's concept of unconscious mind.

Q3) Answer the following questions in about 150 words each. (Any Two)[20]
i) Discuss Allen Tate's concept of Tension.

ii) "The language of poetry is the language of paradox". Discuss.

iii) What is 'Intentional Fallacy', according to Wimsatt and Beardsley?

iv) Explain the salient features of New criticism.

Total No. of Questions : 5]

[Total No. of Pages : 3
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T.Y. B.A.
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Q4) Explain the following literary and critical terms (Any Five) : [20]

i) Catharsis

ii) Allegory

iii) Diction

iv) Point of view

v) Motif and theme

vi) Genre

vii) Metaphor

Q5) Read the following poem/passage and answer the questions that follow
(Any one) : [10]

i) Some say the world will end in fire,

Some say in ice.

From what I’ve tasted of desire

I hold with those who favor fire.

But if it had to perish twice,

I think I know enough of hate

To say that for destruction ice

Is also great

And would suffice.

Questions :

a) What is the theme of the poem?

b) How does poet use opposite words in the poem?

c) Comment on the use of repetition as a literary device.

d) State the rhyme scheme of the poem.

e) Suggest a suitable title to the poem.

OR
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ii) It was December - a bright frozen day in the early morning. Far out in
the country, there was an old Negro woman with her head tied in a red
rag, coming along a path through the pinewoods. Her name was
Phoenix Jackson. She was very old and small and she walked slowly
in the dark pine shadows, moving a little from side to side in her steps,
with the balanced heaviness and lightness of a pendulum in a
grandfather clock. She carried a thin, small cane made from an umbrella,
and with this she kept tapping the frozen earth in front of her. This
made a grave and persistent noise in the still air that seemed meditative,
like the chirping of a solitary bird.

Questions :

a) What picture of a lady to you get after reading the passage?

b) How does writer juxtapose solitary bird with an old woman?

c) What role do the images perform in the passage?

d) Comment on the use of simile and metaphor in the passage.

e) What is the setting of the passage?





Q1) Attempt any FIVE of the following : [10]

a) Eliminate the arbitrary function f from the equation z = y + f(xy).

b) Find the complementary function of the equation (D – D')z = 0.

c) Solve : 2xdx + 3ydy + 4z2dz = 0.

d) Eliminate the arbitrary constants a and b from the equation
z = ax2 + by.

e) Define Pfaffian differential equation.

f) Find a particular integral of the equation (D2 – D')z = e2x.

g) If G = x + y + 2z and F = 2x2 + y, then find 
( )
( )
F,G

.
,x y

¶
¶

Q2) Attempt any four of the following : [20]

a) Verify that the differential equation yzdx + 2xzdy – 3xydz = 0 is
integrable.

b) Solve y(1 + z2)dx – x(1 + z2)dy + (x2 + y2)dz = 0.

c) Prove that a Pfaffian differential equation in two variable always
possesses an integrating factor.

Total No. of Questions : 4]

[Total No. of Pages : 3
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d) Explain a method to solve Pp + Qq = R.

e) Find integral curves of the equations .dx dy dz
x y z
= =

f) Find the direction ratios of a normal to the surface z = x + y at a point
P(1, 2, 3).

Q3) Attempt any Four of the following : [20]

a) Find the complementary function of (D3 – 3D2D' + 2DD'2)z = 0.

b) If z = f(x + ay) + g(x – ay), then show that t = a2r, where f, g are
arbitrary functions and a is a constant.

c) If u1, u2 ....... u
n
 are solutions of the homogeneous linear differential

equation F(D, D')z = 0, then 
1

,
n

r r
r

c u
=
å  where cr are arbitrary constant, is

also solution.

d) If rD + rD' + r is a factor of F(D, D') and r() is an arbitrary
function of the single variable , then show that

u
r
 = exp ( )r

r r r
r

x x yg
f b a

a

æ ö- ÷ç ÷ -ç ÷ç ÷çè ø
 if a

r
  0 is a solution of the equation

F(D, D')z = 0.

e) Find a particular integral of the equation

(D2 – DD' + 2D'2)z = 20(y – x).

f) Solve (D3 – 4D2D' + 4DD'2)z = 0.

Q4) Attempt any TWO of the following : [20]

a) Prove that a necessary and sufficient condition that there exists between
two functions u(x, y) and v(x, y) a relation f(u, v) = 0, not involving

x or y explicitly is that 
( )
( )
,

0.
,

u v
x y

¶
=

¶
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b) Solve the equation (1 + yz)dx + z(z – x)dy – (1 + xy)dz = 0 by Natani's
method.

c) Classify and to canonical form 
2 2 2

2 22 0.z z z
x x y y

¶ ¶ ¶
+ + =

¶ ¶ ¶ ¶

d) Solve u
tt
 – c2u

xx
 = 0 by separation of variable method.





Q1) Answer any three questions in 100 words. [15]

a) What is a simple proposition?

b) Tell the criteria of verification.

c) Explain Socrates's influence on Plato.

d) Discuss dialectical method of Socrates.

e) Explain concept of appearance given by Russell.

f) What is perceptual knowledge?

Q2) Answer any three questions in 100 words. [15]

a) Briefly tell Russell's problem of a-priori knowledge.

b) What is a necessary proposition?

c) Discuss feature of 'Class division' as one of the features of Plato's Ideal
State.

d) Discuss in brief Plato's radical thoughts on justice.

e) Tell in brief concept of practical verification.

f) Explain Russell's notion of Probability.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Write short notes on any two of the following in 200 words. [20]

a) Ethics: A.J. Ayer.

b) Critique of Plato's concept of ideal state.

c) Problem of Induction: Russell.

Q4) Answer any one question in 400 words. [20]

a) Write in detail Wittgenstein's Picture theory.

b) Explain Russell's presentation of problems in philosophy.

c) Discuss in detail Plato's metaphor of cave.





Total No. of Questions: 4]

[5961]-625
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2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-3951

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr 100 eãXmV CÎmao {bhm. [15]

A) gmYo {dYmZ åhUOo H$m`?

~) à{MVrj_VoMo {ZH$f gm§Jm.

H$) ßboQ>modarb gm°H«o${Q>gMm à^md gm§Jm.

S>) gm°Ho«${Q>gMr Û§ÛmË_H$ nÕVr {deX H$am.

B) agobmbm AZwgê$Z Am^mg åhUOo H$m` Vo gm§Jm.

\$) g§doXZmË_H$ kmZ åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr 100 eãXmV CÎmao {bhm. [15]

A) agobÀ`m AZŵ dnyd© kmZmMr g_ñ`m WmoS>Š`mV {bhm.

~) A{Zdm ©̀ {dYmZ åhUOo H$m`?

H$) ßboQ>moÀ`m AmXe© amÁ`mÀ`m d¡{eï²>`mn¡H$s "dJ© {d^mOZ' d¡{eï²>`mMr _m{hVr Úm.

S>) ßboQ>moMm Ý`m`{df`H$ _ybJm_r {dMma WmoS>Š`mV gm§Jm.

B) ì`mdhm[aH$ à{MVrj_VoMr g§H$ënZm WmoS>Š`mV gm§Jm.

\$) agobMr g§̂ mì`Vm g§H$ënZm ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr Xmohm|da 200 eãXmV {Q>nm {bhm. [20]

A) Zr{Vemó…E Oo E`a

~) ßboQ>moÀ`m AmXe© amÁ` g§H$ënZoMr {M{H$Ëgm

H$) {dJ_Z g_ñ`m… agob

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo 400 eãXmV CÎma {bhm. [20]

A) {dQ>JoÝñQ>mBZmMr {MÌ CnnÎmr g{dñVa {bhm.

~) agobbm ôS>gmdUmè`m VÎdkmZmVrb g_ñ`m§Mo ñnï>rH$aU Úm.

H$) ßboQ>moÀ`m JwhoÀ`m ê$nH$mMo g{dñVa {ddoMZ H$am.


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Total No. of Questions : 5

[Time : 2:30 HoursTotal Marks : 70]

   

 (1

 (2

 :1 




 2 




 3 


 




[10]

SEAT No.

Total No. of Pages : 2

[15]

[10]




 4 




 5 





 (1    

 (2       

  (3

  (4

  (5

  (6

  (7

 .5 
 (1

 (2        

 (3      



[15]
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àíZ àíZ àíZ àíZ àíZ 1) nmíd©ñWo ñd_hm{dX²`mb`o Am`moÁ`_mZmgw H«$sS>mà{V`mo{JVmgw YmdZ-à{VñnYm©`m§ ^mJ§ J«hrVw§
àYmZmMm`m©̀  àmW©ZmnÌ§ {bIVw & [7]

àíZ àíZ àíZ àíZ àíZ 2) H$ñ`m{n EH$ñ` H$m ©̀H«$_ñ` gyÌg§MmbZg§{hVm ñdeãX¡… {bIVw & [7]

àíZ àíZ àíZ àíZ àíZ 3) _ÄOyfmV… Aì``nXm{Z {MËdm [aº$ñWmZm{Z nya`V & [6]
(M, Bd, n[aV…, Ibw, nwaV…, {dZm)

1) {dX²`mb`ñ` .............. EH$_² CX²`mZ_² ApñV &
2) qH$ ^dmZ² ñZmZ§ H¥$VdmZ² ................?
3) J«m_§ .............. d¥jm… gpÝV &

4) ~H$… h§g… .................. ídoV… ^d{V &
5) ~mbH$m… ~m{bH$m… ............... H«$sS>mjoÌo H«$sS>pÝV &
6) {dX²`m§ ............... OrdZ§ d¥Wm &

àíZ àíZ àíZ àíZ àíZ 4) dmŠ §̀ ewÕ§ H¥$Ëdm {bIV & [5]
1) EH$pñ_Z² {XZ§ eL²>H$a… ñZmZmWª nyUm©ZXt JV… &

2) `Xm g… ñZmZo _¾… VXm VÌ EH$… ZH«$… AmJVm… &
3) ^`mHw$bm gm A{n eoXZ… Ama^V &
4) X¡ddeo eL²>H$a… ZH«$mX² _wº$… &

5) g ZXrVra_² AmJË` _mVw… MaUm… àmU_V² &



Total No. of Questions : 4]

[Total No. of Pages : 1
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Q1) Answer the following questions in 300 words. (any one) [15]
a) Discuss about the Ancient Heritage sites at Bhimbetaka and Badami.

OR
b) Explain the importance of ‘Preservation’ in Cultural Resource

Management.

Q2) Answer the following questions in 300 words. (any one) [15]
a) Describe the types of Museum.

OR
b) Write the nature and scope of Heritage Tourism.

Q3) Answer the following questions in 200 words. (any two) [20]
a) Explain importance of Sanchi as Heritage site.
b) State the importance of ‘Documentation’ in cultural Resource

Management.
c) Write about Chhatrapati Shivaji Maharaj Vastu Sangrahalaya.
d) Discuss the importance of ‘Bori’ as Ancient Site.

Q4) Short notes. (any four) [20]
a) Sun Temple at Konark.
b) Cultural Resource
c) Meed of Museum
d) Deccan College Museum
e) Importance of Heritage Tourism
f) Caves at Karle


P.T.O.
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Total No. of Questions : 4]

[5961]-628
T.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
CC -1F : Ancient Heritage and Heritage Management

(2019 New Pattern) (Semester - VI) (General Paper - III) (36183)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3926

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXm§V CÎma Úm. (H$moUVmhr EH$) [15]
A) ^r‘~oQ>H$m Am{U gm§Mr ¶oWrb àmMrZ dmagm ñWim§{df¶r MMm© H$am.

qH$dm
~) gm§ñH¥${VH$ g§gmYZ ì¶dñWmnZmV "OVZmMo' ‘hÎd {deX H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXm§V CÎma Úm. (H$moUVmhr EH$) [15]
A) g§J«hmb¶ ¶mMo àH$ma dU©Z H$am.

qH$dm
~) dmagm n¶©Q>ZmMr ñdê$n Am{U ì¶már {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mo 200 eãXm§V CÎma Úm. (H$moUVohr XmoZ) [20]
A) dmagm ñWi åhUyZ gm§MrMo ‘hÎd ñnï> H$am.
~) gm§ñH¥${VH$ g§gmYZ ì¶dñWmnZmV "XñVEdOrH$aU' ¶mMo ‘hÎd gm§Jm.
H$) N>ÌnVr {edmOr ‘hmamO dñVy g§J«hmb¶m {df¶r {bhm.
S>) àmMrZ ñWi åhUyZ "~moar' ¶mMo ‘hÎdmMr MMm© H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]
A) H$moUmH©$Mo gy¶©‘§{Xa
~) gm§ñH¥${VH$ g§gmYZo
H$) g§J«hmb¶m§Mr Amdí¶H$Vm
S>) S>o̧ $Z H$m°boO g§J«hmb¶
B) dmagm n¶©Q>ZmMo ‘hÎd
’$) H$mb} ¶oWrb boUr





Total No. of Questions : 3]
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Q1) Write the answers of the following questions in 20 words (any 5) [10]
a) Give any two methods of research data collection.
b) Write any two characteristics of best questionnaire.
c) Write the sources of unpublished data.
d) Write any two types of research reports.
e) What is thesis?
f) State two fundamental things of research structure.
g) What is the purpose of using graphs/maps in research report.

Q2) Write short notes in 100 words (Any two) [8]
a) Government data sources.
b) Secondary data.
c) Structure of the thesis.

Q3) Write the answer in 150 words (Any one) [7]
a) Write in detail on methods of data collection in research.
b) What is research structure? Explain the characteristics and elements of

structure.



SEAT No. :

P.T.O.
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(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) ZH$mem ñQ>opÝgëg dmnaÊ¶mg nadmUJr Amho.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nmhmdr.

àíZ 1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (H$moUVohr 5) [10]
A) g§emoYZ ‘mhrVr g§H$bZmÀ¶m à‘wI XmoZ nÕVr {bhm.
~) CÎm‘ àíZmdbrMr XmoZ d¡{eï>¶o {bhm.
H$) AàH$merV ‘mhrVr òmoV gm§Jm.
S>) g§emoYZ AhdmbmMo H$moUVohr XmoZ àH$ma gm§Jm.
B) à~§Y åhUOo H$m¶?
’$) g§emoYZ AmamIS>¶mVrb XmoZ ‘wb ŷV Jmoï>r gm§Jm.
¶) g§emoYZ AhdmbmV AmboI/ZH$meo H$emgmR>r dmnaVmV.

àíZ 2) àË¶oH$s gw‘mao 100 eãXm§V {Q>nm {bhm. (H$moUVohr 2) [8]
A) emgH$s¶ ‘mhrVrMo òmoV.
~) Xwæ¶‘ gm‘J«r.
H$) à~§YmMr aMZm.

àíZ 3) Imbrb àíZm§Mr 150 eãXm§V CÎmao {bhm. (H$moUVmhr 1) [7]
A) g§emoYZ ‘mhrVr g§H$ënZmÀ¶m nÕVtda g{dñVa {bhm.
~) g§emoYZ AmamIS>m åhUOo H$m¶? g§emoYZ AmamIS>¶mMr d¡{eï>¶o d VËdo {bhm.



PA-3931
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Q1) A) Fill in the blanks by selecting proper words from brackets. [7]

i) Management is ____________.

(an art, a science, both art and science, neither)

ii) Henry Fayol was a _____________.

(Social scientists, Mining engineer, Accountant, Production engineer)

iii) Management is need at ________________.

(Top level, Middle level, Lower level, All level)

iv) Planning involves ________________.

(review of past performance, analysis of policies future course of action)

v) Organising is _________________.

(A remedy for all types of problems, ensure accurate forcasting,
None of these, All of these)

vi) Management is a _____________________.

(Profession, Principles, Performance, None of these

vii) Control is the function of _________________.

(Top level management, Lower level management, All Managers,
None of these)

P.T.O.
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B) State the following statement are True or False: [7]
i) Standing plans are prepared to solve issues related to the day today

functioning of the organisation.
ii) Lower level management usually deals with deciding policies.
iii) Contingency plans are used when a company faces an anticipated

present risk.
iv) Directing decision create a long term impact on the efficiency of

organisation.
v) Selection is the only way of filing organisational job vacancies

internally.
vi) Supervision, Leadership, Motivation and Communication are the

elements of directing.
vii) Organization is not the work of management.

Q2) Answer in one or two sentences: [14]
a) Define Management.
b) State any two objectives of management.
c) Define the planning.
d) What are the  three levels of management?
e) State any two advantages of planning.
f) What is organising?
g) Define Recruitment.

Q3) a) Define management explain the scope of management. [14]
OR

b) Define Decision making. Explain the steps involved in Decision making.

Q4) Write short notes on (Any two): [14]
a) Advantages of planning.
b) Motivation.
c) Function of leader.
d) Neture of Direction.

Q5) a) What do you mean by staffing. Explain the need and importance of
staffing. [14]

OR
b) Define Direction. Explain the importance of Direction.


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3933

à.à.à.à.à.1) A) Imbrb [aH$må¶m OmJm ^am. [7]

i) ì¶dñWmnZ åhUOo ...............

({Z¶moOZ, H$‘©Mmar dJ©, ghH$m¶©, {Z¶§ÌU)

ii) hoZar ’o$¶mob .............. hmoVo.

(gm‘m{OH$ emñÌk, ImU A{^¶§Vm, boImnmb, CËnmXZ A{^¶§Vm)

iii) ì¶dñWmnZmMr ........... JaO Amho.

(Cƒ nmVir, ‘Ü¶‘ nmVir, ImbMr nmVir, gd©ñVa)

iv) ßb°qZJ‘Ü¶o/{Z¶moOZm‘Ü¶o .............. g‘m{dï> Amho.

(^{dî¶mVrb H¥$Vr, ‘mJrb H$m‘mMm AmT>mdm, YmoaUmMo {díbofU, gd©)

v) g§KQ>Z .............. Amho.

(gd© àH$maÀ¶m g‘ñ¶mda Cnm¶, AMyH$ A§XmO, ¶mn¡H$s Zmhr, ho gd©)

vi) ì¶dñWmnZ åhUOo .............

(ì¶dgm¶, VËdo, H$m‘{Jar, ¶mn¡H$s Zmhr)

vii) {Z¶§ÌU ho ............. H$m¶© Amho.

(CƒñVar¶ ì¶dñWmnZ, {ZƒñVar¶ ì¶dñWmnZ, gd© ì¶dñWmnZ, darbn¡H$s H$moUVohr Zmhr)
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~) Imbrb àíZ MwH$ qH$dm ~amo~a Vo gm§Jm. [7]
i) g§ñWoÀ¶m X¡Z§{XZ H$m‘H$mOmer g§~§{YV g‘ñ¶m§Mo {ZamH$aU H$aÊ¶mgmR>r ñWm¶r ¶moOZm

V¶ma Ho$ë¶m OmVmV.
ii) bmoAa nmVir ì¶dñWmnZ ghgm YmoaUo R>a{dÊ¶m g§~§{YV AgVmV.
iii) O|ìhm EImÚm H§$nZrbm Ano{jV dV©‘mZ OmoI‘rMm gm‘Zm H$amdm bmJVmo V§oìhm AmH$pñ‘H$

¶moOZm dmnaë¶m OmVmV.
iv) {XemXe©H$ {ZU©¶m‘wio g§ñWoÀ¶m H$m¶©j‘Voda XrK©H$mbrZ à^md nS>Vmo.
v) g§ñWmË‘H$ ZmoH$arÀ¶m [aº OmJm ^aÊ¶mMm EH$‘od ‘mJ© åhUOo {ZdS>.
vi) n¶©dojU, ZoV¥Ëd, àoaUm, Am{U g§àofU ho {X½Xe©ZmMo KQ>H$ Amho.
vii) g§KQ>Zm ho ì¶dñWmnZmMo H$m‘ Zmhr.

à.à.à.à.à.2) EH$ qH$dm XmoZ dm³¶mV CÎmao {bhm. [14]

A) ì¶dñWmnZmMr ì¶m»¶m H$am.
~) ì¶dñWmnZmMr H$moUVrhr XmoZ C{Ôï>¶o gm§Jm.
H$) {Z¶moOZm§Mr ì¶m»¶m H$am.
S>) ì¶dñWmnZmMo VrZ ñVa H$moUVo AmhoV?
B) {Z¶moOZmMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.
’$) g§KQ>Z åhUOo H$m¶?
¶) ^aVrMr ì¶m»¶m g§mJm.

à.à.à.à.à.3) A) ì¶dñWmnZ åhUOo H$m¶? ì¶dñWmnZmMr ì¶már ñnï> H$am. [14]

qH$dm
~) {ZU©¶ à{H«$¶m åhUOo H$m¶? {ZU©¶ à{H«$¶oMo Q>ßno ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [14]

A) {Z¶moOZmMo ’$m¶Xo
~) àoaUm
H$) ZoË¶mMr H$m¶©
S>) {X½Xe©ZmMo ñdê$n

à.à.à.à.à.5) A) H$‘©Mmar ^aVr åhUOo H$m¶? H$‘©Mmar ^aVrMr JaO Am{U ‘hËd ñnï> H$am? [14]
qH$dm

~) {ZX}eZ åhUOo H$m¶? {ZX}eZmMo ‘hÎd ñnï> H$am.


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Q1) Attempt the following :
a) Choose the correct alternative of the following : [5 × 1 = 5]

i) Number of basic cells in Transportation problem with 4 origins and
5 destinations is :
a) 7 b) 5
c) 6 d) 8

ii) LPP is used to solve the problem having objective function and
constraint in :
a) quadratic b) linear
c) exponential d) none of these

iii) If primal problem has an infeasible solution, then solution of dual
problem is
a) infeasible b) degenerate
c) unbounded d) feasible

iv) In Transportations problem (T.P.), the North-West corner method
is used.
a) to remove degeneracy
b) to find the optimum solution
c) to find alternative solution
d) to find initial basic feasible solution

v) Number of jobs and machines in Balanced Assignment Problem is:
a) unequal b) equal
c) one d) lesser

SEAT No. :

P.T.O.
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b) State whether the following statements are true or false : [5 × 1 = 5]
i) The region satisfying all constraints given in LPP is known as critical

region.

ii) Critical path method (CPM) is deterministic in nature.

iii) Simplex method is used to solve LPP with only two variables.

iv) Hungarian method is used to solve assignment problem of
maximization type.

v) Balanced Transportation Problem has total demand and total capacity
equal.

Q2) Attempt any four of the following : [4 × 5 = 20]
a) Obtain the graphical solution to the following LLP :

Maximize Z = 3x1 + 5x2

Subject to :

x1 + x2  10

2x1 + 3x2  18

x1, x2  0

b) Explain the terms Slack and Surplus variables used in L.L.P.

c) Discuss the relationship between primal LLP and dual LLP by giving an
illustration.

d) Explain the term Balanced and Unbalanced related to Assignments problem
by giving separate illustration.

e) Obtain initial basic feasible solution of following transportation problem
by using Least Cost (Matrix Minima) Method.

Destination D1 D2 D3 D4 Capacity
S1 19 30 50 10 7

S2 70 30 40 60 9

S3 40 8 70 20 18

  Demand 5 8 7 14

f) Describe Monte Carlo method of solving simulation problems.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Describe the procedure to solve LPP by graphical method.

b) Write the dual of following LPP.

Max. Z = 2x + 3y

Subject to :

2x + y  8

x + 2y  4

x  0; y  0

c) State canonical form and standard form of a LPP.

d) Describe the concept of float with different its types in critical path method
(CPM).

e) Describe the method of model sampling from uniform distributions.

f) Obtain an optimal assignment for the following problem.

Machines

Jobs M1 M2 M3 M4

J1 1 4 3 2

J2 4 3 2 1

J3 3 2 2 1

Q4) Attempt any two of the following : [2 × 10 = 20]
a) A project has following time schedule :

Activities 1-2 1-3 2-4 3-4 3-5 4-9 5-6 5-7 6-8 7-8 8-9
Time in weeks 4 1 1 1 6 5 4 8 1 2 1
i) Construct a network diagram.
ii) Compute earliest & latest time at each event.
iii) Obtain critical path and find minimum time required to complete

project.
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b) Obtain the optimal solution to the following LPP by using simplex method.
Maximize Z = 5x + 2y
Subject to :

x + 2y  10

2x + 5y  20

x  0 and y  0

c) A bakery keeps stock of a popular brand of a cake. The past experience
shows the daily demand for the popular brand of a cake as below:
Daily demand 0 10 20 30 40 50
Probability 0.08 0.22 0.35 0.20 0.12 0.03
Simulate the demand for next ten days by using random numbers
25,39, 65, 76,12,05,73,89,19,49. Also, estimate the average daily demand
and standard deviation for the popular brand of cakes.

d) The following is a T.P. with initial solution provided in circles and the
costs per unit of transportation.

Destination
Origin         D1       D2        D3       D4 Availability

O1 18 10
5 8 3 6 28

O2 14 36 50
4 5 7 4

O3 18 6 24
6 2 4 6

Requirement 32 36 28 6

Is the above solution optimal? If not, obtain an optimal solution with
minimum cost of transportation.





Q1) Answer any Three of the following questions in 100 words : [15]

a) Briefly explain Gautama Buddha’s description of Chitta.

b) Briefly describe the characteristics of an ideal person.

c) Elaborate Gautama Buddha’s description of social conditions.

d) Briefly explain the Cause of Suffering as a noble truth.

e) Briefly explain the concept of Sramana as explained by Gautama
Buddha.

Q2) Answer any Three of the following questions in 100 words : [15]

a) Briefly explain the nature of Arhat in Buddhist philosophy.

b) Briefly explain the characteristics of a Buddhist monk.

c) Briefly explain Gautama Buddha’s position on eternal truth.

d) Briefly explain the concept of Brahman in Buddhist philosophy.

e) What is Buddha? Discuss in brief.

Total No. of Questions : 4]
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Q3) Write short notes (any two) : [20]

a) Shramana (ideal person)

b) Suffering - Gautama Buddha

c) Shila

d) Samadhi - Gautama Buddha

Q4) Answer any one of the following questions in 400 words : [20]

a) Explain the moral teachings of Gautama Buddha in detail.

b) Explain Gautama Buddha’s role in nature in detail.


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(_amR>r ê$nm§Va)
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gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3959

àíZ àíZ àíZ àíZ àíZ 1) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) Jm¡V_ ~wÕm§Zr Ho$bobo {MÎmMo dU©Z WmoS>Š`mV ñnï> H$am.

~) AmXe© ì`º$sMo d¡{eï>ço WmoS>Š`mV {deX H$am.

H$) Jm¡V~wÕ `m§Zr gm_m{OH$ n[apñWVrMo Ho$bobo dU©Z WmoS>Š`mV {deX H$am.

S>) Xþ…I H$maU ho Am ©̀gË` WmoS>Š`mV ñnï> H$am.

B) Jm¡V_ ~wÕm§Zr gm§{JVbobr l_U g§H$ënZm WmoS>Š`mV {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) ~m¡Õ Xe©ZmVrb Ah©VMo ñdén WmoS>Š`mV {deX H$am.

~) ~m¡Õ {^ŠIyMr d¡{eï>ço WmoS>Š`mV ñnï> H$am.

H$) emœV gË`{df`H$ Jm¡V_ ~wÕ `m§Mr ŷ{_H$m WmoS>Š`mV {deX H$am.

S>) ~m¡Õ Xe©ZmVrb ~«m÷U g§H$ënZm WmoS>Š`mV ñnï> H$am.

B) ~wÕ åhUOo H$m`? WmoS>Š`mV MMm© H$am.
3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm. (H$moUVohr XmoZ) … [20]

A) l_U (AmXe© ì`{º$)

~) Xþ…I-Jm¡V_ ~wÕ

H$) erb

S>) g_mYr - Jm¡V_ ~wÕ

àíZ àíZ àíZ àíZ àíZ 4) nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) Jm¡V_ ~wÕm§Mr Z¡{VH$ {eH$dU g{dñVa ñnï> H$am.

~) Jm¡V_ ~wÕ `m§Mr {ZgJ©{df`H$ ŷ{_H$m g{dñVa {deX H$am.


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1) Attempt all questions
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 :1 





  2 



 





 3 



 

[10]
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 4 



 

  (2)  5 

 (1    

 (2       

 (3

 (4


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Q1) gg§X ©̂ ñnï>rH$aU H$am (H$moUVohr VrZ) … [15]

Write Reference to context (any three) :

i) doXmÝVmo Zm_ Cn{ZfËà_mU§, VXþnH$mar{U emaraH$gyÌmXr{Z M &

ii) Agn©̂ yVo aÁOm¡ gnm©amondX² dñVwÝ`dñËdmamonmo@Ü`mamon… &

iii) Añ`mkmZñ`mdaU{djonZm_H$_{ñV e{ŠVX²d`_² &

iv) AÌ "JL²>Jm`m§ Kmof… à{Vdg{V' B{V dmŠ`dÁOhëbjUm{n Z g§JÀN>Vo &

Q2) A) [aŠVñWmZm{Z nya`V (H$mì`{n Xe) … [10]

i) AIÊS>§ g{ÀMXmZÝX_dmL²>_Zg .............. & (AJmoMa_²/JmoMa_²)

ii) lrgXmZÝX`Vo… Jwé… ................. & (lrAmZÝX…/lrAX²d`mZÝX…)

iii) {ed_X²d¡V§ .................. _Ý`Vo & (àW_§/MVwWª)

iv) aÁOw{ddV©ñ` gn©ñ` aÁOw_mÌËddX²dñVw{ddV©ñ`mdñVwZmo@kmZmXo… àn#mñ` dñVw_mÌËd_²
.............. & (AndmX…/AÜ`mamon…)

Total No. of Questions : 4]

[Total No. of Pages : 3

[5961]-635
T.Y. B.A.

g§ñH¥$V (SANSKRIT)

DSE-2D : lr gXmZ§X `{V {da{MV doXmÝVgma
(2019 Pattern) (Semester - VI) (CBCS) (36112)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

Instructions :

1) gd© àíZ A{Zdm ©̀ AmhoV.

All questions are compulsory.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.
Figures to the right indicate full marks.

PA-3936

SEAT No. :

P.T.O.

·
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v) ""AmË_m d¡ Om`Vo nwÌ…'' .................. & (A{V{dMmar/A{VàmH¥$V…)

vi) gdª Ipëd¨X ............ & (M¡VÝ`_²/~«h²_)

vii) VÎd_{g B{V ................ & (_hmdmŠ`_²/_hVr dmŠ`_²)

viii) AÌ "emoUmo YmËd{V' B{V dmŠ`dV² ............... Z g§̂ d{V & (OhëbjUm/AOhëbjUm)

ix) BpÝÐ`mUm§ ñdaM{df òä`… àË`mhaU§ ................ & (àË`mhma…/g_m{Y…)

x) .............. {dOmZr`mÀN>_àmá§ Z Mmb òV² & (gamJ§/gH$fm §̀)

xi) Va{V ................ & (amJm{X{dH$madmZ²/emoH$mË_{dV²)

xii) H$_©Um {nV¥bmoHo$ {dX``m ............. & (ñdJ©…/XodbmoH$…)

B) g§ñH¥$V^mfoV CÎmao {bhm (H$moUVohr nmM) … [5]

Write answers into the Sanskrit language :

i) _w_wjwËd _Wm©V² {H$_²?

ii) doXmÝVgma J«ÝWñ` {df`… H$…?

iii) AkmZñ` bjU§ {H$_²?

iv) àmU_`H$moeñ` ñdén§ qH$ {dX²̀ Vo?

v) VmËn ©̀ {ZU©̀ ñ` `m{Z fS²>{bL²>Jm{Z, Vofw `… AW©dmX…, Vñ` bjU§ qH$ dV©Vo?

vi) Ho$dbmX²d¡VdmXñ` àdV©H$… H$ AmMm ©̀…?

Q3) AkmZ åhUOo H$m` Vo gm§JyZ, AkmZmMo H$m ©̀ ñnï> H$am. [20]

Explain what AkmZ is and explain its H$m`© or effects.

qH$dm/OR

doXmÝVgma J«§WmMo AZw~ÝY MVwï>ç ñnï> H$am.

Explain AZw~ÝY MVwï>ç of the beut entitled doXmÝVgma.
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Q4) Q>rnm {bhm (H$moUË`mhr XmoZ) … [20]

Write short notes (any two) :

i) ldU{dMma… &

ii) OrdÝ_wŠV… &

iii) VÎd_{g _hmdmŠ`mW©… &





Q1) Answer the following questions in 200 words (any 1) : [10]

a) What is archaeology? Write the significance of archaeology.

b) Explain the difference and similariting between History and
Archaeology.

Q2) Answer the following questions in 200 words (any 1) : [10]

a) Write detailed information about Archaeological survey of India.

b) Explain the characteristics and importance of Cultural Heritage.

Q3) Short Notes (Any 1) : [5]

a) Deccan College

b) Historical Monument's



Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-636
T.Y. B.A.

HISTORY
SEC-2D : Archaeology

(Skill Enhancement course)
(2019 Pattern) (CBCS) (Semester - VI) (36177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Total No. of Questions : 3]

[5961]-636
T.Y. B.A.

HISTORY
SEC-2D : Archaeology

(Skill Enhancement course)
(2019 Pattern) (CBCS) (Semester - VI) (36177)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3962

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (\$ŠV 1) [10]

A) nwamVËd {dÚm åhUOo H$m`? nwamVËd {dÚoMo _hËd {bhm.

~) B{Vhmg Am{U nwamVËd {dÚm `m_Yrb \$aH$ Am{U g_mZVm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (\$ŠV 1) [10]

A) ^maVr` nwamVËd gd}jU (A.S.I) Mr g{dñVa _m{hVr {bhm.

~) gm§ñH¥${VH$ dmaem§Mo d¡{eîQ>ço Am{U _hËd ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr - 1) [5]

A) S>oŠH$Z _hm{dÚmb`

~) Eo{Vhm{gH$ dmñVy



2



Total No. of Questions : 4]
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Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-639
T.Y. B.A. (Semester - VI)

HISTORY
SEC - 2D (2) : Numismatics

(2019 Pattern) (36178)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3965

Q1) Write the Answer to the following questions in 200 words (Any One) [10]

a) What is Numismatics? And explain the scope of Numismatics.

OR

b) Briefly review the Post-Maurya Coins.

Q2) Write the Answer to the following questions in 200 words (Any One) [10]

a) Explain the information about Coins of Mughal Period.

OR

b) Explain the types of Coins in Independent India.

Q3) Write a short note (Any One) : [5]

a) Coins of Emperor Kanishka

b) Coins of Vijayanagar.



SEAT No. :
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Total No. of Questions : 3]

[5961]-639
T.Y. B.A. (Semester - VI)

HISTORY  >(B{Vhmg)
SEC - 2D (2) : Numismatics

(2019 Pattern) (36178)
(_amR>r ê$nm§Va)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ A{Zdm`© AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-3965

àíZ 1) Imbrb àíZmMo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]

A) ZmUH$emñÌ åhUOo H$m`? Am{U ZmUH$emñÌmMr ì`már ñnï> H$am.

qH$dm

~) _m¡̀ ©Îma H$mimVrb ZmÊ`m§Mm WmoS>Š`mV AmT>mdm ¿`m.

àíZ 2) Imbrb àíZmMo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]

A) _wJbH$mimVrb ZmÊ`m§{df`r _m{hVr Xçm.

qH$dm

~) ñdV§Ì ^maVmVrb ZmÊ`m§Mm àH$me {df`r _m{hVr Xçm.

àíZ 3) Q>rnm {bhm. (H$moUVohr EH$) [5]

A) g_«mQ> H${ZîH$Mr ZmUr

~) {dO`ZJaMr ZmUr





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-640
T.Y. B.A. (Semester - VI)

GANDHIAN THOUGHT (Gen. III)
CC - IF : Impact of Gandhism on Further Movements and Modern

Philosophers
(2019 Pattern) (CBCS) (36233)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3966

Q1) Answer any Three of the following questions in 100 words : [15]

a) Briefly explain the role of Nelson Mandela in the anti-apartheid movement.

b) Briefly explain the nature of women empowerment movement.

c) Briefly explain the role of Sundarlal Bahuguna in the Chipko movement.

d) Briefly discuss the limitations of Gandhian movement.

e) Philosophy is analysis of ordinary language and concepts: Explain from
Barlinge’s point of view.

Q2) Answer any Three of the following questions in 100 words : [15]

a) Briefly explain the nature of peasant movement.

b) Briefly explain the nature of imperialism.

c) Briefly explain the influence of Gandhian thought on Barlinge’s life.

d) Briefly explain the nature of Narmada Bachao movement.

e) Briefly explain the influence of Gandhian thought on the life of Nagorao
Kumbar.

SEAT No. :

P.T.O.
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Q3) Write short notes (any two) : [20]

a) Ganga Bachao Movement

b) Gandhiji's model of development

c) Religion – K. J. Shah

d) Women Empowerment – Pushpa Bhave

Q4) Answer any one of the following questions in 400 words : [20]

a) Explain in detail the nature of Right to Information Act 2005 Act.

b) Explain the background of Chipko movement in detail.


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Total No. of Questions : 4]

[5961]-640
T.Y. B.A. (Semester - VI)

GANDHIAN THOUGHT (Gen. III)
CC - IF : Impact of Gandhism on Further Movements and Modern

Philosophers
(2019 Pattern) (CBCS) (36233)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3966

àíZ 1) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm. [15]

A) dU©Ûof{damoYr MidirVrb ZoëgZ _§S>obm `m§Mr ŷ{_H$m WmoS>Š`mV {deX H$am.

~) _{hbm g~brH$aU MidirMo ñdê$n WmoS>Š`mV ñnï> H$am.

H$) {MnH$mo Am§XmobZmVrb gw§Xabmb ~hþJwUm `m§Mr ŷ{_H$m WmoS>Š`mV {deX H$am.

S>) Jm§Yr MidirÀ`m _`m©Xm§{df`r WmoS>Š`mV MMm© H$am.

B) VÎdkmZ åhUOo gm_mÝ` ^mfm Am{U g§H$ënZm§Mo {díbofU : ~maqbJo `m§À`m Ñï>rH$moZmVyZ
ñnï> H$am.

àíZ 2) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm. [15]

A) eoVH$ar MidirMo ñdê$n WmoS>Š`mV {deX H$am.

~) gm_«mÁ`dmXmMo ñdê$n WmoS>Š`mV ñnï> H$am.

H$) ~maqbJo `m§À`m OrdZmdarb Jm§Yr {dMmam§Mm à^md WmoS>Š`mV ñnï> H$am.

S>) Z_©Xm ~Mmd Am§XmobZmMo ñdê$n WmoS>Š`mV {deX H$am.

B) ZmJmoamd Hw§$^ma `m§À`m OrdZmdarb Jm§Yr {dMmam§Mm à^md WmoS>Š`mV {deX H$am.

P.T.O.
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àíZ 3) Q>rnm {bhm. (H$m oUË`mhr XmoZ)Q>rnm {bhm. (H$m oUË`mhr XmoZ)Q>rnm {bhm. (H$m oUË`mhr XmoZ)Q>rnm {bhm. (H$m oUË`mhr XmoZ)Q>rnm {bhm. (H$m oUË`mhr XmoZ) [20]

A) J§Jm ~Mmd Am§XmobZ

~) Jm§YrOtMo {dH$mgmMo àmê$n

H$) Y_© - Ho$. Oo. ehm

S>) _{hbm g~brH$aU - nwînm ^mdo

àíZ 4) nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm.eãXmV {bhm. [20]

A) _m{hVrMm A{YH$ma A{Y{Z`_ 2005 H$m`ÚmMo ñdê$n g{dñVa {deX H$am.

~) {MnH$mo Am§XmobZmMr nmíd©̂ y_r g{dñVa {deX H$am.





Q1) Answer the following question in 300 words (any one) : [15]

a) Narrate the contribution of Roman civilization to world civilization.

OR

b) State the contribution of Arab civilization to world civilization.

Q2) Answer the following question in 300 words (any one) : [15]

a) Examine the impact of Feudalism in the Europian society.

OR

b) Give an account on the importance of world Heritage.

Q3) Answar the following question in 200 word (any two) : [20]

a) Write note on culture and civilization.

b) Write the importance of the church in the culture of the Ancient world.

c) Discuss Greek civilization.

d) Explain the importance of Renaissance Period.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-641
T.Y. B.A.

CC-4(3) : World Civilization and Heritaze (Part - II)
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Time : 2 ½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Q4) Short Notes : (any Four) [20]

a) What is civilization?

b) Church.

c) Itza : Maxico.

d) Racism.

e) Great Pyramid of Giza : Egypt.

f) Machu Pichu : Peru.





Total No. of Questions : 4]

[5961]-641
T.Y. B.A.

CC-4(3) : World Civilization and Heritaze (Part - II)
(2019 Pattern) (Semester - VI) (36253)

(_amR>r ê$nm§Va)
doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ A{Zdm ©̀ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PA-3940

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo 300 eãXm§V CÎma Úm (H$moUVmhr EH$) … [15]

A) OmJ{VH$ g§ñH¥$VrVrb amo_Z g§ñH¥$VrMo `moJXmZ gm§Jm.

qH$dm

~) OmJ{VH$ gä`Vo_Ü ò Aa~ gä`VoMo `moJXmZ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mo 300 eãXm§V CÎma Úm (H$moUVmhr EH$) … [15]

A) ẁamonr` g_mOmd[ab g§a§Om_emhrMm à^md Vnmgm.

qH$dm

~) OmJ{VH$ g§ñH¥$VrMo _hÎd gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mo 200 eãXm§V CÎmao Úm (H$moUVohr XmoZ) … [20]

A) g§ñH¥$Vr Am{U gä`Vm `mda {Q>ßnU H$am.

~) MM©Mo àmMrU OJmÀ`m g§ñH¥$VrVrb _hÎd {bhm.

H$) J«rH$ g§ñH¥$Vrda MMm© H$am.

S>) à~moYZH$mimMo _hÎd ñnï> H$am.

3
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma) … [20]

A) g§ñH¥$Vr åhUOo H$m`?

~) MM©

H$) BËPm… _°ŠgrH$mo

S>) d§e^oX

B) J«oQ> {na°{_S> Am°\$ {JPm … B{Oá

B©) _mMy {nMy … noê$





Total No. of Questions : 4]

[5961]-642
T.Y. B.A.

MATHEMATICAL STATISTICS GENERAL - IV
CC-2FST-33276 : Testing of Hypothesis

(CBCS 2019 Pattern) (Semester -VI) (36383)

Time : 2½ Hours] [Max. Marks : 70
Instruction to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.
3) Use of Scientific calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

PA-3968 [Total No. of Pages : 3

SEAT No. :

Q1) Attempt each of the following.
A) Choose the correct alternative of the following. [1 each]

a) Probability of accepting H0 when it is not true is
i) Level of significance ii) Size of the test
iii) Power of the test iv) Probability of type II error

b) Under some regularity conditions on f (x,θ) the a symptotic
distribution of the r.v.-2logΛ(x) is (where Λ(x) is the likelihood ratio):
i) Normal ii) t
iii) Chi-Square iv) Poisson

c) Which of the following is not a non-parametric test?
i) Sign test
ii) Run test
iii) Mann-Whitney U test
iv) Sequential Probability Ratio Test (SPRT)

d) Let X be random variable with pdf f (x,θ). If H
0
:θ=θ

0
 and H

1
:θ≠θ

0
 then

i) H0 & H1 are both simple hypothesis
ii) H

0
 & H

1
 are both composite hypothesis

iii) H
0
 is simple hypothesis and H

1
 is composite hypothesis

iv) H
0
 is composite hypothesis and H

1
 is simple hypothesis

e) Which of the following is simple hypothesis?
i) H

1 
: μ > μ

0
ii) H

1 
: μ < μ

0

iii) H
1 
: μ  ≠ μ

0
iv) H

1 
: μ = μ

1

P.T.O.
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B) State whether the following statement is True or False: [][][1 each]

a) The stopping bounds of SPRT of strenght (α,β) are given by

A=(1-β)/α and B=β/(1-α)

b) Most of the non-parametric methods utilize measurement on inter-
val scale.

c) The likelihood ratio test is used for testing composite null against
composite alternative hypothesis

d) MP test is not always UMP test

e) SPRT always requires more sample observations to come to a
conclusion than the test based on fixed sample size.

Q2) Attempt any FOUR of the following. [4×5=20]

a) Explain the test procedure for Man-Whitney U test

b) Define the following.

i) Critical region

ii) Level of significance

iii) Power of a test

c) Explain type I and type II error along with their probabilities (i.e.α and β).

d) Following data gives length of a certain variety of wheat

11.3, 10.4, 10.7, 8.6,9.3,8.8, 10.7, 8.2, 11.5, 9.7

10.3, 11.2, 9.0, 9.8, 9.3, 9.9, 10.1, 10.0,9.6, 9.7

Test whether population median is 9.9 at 5% L.O.S

e) Explain parameter space with example.

f) Distinguish between MP and UMP tests.

Q3) Attempt any four of the following : [4×5=20]

a) Let X→Exp(θ). Construct SPRT of strenght (α,β) to test H
0
:θ=θ

0
 against

H
1
 : θ=θ

1

b) Twenty random numbers are generated on computer using an exponen-
tial distribution.

34, 40, 19, 36, 21, 44, 80, 66, 90, 29, 31, 46, 62, 55, 60, 72, 81, 20, 45, 50.

Test whether the numbers generated indicates randomness. Use 5% L.O.S.
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c) Construct LRT for mean of Normal distribution when σ2 known.

d) Let x be a single observation from the distribution

f (x,θ) = θxθ–1 , 0<x<1 H0 : θ=1 v/s H1 : θ=3

e) Distinguish between parametric and Non-parametric tests.

f) Define the following terms:

i) Null Hypothesis

ii) Alternative Hypothesis

iii) Size of the test

Q4) Attempt any TWO of the following: [2×10=20]

a) Construct SPRT (Sequential Probability Ratio Test) for Poisson
distribution.

b) Let X→N (μ,σ2), σ2 Known. Construct SPRT of Strength (α, β) to test
H

0
: μ=μ

0
 against H

1
 : μ=μ

1

c) To  determine if a new hybrid seeding produces a bushier flowering plant,
following data was collected. Examine the data indicates the new hybrid
produces larger shrubs than the current variety?

Shrubs (growth in inches)

Hybrid X 31.8 32.8 39.2 36.0 30.0 34.5 37.4

Current Variety Y 35.5 27.6 21.3 24.8 36.7 30.0 -

Test whether the two population has identical distribution by Two-Sample
Run Test. Use 5% L.O.S.

d) Explain the test procedure for randomness of a sample by using Run test
for 2 samples.


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Q1) Attempt each of the following.
A) In each of the following cases, choose the correct alternative. [1 each]

a) Which of the following test is a non-parametric test?
i) Z-test ii) t-test
iii) paired t-test iv) Wilcoxon’s sign rank test

b) In a 4×4 L.S.D., the total number of experimental units in the layout
is.
i) 16 ii) 64
iii) 8 iv) 12

c) Which of the following is a dimension of quality?
i) Hazard rate ii) Process Capability
iii) Performance iv) Control Limits

d) Which of the following is always an unbiased estimator of the error
variance?
i) Treatment sum of squares
ii) Error mean sum of squares
iii) Error sum of squares
iv) Total sum of squares

e) The c-chart is based on
i) Binomial distribution ii) Poisson distribution
iii) Hypergeometric distribution iv) Normal distribution

P.T.O.
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B) State whether each of the given statement is True or False: [][][1 each]

a) The completely randomized design (CRD) is a one-way design.

b) In the analysis of variance, the  F-ratio value is always greater than
1.

c) The p-chart is used for the fraction defectives.

d) The average value of the quality characteristic corresponding to the
in control state is represented by LCL in the control charts.

e) Sign test is used to test the equality of two population variances.

Q2) Attempt any FOUR of the following. [5 each]

a) Explain the following terms with an illustration:

i) Experimental unit

ii) Treatment

iii) Block

b) Explain in brief the meaning and purpose of statistical quality control.

c) Explain the test procedure of Wilcoxon’s signed-rank test.

d) State the mathematical model used in the two-way classification of analysis
of variance and explain the terms used in it. Further state the breakup of
the total sum of squares.

e) Obtain the partition of the total sum of squares and the total degree of
freedom in LSD.

f) The following data represent the number of hours that a rechargeable
hedge trimmer operates before a recharge is required.

1.5, 2.2, 0.9, 1.3, 2.0, 1.6, 1.7, 1.5, 2.0, 1.2, 1.7

Use the sign test to test the hypothesis that this particular trimmer operates
with a median of 1.8 hours before requiring a recharge. (Use 5% level of
significance)

Q3) Attempt any Four of the following. [5 each]

a) Explain the concept of analysis of varinace.

b) Explain chance causes and assignable causes of variations.

c) Explain a non-parametric test for randomness.
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d) Obtain the least square estimates of parameters in CRD.

e) Explain the concept of control limits (3-sigma limits only) used in control
charts. Further sate criteria for judging lack of control.

f) Complete the following analysis of the variance table.

Source of Degree of Sum of squares Mean sum F-ratio

Variation freedom of squares

Treatment 4 200 ? ?

Block ? 242 60.5 ?

Error 16 ? ?

Total 24 600

Q4) Attempt any TWO of the following:

a) The table below shows the lifetime in excess of 1000 hours of samples of
tube lights of three different brands. [10]

Samples(Lifetime in excess of 1000 hours)

Brand 1 2 3 4 5

A 17 20 15 18 17

B 18 22 20 16 24

C 26 31 24 30

Carry out a one-way analysis of variance to test the hypothesis that the
average life of tube lights of three brands is the same at 2% level of
significance.

b) The following data indicates the sample mean and range values for 10
subgroups of size 5 items each.

Subgroup No. 1 2 3 4 5 6 7 8 9 10

Average (X ) 30 29 25 30 40 25 29 27 31 28

Range (R) 12 13 12 14 14 11 15 13 11 13

Set up X and R-charts and examine the state of control of the given
process. Comment on your results. [10]
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c) i) The number of defects in each sample of 20 items is given below.[7]

Item No. 1 2 3 4 5 6 7 8 9 10

No. of defects 2 0 4 1 1 8 0 2 3 1

Item No. 11 12 13 14 15 16 17 18 19 20

No. of defects 2 0 0 1 3 2 1 0 1 0

Draw c-chart and check whether the process is under control.

ii) Explain the concept of non-parametric tests. State any two differences
between a parametric and non-parametric test. [3]

d) The following data indicates the percentage of defectives in a sample of
size 50 taken at equal intervals of a production process. [10]

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.09 0.11 0.13 0.05 0.14 0.6 0.2 0.12 0.7 0.4

Sample No. 11 12 13 14 15 16 17 18 19 20

% of defective 0.13 0.06 0.18 0.14 0.17 0.14 0.15 0.8 0.10 0.16

Draw the p-chart to check whether the production process is under
control. Suggest the control limits for future use.


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Q1) Write the answers to the following questions in 20 words (any eight) [16]

a) State the two books of karl Marx.

b) According to Peter Druker which is the most important factor in Human
Progress?

c) Who wrote the book Discovery of India?

d) Write the name of two books by Abraham maslow.

e) Marx’s communism emerged in which country?

f) Who is called the pioneer of ‘Panchayat Raj’ Institution in India?

g) Who introduced the concept of knowledge workers?

h) Who propsed the theory of needs?

i) Where and when did bureaucracy emerge according to Marx?

j) What is socialism according to nehru?

P.T.O.
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Q2) Write the answers to the folloiwng questions in 50 words. (any four) [16]

a) State the reasons for the rise of bureaucracy according to Marx.

b) Explain the principles of Maslow’s theory of motivation.

c) State the characteristics of Nehru’s socialism.

d) Explain Drucker’s concept of knowledge.

e) Describe Maslow’s lower level needs.

f) Explain Karl Marx’s nature of bureaucracy.

Q3) Write the answers to the following questions in 100 words (any three). [18]

a) Explain Mehru’s views on Decentralization.

b) Explain Peter Drucker’s knowledge workers concept.

c) Explain Maslow’s need Hierarchy Theory.

d) Explain marx’s views on class of Bureaucracy.

Q4) Write the answers to the following questions in 200 words. (any two) [20]

a) Explain nehru’s views on socialism and Administration.

b) Explain Drukers’s management by objective.

c) State the characteristics of Marx’s bureaucracy.


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PA-3970

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 20 eãXm§V> {bhm. (H$moUVohr AmR>) [16]

A) H$mb© ‘m³g©À¶m XmoZ J«§WmMr Zmdo gm§Jm.

~) {nQ>a S´>H$aÀ¶m ‘Vo ‘mZdr àJVrVrb ‘hÎdmMm KQ>H$ H$moUVm?

H$) "{S>ñH$ìhar Am°’$ B§{S>¶m' hm J«§W H$moUr {bhbm?

S>) A°~«mh‘ ‘mñbmoMo XmoZ J§«W {bhm.

B) ‘m³g©Mm gmå¶dmX H$moUË¶m XoemV Ambm?

’$) ^maVmVrb n§Mm¶V amO g§ñWm§Mm àUoÎmm H$moUmg åhUVmV.

¶) kmZ H$m‘Jma {h g§H$ënZm H$moUr ‘m§S>br?

a) JaOm {gÕm§V H$moUr ‘m§S>br?

b) ‘m³g©À¶m ‘Vo ZmoH$aemhrMm CX¶ H$moR>o d H$Yr Pmbm?

d) Zohê$À¶m ‘Vo g‘mOdmX åhUOo H$m¶?



4[5961]-644

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) ‘m³g©À¶m ‘Vo ZmoH$aemhrÀ¶m CX¶mMr H$maUo gm§Jm.

~) ‘mñbmoÀ¶m A[^àoaUm {gÕm§VmMr VËdo ñnîQ> H$am.

H$) Zohê$À¶m g‘mOdmXmMr d¡{eï>²¶o gm§Jm.

S>) S´>H$aMr kmZ g§H$ënZm ñnï> H$am.

B) ‘mñbmoÀ¶m ‘Vo H${Zð> JaOm H$moUË¶m?

’$) H$mb© ‘m³g©À¶m ZmoH$aemhrMo ñdê$n ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 100 eãXm§V {bhm. [18]

A) Zohê$À¶m {dH|$ÐrH$aÊ¶m~m~VMr ‘Vo ñnï> H$am.

~) {nQ>a S´>H$aMr kmZ H$m‘Jma g§H$ënZm ñnï> H$am.

H$) ‘mñbmoMm JaOm nXgmonmZ {gÕm§V ñnï> H$am.

S>) ‘m³g©Mm ZmoH$aemhr~ÔbMm dJ© Ñ{ï>H$moZ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Zohê$Mr g‘mOdmX Am{U àemgZm~ÔbMr ‘Vo ñnï> H$am.

~) S´>H$aMo C{Ôï>mZwê$n ì¶dñWmnZ ñnï> H$am.

H$) ‘m³g©À¶m ZmoH$aemhrMr d¡{eï>²¶o gm§Jm.





Q1) Translate into Marathi or English (Any three) : [15]

_amR>rV qH$dm B§J«OrV ^mfm§Va H$am (H$moUVohr VrZ)

i) Ak… gwI_mamÜ`… gwIVa_mamÜ`Vo {deofk… &

kmZbdXþ{d©X½Y§ ~«÷m{n Za§ Z a‚m`{V &

ii) Aå^mo{OZrdZ{dbmg{Zdmg_od h§gñ` h{Þ {ZVam§ dw{nVmo{dYmV &&

Z Ëdñ` Xþ½YOb ôX{dYm¡ à{gÕm§ d¡XìÜ`H$s{V©_nhVw©_gm¡ g_W©… &&

iii) ñdm`Îm_oH$mÝV{hV§ {dYmÌm {d{Z{_©V§ N>mXZ_kVm`m… &

{deofV… gd©{dXm§ g_mOo {d ŷfU§ _m¡Z_npÊS>VmZm_² &

iv) O`pÝV Vo gwH¥${VZmo ag{gÕm… H$drídam… &

ZmpñV òVm§ `e…H$m ò Oam_aUO§ ^`_² &&

Total No. of Questions : 4]
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Q2) a) Explain with reference to the context (Any two) : [10]

gg§X ©̂ ñnï>rH$aU H$am (H$moUVohr XmoZ)

i) N>m òd _¡Ìr Ibg‚mZmZm_²

ii) EVËÌ §̀ OJ{V nwÊ`H¥$Vmo b^Vo &

iii) «̂_`{V _Zmo Z OmZr_… {H$_Ì {dÚmñ`{V &

b) [aº$ñWmZm{Z nya`V (H$mÝ`{n n#m) [5]

i) Hy$no ní` n`mo{ZYmd{n KQ>mo J¥hUm{V Vwë`§ ............... &

ii) {ZOö{X {dH$gÝV… gpÝV ............ {H$`ÝV… &

iii) ............ H$m`m©Wu JU`{V Z Xþ…I§ Z M gwI_² &

iv) bmoH$Ì`§ O`{V H¥$ËñZ{_X§ g ................. &

v) gỳ m} «̂må`{V {ZË`_od JJZo Vñ_¡ Z_… ............. &

vi) XmZ§ ............... ZmepñVòmo JV`mo ̂ dpÝV {dÎmñ` &

Q3) a) C{MV§ ẁ½_§ {d{MZwV (H$mÝ`{n n#m) … [5]

i) emómon ñH¥$V{Ja… a) Hw$bmbdV²

ii) AZwÕVm… b) nmdH$…

iii) OwhdmZ§ Xh{V c) AZmamÜ`_²

iv) ~«÷m d) _ËgaJ«ñVm…

v) _yI©OZ{MÎm_² e) gËnwéfm…

vi) ~moÕma… f) H$d`…

b) Explain "Y¡̀ ©nÕ{V…' in detail. [15]

"Y¡̀ ©nÕ{V…' g{dñVa ñnï> H$am.

OR/qH$dm

Explain _mZem¡̀ © nÕ{V… in detail

"_mZem¡̀ © nÕ{V…' g{dñVa ñnï> H$am.
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Q4) Write notes (any two) : [20]

Q>rnm {bhm (H$moUË`mhr XmoZ) …

i) gwOZnÕ{V…

ii) XþO©ZnÕ{V…

iii) AW©nÕ{V…





Total No. of Questions : 4]

[5961]-646

T.Y. B.A.
MATHEMATICS

SEC-1D : Financial Mathematics (FMG-6)
(CBCS 2019 Pattern) (Semester-VI)(36345)

Time : 2½ Hours] [Max. Marks : 70

Instruction to the candidates:

1) All questions are compulsory.

2) Figures to the right indicates full marks.

PA-3972 [Total No. of Pages : 3

SEAT No. :

Q1) Attempt any five of the following. [10]
a) The demand set and supply set for a commodity are

D = {(q,p)|2q + p = 9} and S = {(q,p)|q – 3p = 1).

Determine the equilibrium price and quantity.

b) If the supply function is 
5 12

( )
2

s p
q p

−=  then find the inverse supply

function pS(q).

c) If the cost function C(q)=100+7q and the price function is P(q)=6–0.05q.
Determine the profti function.

d) Define the term ‘Perfect competition’

e) State the term ‘Leontief matrix’.

f) Find rank of matrix 
10 5

A
20 10

− 
=  − 

g) Define the term ‘Break-even point’.

Q2) Attempt any four of the following. [20]
a) An amount of rupees 25,000 is invested at an interest rate 8% per annum.

Find the total after 1 year if the interest is compounded.

i) Quarterly

ii) Monthly

b) Find the maximum and minimum value of the function f (x)=x3–8x2+16x–1 in
the interval [2,5].

P.T.O.
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c) Solve the following system of equations.

4x + 2y +3z = 3,

2x + 3y + 4z = 2,

3x + 4y + 2z =1.

d) Let 
0.2 0.2

A
0.1 0.3

 
=  
 

 represents the matrix of coefficients for an input-

output model with two industries. Write the equation that determine the

production sehedule x  in terms of external demand d .

e) The demand function for a good is qD (p) = 70–4p. Determine the values
of p for which demand is inelastic.

f) Prove that at the break-even point mariginal cost is equal to average cost.

Q3) Attempt any four of the following. [20]

a) Let S={(q,p)|q – 6p = –12} and D={(q,p)|q + 2p = 40} be supply and
demand sets respectively, for a particular market. If an excise tax of
rupees 4 per unit is imposed then find the new equilibrium market price
and quantity.

b) The supply and demand functions for a commodity are

qS(p) = 15p–41, qD (p) = 40 – 12p.

Assume that the supplier operate according to the cobwed model. Deter-
mine the recurrence equation for the sequence p

t
 of prices and find the

explicit solution if p
0 
= 2.5.

c) Express the vector (7,11,1) as a linear combination of the vectors (1,4,7),
(2, 5, –4) and (2,1,–1).

d) Write a note on elasticity of demand.

e) Reduce the matrix 

5 5 5

A 3 4 2

2 1 3

 
 =  
 
 

 to its row echelon form.

f) The demand function for a good is ( )D c
q p a bp

p
= + + ,For some con-

stants a,b and c. When p = 1, the quantity demanded is 60, when p = 2,
the quantity demanded is 40 and when p = 4, the quantity demanded is
15. Determine the value of constants a,b and c.
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Q4) Attempt any TWO of the following: [20]

a) Suppose an investor invests money in three different assets land, bonds
and stocks and three possible states can occur. If the return matrix of the

above investment is 

0.950 0.9 1.0

R 1.1 1.1 1.1

1.2 1.15 1.25

 
 =  
 
 

 then show that there is no

vector of state prices.

Also show that Y= (1000 –5000  4000) is an arbitrage portfolio.

b) The market for a commodity is governed by supply set S={(q,p)|2p–
3q=12} and demand set D={(q,p)|2p+q = 20}. Then determine

i) The equilibrium set

ii) Supply and demand functions

iii) Inverse supply and inverse demand functions

iv) Sketch supply set S and demand set D.

c) Alpern and Co. is an efficient small firm that can not produce more that 6
units of its product per week. If their cost function is C(q)=100 + 20q – 6q2 +q3.
Determine Their.

i) Fixed cost

ii) Profit function

iii) Startup point

iv) Break-even point

v) Supply set

d) A factory makes two goods grommets and widgets. To produce $1 worth
of grommets requires $0.2 worth of grommets and $0.1 worth of widgets.
To make $1 of widgets requires $0.1 worth of grommets and $0.05 worth
of widgets. There is an external demand of $750 worth of grommets and
$500 worth of widgets. Determine the total production of each commodity.


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Q1) Write short notes on (Any Three) [15]
a) Retail sector.
b) Service Labour and class
c) Fishing
d) Service, Labour & Gender
e) Mining Labour

Q2) Answer the following questions in 50 words each (Any Three). [15]
a) Explain the nature of contract work in informalization sector in India.
b) Write the types of Hospitality
c) Explain the problems of workers in BPO centre
d) Write the impact of the new economic policy on forest sector.
e) Write the nature of the work of the wokers in the service Industry.

Q3) Answer the following questions in 200 words each (Any two) [20]
a) Describe the impact of new Economic policy on the workers in

manufacturing sector.
b) Explain the problems of workers in Hositality sector.
c) Write the impact of the new-economic policy on agricultural sector.
d) Explain the impact of informalization on migrant workers in India.

Q4) Answer the following questions in 300 words. (any one) [20]
a) Elaborate the impact of increasing workers in informal sector on trade

unions.
b) Discuss the growth of India’s information technology sector.


P.T.O.
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©mgmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-3973

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) {H$aH$moi {dH«$s joÌ
~) godm H$m‘Jma Am{U dJ©
H$) ‘mgo‘mar
S>) godm H$m‘Jma Am{U qbJ^md
B) ImUH$m‘ H$m‘Jma

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ^maVmVrb AZm¡nMm[aH$ joÌmVrb H$amamdarb H$m‘mMo ñdê$n ñnï> H$am.
~) AmXam{VÏ¶mMo àH$ma {bhm.
H$) ~rnrAmo g|Q>a‘Ü¶o H$m‘ H$aUmè¶m H$m‘Jmam§À¶m g‘ñ¶m ñnï> H$am.
S>) ZdrZ Am{W©H$ YmoaUmMm dZjoÌmVrb H$m‘Jmam§da Pmbobm n[aUm‘ {bhm.
B) godm CÚmoJmVrb H$m‘Jmam§À¶m H$m‘mMo ñdê$n {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ZdrZ Am{W©H$ YmoaUmMm dñVw CËnmXZ joÌmVrb H$m‘Jmam§da Pmboë¶m n[aUm§‘mMr MMm© H$am.
~) AmXam{VW© joÌmVrb H$m‘Jmam§À¶m g‘ñ¶m ñnï> H$am.
H$) ZdrZ Am{W©H$ YmoaUmÀ¶m H¥$fr joÌmda Pmboëmm n[aUm‘ {bhm.
S>) ^maVmVrb AZm¡nMm[aH$sH$aUmMm ñWbm§V[aV H$m‘Jmam§da Pmbobm n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZmMo CÎma 300 eãXm§V {bhm. (H$moUVohr EH$) [20]
A) ^maVmVrb AZm¡nMm[aH$ joÌmVrb dmT>Ë¶m H$m‘Jmam§Mm H$m‘Jma Midirdarb n[aUm‘ {deX H$am.
~) ^maVmVrb ‘m{hVr V§ÌkmZ joÌmÀ¶m dmT>rda MMm© H$am.





Total No. of Questions : 4]

[5961]-648
T.Y. B.A. (Regular)

PHILOSOPHY (General - 3)
CC-1F - Socio -Political philosophy

(CBCS 2019 Pattern) (Semester - VI) (New) (36423)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3974 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words each (Any Three) [15]
a) Explain Justice Ranade’s the notion of Providence.

b) How is Ethics related to Social Philosophy?

c) Briefly explain the interrelation between ‘Truth’ and ‘Non-violence’.

d) Discuss about Social Democracy.

e) Explain the notion of Historical-Materialism.

Q2) Answer the following questions in 100 words each (Any Three) [15]
a) Discuss ‘Liberal Feminism’.

b) Explain, definitions of Social Philosophy.

c) What is classless society?

d) What are the basic features of Feminism?

e) Briefly discuss on M. G. Ranade’s concept of ‘Liberalism’

Q3) Write Short notes in 200 words each. (Any two) [20]
a) Social philosophy.

b) Mill’s concept of Rights.

c) Concept of Liberty.

Q4) Answer any one of the following questions in 400 words. [20]
a) Explain, fully the nature and scope of Political Philosophy.

b) Explain fully Mahatma Gandhi’s concept of Satyagraha.



P.T.O.
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Total No. of Questions : 4]

[5961]-648
T.Y. B.A. (Regular)

PHILOSOPHY (General - 3)
CC-1F - Socio -Political philosophy

(CBCS 2019 Pattern) (Semester - VI) (New) (36423)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3974

à.à.à.à.à.1) Imbrbn¡H$r H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [15]
A) Ý¶m. amZS>|Mr "X¡dr g§H$ënZm' ñnï> H$am.
~) gm‘m{OH$ VÎdkmZmer Zr{VemñÌ H$em àH$mao g§~§{YV Amho?
H$) "gË¶' Am{U "Aqhgm' ¶m§À¶mVrb Am§Vag§~§Y WmoS>³¶mV ñnï> H$am.
S>) gm‘m{OH$ "bmoH$emhr{df¶r' MMm© H$am.
B) "Eo{Vhm{gH$-^m¡{VH$dmX' g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [15]
A) "CXma‘VdmXr ñÌrdmXmMr' MMm© H$am.
~) gm‘m{OH$ VÎdkmZmÀ¶m ì¶m»¶m ñnï> H$am.
H$) "dJ©{dhrZ g‘mO' åhUOo H$m¶?
S>) ñÌrdmXmMr ‘yb ŷV d¡{eï>²¶o H$moUVr?
B) E‘. Or. amZS>o ¶m§À¶m "CXma‘VdmX' g§H$ënZoMr WmoS>³¶mV MMm© H$am.

à.à.à.à.à.3) Imbrbn¡H$r H$moUË¶mhr XmoZda 200 eãXm§V g§{já {Q>nm {bhm. [20]
A) gm‘m{OH$ VÎdkmZ
~) {‘bMr "h³H$' g§H$ënZm
H$) ñdmV§Í¶ g§H$ënZm

à.à.à.à.à.4) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) amOH$s¶ VÎdkmZmMo ñdê$n d ì¶már g{dñVa ñnï> H$am.
~) ‘hmË‘m J§mYrOtMr gË¶mJ«hmMr g§H$ënZm g{dñVa ñnï> H$am.





Total No. of Questions : 4]

[5961]-649
T.Y. B.A.

PUBLIC ADMINISTRATION
DSE - 1D : Financial Administration

(2019 Pattern) (Semester - VI) (CBCS) (36441)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3975 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (in 20 words each) [16]

a) State the tenure of Auditor General?

b) State any one Function of Finance commission?

c) How many members are there in Finance commission?

d) State any one function of public Accounts committee.

e) How many members are there in total in the Estimates committee?

f) State one function of public Accounts committee?

g) State the tenure of public accounts committee?

h) Who wrote the book ‘Economics’?

i) State one advantage of liberalization.

j) Explain the meaning of privatization?

P.T.O.
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Q2) Attempt any four short notes (in 50 words each) [16]

a) Explain the duties of the Auditor general?

b) State the function of finance commission?

c) State the function of estimates committee?

d) State the benefits of Globalization?

e) State the composition of public Accounts committee?

f) What is New Economic policy?

Q3) Attempt any three questions (in 100 words each) [18]

a) Explain the Auditor Generals control over financial administration.

b) Explain the nature of Finance commission?

c) Write the Function of Public Account committee?

d) State the advantages and disadvantages of liberalization?

e) Explain New Economic Policy?

Q4) Attempt any two questions (in 200 words each) [20]

a) State the composition of Auditor General and discuss the powers and
Functions.

b) Explain the function of the Estimates committee by stating its composition.

c) Explain the advantages and disadvantages of privatization by giving the
definition of privatization?


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Total No. of Questions : 4]

[5961]-649
T.Y. B.A.

PUBLIC ADMINISTRATION
DSE - 1D : Financial Administration

(2019 Pattern) (Semester - VI) (CBCS) (36441)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3975

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ‘hmboIm n[ajH$mMm H$m¶©H$mb gm§Jm.

~) {dÎm Am¶moJmMo H$moUVohr EH$ H$m¶© gm§Jm?

H$) {dÎm Am¶moJmV {H$Vr gXñ¶ AgVmV?

S>) bmoH$boIm g{‘VrMo H$moUVohr EH$ H$m¶© gm§Jm.

B) A§XmO g{‘VrV EHy$U {H$Vr gXñ¶ AgVmV?

’$) gmd©O{ZH$ CnH«$‘ g{‘VrMo EH$ H$m¶© gm§Jm.

¶) gmd©O{ZH$ CnH«$‘ g{‘VrMm H$m¶©H$mb gm§Jm.

a) "AW©emñÌ>' hm J«§W H$moUr {bhrbm?

b) CXmarH$aUmMm EH$ ’$m¶Xm gm§Jm.

d) ImOJrH$aUmMm AW© gm§Jm.
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à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao {bhm. (50 eãXmV) [16]

A) ‘hmboIm n[ajH$m§Mr H$V©ì¶ ñnï> H$am.

~) {dÎm Am¶moJmMo H$m¶© gm§Jm.

H$) A§XmO g{‘VrMo H$m¶© gm§Jm.

S>) OmJ{VH$sH$aUmMo ’$m¶Xo gm§Jm.

B) gmd©O{ZH$ boIm g{‘VrMr aMZm gm§Jm.

’$) ZdrZ Am{W©H$ YmoaU åhUOo H$m¶?

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) ‘hmboIm n[ajH$mMo {dÎm àemgZmdarb {Z¶§ÌU ñnï> H$am.

~) {dÎm Am¶moJmMo ñdê$n ñnï> H$am.

H$) gmd©O{ZH$ CnH«$‘ g{‘VrMo H$m¶© {bhm.

S>) CXmarH$aUmMo ’$m¶Xo d VmoQ>o gm§Jm.

B) ZdrZ Am{W©H$ YmoaU ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) ‘hmboIm n[ajH$mMr aMZm gm§JyZ A{YH$ma d H$m¶m©Mr MMm© H$am.

~) A§XmO g{‘VrMr aMZm gm§JyZ H$m¶© ñnï> H$am.

H$) ImOJrH$aUmMr ì¶m»¶m gm§JyZ ImOJrH$aUmMr ’$m¶Xo d VmoQ>o ñnï> H$am.





[5961]-650        
T.Y.B.A.
URDU

SEC-2D : Introduction to Mass Media in Urdu
(CBCS 2019 Pattern) (Semester-VI) (36074)

Time : 1½ Hours] [Max. Marks :25

                                               
             

 
[10]




[10]  






[5]  


 

PA-3976

Total No. of Questions : 3]

[Total No. of Pages :1

SEAT No. :



Total No. of Questions : 4]

[5961]-651
T.Y. B.A.

G-3 : YOGA
CC-1F : Yog Vidya-VI (With Practical)
(2019 Pattern) (Semester - VI) (36243)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions must be sloved.
2) Figures to the right indicate full marks.

PA-3977 [Total No. of Pages : 2

SEAT No. :

Q1) Answer any five of the following questions in one sentence. [5]
a) Name of the asanas performed on the basis of two stomachs.
b) What is the bandha applied to the throat?
c) In which pranayama does the sound of the beetle occur?
d) What is the kriya of putting a rubber catheter in the nose?
e) Which asana looks like a butterfly?
f) In which asana does the Englishword V shape occur?
g) Which Mudra shows the correlation between Ashva and Mudra?

Q2) Give tips. [10]
a) Pranayama
b) Bandha
c) Vritti

Q3) Answer any two of the following questions in 150 words. [20]
a) Explain the benefits of different types of asanas.
b) State the types and benefits of Shudhikriya.
c) Write the details of Shirsasana.

Q4) Answer any one of the following questions in detail. [15]
a) Explain the correlation between physical health promotion and yoga.
b) Explain social health promotion and yoga.



P.T.O.
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Total No. of Questions : 4]

[5961]-651
T.Y. B.A.

G-3 : YOGA
CC-1F : Yog Vidya-VI (With Practical)
(2019 Pattern) (Semester - VI) (36243)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3977

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr EH$ dm³¶mV CÎmao Úm. [5]
A) XmoZ nmoQ>mÀ¶m AmYmamda Ho$br OmUmar AmgZo H$moUVr?
~) KemÀ¶m {R>H$mUr gmdbm OmUmam ~§Y H$moUVm?
H$) ŵ§½¶mMm AmdmO H$moUË¶m àmUm¶m‘mV ¶oVmo.
S>) ZmH$mV a~ar Zir KmbUmar {H«$¶m H$moUVr?
B) ‘mí¶mgmaIo {XgZmao AmgZ H$moUVo?
’$) B§J«Or V AmH$mam à‘mUo {XgZmao AmgZ H$moUVo?
¶) Amíd Am{U ‘wÐm ¶mMm ghg§~§Y Xmad{dUmar ‘yÐm H$moUVr?

à.à.à.à.à.2) {Q>nm Úm. [10]
A) àmUm¶m‘
~) ~§Y
H$) d¥Îmr

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 150 eãXm§V CÎmao Úm. [20]
A) AmgZm§Mo {d{dY àH$ma gm§JwZ Ë¶m§Mo ’$m¶Xo {dfX H$am.
~) ew{ÕH«$s¶m§Mo àH$ma d ’$m¶Xo gm§Jm.
H$) {efm©gZmMr g{dñVa ‘m{hVr {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo g{dñVa CÎma Úm. [15]
A) emar[aH$ Amamo½¶ g§dY©Z d ¶moJemó ghg§~§Y ñnï> H$am.
~) gm‘m{OH$ Amamo½¶g§dY©Z d ¶moJ ñnï> H$am.





Total No. of Questions : 4]

[5961]-652
T.Y. B.A.

EDUCATION
CC-1ET :  Education Psychology

(2019 Pattern) (CBCS) (Semester - VI) (36303)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3978 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 50 words each (Any Three) [15]
a) What are the characteristics of language development in Infancy level.
b) Explain an educational importance of Imagination.
c) Explain the concept of Heredity.
d) Explain the concept of personality.
e) Explain the educational importance of sensation.

Q2) Answer the following questions in 100 words each (Any Two) [20]
a) Explain the social and mental development characteristics in childhood

stage.
b) Explain the causes of Individual differences.
c) What is perception? Explain an educational importance of perception.
d) Explain an educational importance of Heredity.

Q3) Answer any one questions in 300 words. [20]
a) Explain factors affecting on personality in details.
b) ‘Adolsance stage is a stromy period’ Explain in details.

Q4) Write short notes in 50 words each (Any Three) [15]
a) Concept of Individual differences.
b) Educational importance of environment.
c) Educational importance of creativity.
d) Role of school in personality development.
e) Difference between Groth and development.



P.T.O.
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Total No. of Questions : 4]

[5961]-652
T.Y. B.A.

EDUCATION
CC-1ET :  Education Psychology

(2019 Pattern) (CBCS) (Semester - VI) (36303)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3978

à.à.à.à.à.1) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ~më¶mdñWoVrb ^m{fH$ {dH$mgmMr d¡{eï>o H$moUVr?
~) H$ënZoMo e¡j{UH$ ‘hÎd ñnï> H$am.
H$) AZwd§emMr g§H$ënZm ñnï> H$am.
S>) ì¶{º$‘ËdmMr g§H$ënZm ñnï> H$am.
B) g§doXZoMo e¡j{UH$ ‘hÎd ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) {H$emoamdñWoVrb gm‘m{OH$ d ‘mZ{gH$ {dH$mgmMr d¡{eï>¶o ñnï> H$am.
~) ì¶º$s^oXmMr H$maUo ñnï> H$am.
H$) Ad~moY åhUOo H$m¶? Ad~moYmMo e¡j{UH$ ‘hËd ñnï> H$am.
S>) AZwd§emMo e¡j{UH$ ‘hËd ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) ì¶{º$‘Ëdmda n[aUm‘ H$aUmao KQ>H$ g{dñVa ñnï> H$am.
~) Hw$‘mamdñWm "dmXir Aem§VVoMm H$mi' ho {dYmZ g{dñVa ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) ì¶{º$ ôXmMr g§H$ënZm
~) n[apñWVrMo e¡j{UH$ ‘hÎd
H$) gO©ZerbVoMo e¡j{UH$ ‘hÎd
S>) ì¶{º$‘Îd {dH$mgmV emioMr ŷ{‘H$m
B) dmT> d {dH$mgmVrb ’$aH$





[5961]-653
T.Y.B.A.

CC-1F G-3 : PUBLIC ADMINISTRATION
(2019 Pattern) (Semester - VI) (36445)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right  indicate full marks.

Total No. of Questions : 4] 

PA-3947 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words) [16]

a) What is personnel Administration.

b) In ‘POSDCORB’ the letter ‘B’ stands for?

c) Write importance of promotion.

d) In which house of parliament budget use to introduce?

e) Spoil system is associated with which country?

f) State objectives of Training.

g) Write two merit of personnel Administration.

h) State two principles of recruitment.

i) State two Administrative Reforms.

j) State types of Training.

Q2) Attempt any four questions (50 words) [16]

a) Write meaning of Personnel Administration.

b) Explain meaning of Training.

c) Comment on Budget.

d) Explain concept of Parliament Budget.

e) Explain recruitment methods.

f) Explain importance of promotion.

P.T.O.
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Q3) Attempt any three questions. (100 words) [18]

a) Comment on control over Public Administration.

b) Comment on importance of Budget

c) Comment on judicial control.

d) Importance of legislative control.

Q4) Attempt any two questions. (200 words). [20]

a) Explain objectives of Training.

b) Explain principles of promotion.

c) Write functions of personnel Administration.


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[5961]-653
T.Y.B.A.

CC-1F G-3 : PUBLIC ADMINISTRATION
(2019 Pattern) (Semester - VI) (36445)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

Total No. of Questions : 4] 

PA-3947

à.à.à.à.à.1) WmoS>³¶mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãX) [16]

A) godH$ àemgZ åhUOo H$m¶?

~) ‘POSDCORB’ ‘Yrb B åhUOo H$m¶?

H$) ~T>Vr Mo ‘hÎd {bhm.

S>) g§gXoÀ¶m H$moUË¶m g^mJ¥hmV A§XmOnÌH$ ‘m§S>bo OmVo?

B) "byQ> nÕVr' hr H$moUË¶m Xoemer g§~§YrV Amho?

’$) à{ejUmMr C{X²Xï>¶o gm§Jm.

¶) godH$ àemgZmMo XmoZ JwU {bhm.

a) ^aVrMr XmoZ VËdo gm§Jm.

b) XmoZ àemgH$s¶ gwYmaUm gm§Jm.

d) à{ejUmMo àH$ma gm§Jm.

à.à.à.à.à.2) 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) godH$ àemgZmMm AW© gm§Jm.

~) àemgZmMm AW© ñnï> H$am.

H$) "AW©g§H$ën/A§XmOnÌH$mda' ^mî¶ H$am.

S>) "g§gXr¶ A§XmOnÌH$m§da' ñnï>rH$aU X²¶m.

B) ^aVrnÕVr ñnï> H$am.

’$) ~T>Vr Mo ‘hÎd ñnï> H$am.
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à.à.à.à.à.3) 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) bmoH$àemgZmda {Z¶§ÌU ¶mda ^mî¶ H$am.

~) A§XmO nÌH$mMo ‘hÎd ¶mda ^mî¶ H$am.

H$) Ý¶m{¶H$ {Z¶§ÌU ¶mda ^mî¶ H$am.

S>) H$m¶Xo ‘§S>imMo {Z¶§ÌU ¶mMo ‘hÎd gm§Jm.

à.à.à.à.à.4) 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) à{ejUmMr C{X²Xï>¶o ñnï> H$am.

~) ~T>VrMr VËdo ñnï> H$am.

H$) godH$ àemgZmMr H$m¶} {bhm.





Total No. of Questions : 5]

[5961]-654
T.Y. B.A.

HINDI (qhXr)
DSE-2D (S-4) : qhXr ^mfm Am¡a CgH$m {dH$mg

(2019 Pattern) (CBCS) (Semester - VI) (36092)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZm … 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa àíZ Ho$ nyUmªH$ h¡&

PA-3980

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) ^mfm H$s n[a^mfmAm| H$mo g§jon ‘| ñnï> H$s{OE&
~) n[a{Z{ð>V ^mfm H$m n[aM¶ Xr{OE&
H$) ^mfm H$s {deofVmAm| H$mo g§jon ‘| {b{IE&
S>) amO^mfm H$m ñdê$n ñnï> H$s{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) amOñWmZr qhXr H$s ~mo{b¶m| H$m n[aM¶ Xr{OE&
~) {~hmar qhXr H$s ~mo{b¶m| H$mo ñnï> H$s{OE&
H$) VËg‘ eãXm| H$m n[aM¶ Xr{OE&
S>) qhXr ‘| {dXoer eãXm| Ho$ ¶moJXmZ H$mo ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]
A) XodZmJar {b{n H$m {dH$mg {H$g àH$ma hþAm h¡?
~) ZmJar {b{n H$s Mma {deofVmAm| H$mo ñnï> H$s{OE&
H$) ZmJar {b{n ‘| gwYma Ho$ à¶mg H$mo ñnï> H$s{OE&
S>) XodZmJar {b{n Ho$ Zm‘H$aU g§~§Yr {dMmam| H$mo {b{IE&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht VrZ {Q>ßn{U¶m| H$mo {b{IE& [21]
A) A§Vam©ï´>r¶ ̂ mfm
~) ^mfm A{O©V g§n{Îm h¡
H$) I‹S>r~mobr H$m n[aM¶
S>) XoeO eãXm| H$m n[aM¶
B) ZmJar {b{n H$s d¡km{ZH$Vm
’$) XodZmJar {b{n H$m gm‘mÝ¶ n[aM¶

[Total No. of Pages : 2

SEAT No. :

P.T.O.
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à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht gmV ~hþ{dH$pën¶ àíZm| Ho$ C{MV n¶m©¶ {b{IE& [7]
i) ^mfm ........... go gabVm H$s Amoa OmVr h¡&

A) H${R>ZVm ~) ApñWaVm
H$) eha S>) J«m‘rU

ii) ~mobr go ^mfm ................. hmoVr h¡&
A) N>moQ>r ~) g‘mZ
H$) {df‘ S>) ~‹S>r

iii) ^maVr¶ g§{dYmZ Ho$ AZwgma qhXr ............... h¡&
A) g§nH©$ ^mfm ~) amO^mfm
H$) amï´>^mfm S>) ~mobr

iv) ^mfm n[adV©Zerb hmoVr h¡-¶h {dYmZ ............... h¡&
A) ghr ~) JbV
H$) Am{W©H$ S>) Ym{‘©H$

v) npíM‘r qhXr H$s ~mobr H$m Zm‘ ............. h¡&
A) Hw$‘m¶±yZr ~) ‘mbdr
H$) ‘odmVr S>) ~«O

vi) amOñWmZr qhXr H$s ~mobr H$m Zm‘ .............. h¡&
A) ‘¡{Wbr ~) ‘madmS>r
H$) ~«O S>) ^moOnwar

vii) "Q>o~b' eãX ................. h¡&
A) XoeO ~) VËg‘
H$) VX²̂ d S>) {dXoer

viii) qhXr {XZ ................ H$mo ‘Zm¶m OmVm h¡&
A) 15 AJñV ~) 14 {gV§~a
H$) 26 OZdar S>) 1 OZdar

ix) qhXr ^mfm H$m CX²^d .............. go hþAm h¡&
A) g§ñH¥$V ~) A§J«oOr
H$) CXþ© S>) OmnmZr

x) I{S>~mobr H$mo .............. ^r H$hm OmVm h¡&
A) ~m§Jê$ ~) H$m¡adr
H$) npíM‘r qhXr S>) nhmS>r qhXr





Total No. of Questions : 4]

[5961]-655
T.Y. B.A.

PSYCHOLOGY
 DSE - 1D : Experimental Psychology

(2019 Pattern) (Semester - VI) (36221)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3981 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 50 words each. (any four) [20]
a) State the types of research.
b) Write on purposive and judgmental sampling.
c) Write on signle Detection theory.
d) State the sampling errors.
e) Explain the various types of variables.
f) What is scientific research?

Q2) Answer the following questions in 100 words each. (any two) [20]
a) Discuss the various methods of human leaving.
b) Describe the Non-Probability sampling.
c) Define Psychophysics. Explain the Weber’s and Fechner’s laws of

Psychophysics.
d) Discuss the social scientific research.

Q3) Answer the following question in 500 words. (any one) [20]
a) What is hypothesis? Discuss the various types of hypotheses.
b) What is Psychophysics? Discuss the methods of limit.

Q4) Write short notes. (any four) [10]
a) Universal sampling
b) Hull Hypothesis
c) Independent and Dependent variable
d) Partial Learning


P.T.O.
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Total No. of Questions : 4]

[5961]-655
T.Y. B.A.

PSYCHOLOGY
 DSE - 1D : Experimental Psychology

(2019 Pattern) (Semester - VI) (36221)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-3981

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [20]
A) g§emoYZmMo àH$ma ñnï> H$am.
~) ghoVyH$ d {ZU©¶r Z‘wZm M¶Z ¶mda {bhm.
H$) g§Ho$V emoY CnnÎmr ¶mda {bhm.
S>) Z‘wZm à‘ma ñnï> H$am.
B) n[adË¶m©Mo {d{dY àH$ma ñnï> H$am.
’$) emñÌr¶ g§emoYZ åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) ‘mZdr AÜ¶¶ZmÀ¶m {d{dY nÕVtda MMm© H$am.
~) Ag§̂ mì¶Vm Z‘wZm M¶Z ñnï> H$am.
H$) ‘Zmô m¡{VH$sMr ì¶m»¶m X¶m. do~g© Am{U ’o$H$Za ¶m§Mo ‘Zmô m¡{VH$s¶ {Z¶‘ ñnï> H$am.
S>) gm‘m{OH$ emñÌr¶ g§emoYZmda MMm© H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 500 eãXm§V {bhm. (H$moUVohr EH$) [20]
A) Aä¶wnJ‘ åhUOo H$m¶? Aä¶wnJ‘mÀ¶m {d{dY àH$mam§da MMm© H$am.
~) ‘Zmô m¡{VH$ åhOUo H$m¶? ‘¶m©Xm nÕVrda MMm© H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]
A) {díd Z‘wZm
~) A^oX Aä¶wnJ‘
H$) ñdV§Ì d Adb§~r n[adË¶©
S>) A§erH$ qH$dm njr¶ AÜ¶¶Z





Total No. of Questions : 4]

[5961]-656
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
 DSE - 2D S - 4 Modern Warfare

(2019 Pattern) (CBCS) (Semester - VI) (36272)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3982 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 100 words each (any three) [5×3=15]
a) What is environmental warfare?
b) State the Objectives of Star War.
c) What is electronic warfare?
d) State the Objectives of Information warfare.
e) State the Means of Economic warfare.

Q2) Answer the following question in 300 words each (any one) [1×15=15]
a) Explain in detail the effect of Nuclear Warfare.
b) State the detail effect of Environmental warfare.

Q3) Answer the following questions in 200 words each (any two) [2×10=20]
a) Explain in detail Origin and Development of Nuclear Warfare.
b) State the Nature and scope of electronic warfare?
c) State the means and methods of Economic warfare.
d) State the source and effects of Information warfare.

Q4) Write short notes (any four) [4×5=20]
a) Modern Warfare
b) Types of warfare
c) Technology of warfare
d) Nature of Environmental warfare
e) Concept of Space Warfare
f) Information warfare


P.T.O.
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Total No. of Questions : 4]

[5961]-656
T.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
 DSE - 2B S - 4 Modern Warfare

(2019 Pattern) (CBCS) (Semester - VI) (36272)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3982

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [3×5=15]
A) n¶m©daUr¶ ¶wÕ nÕVr åhUOo H$m¶?
~) A§Vami ¶wÕ nÕVrMo C{Ôï>o gm§Jm?
H$) Bbo³Q´>m°{ZH$ ¶wÕ nÕVr åhUOo H$m¶?
B) ‘m{hVr ¶wÕmMr C{Ôï>o gm§Jm.
’$) Am{W©H$ ¶wÕmMr gmYZo gm§Jm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr EH$) [1×15=15]
A) AmpÊdH$ ¶wÕnÕVrMo n[aUm‘ g{dñVa ñnï> H$am.
~) n¶m©daUr¶ ¶wÕnÕVrMo n[aUm‘ g{dñVa gm§Jm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [2×10=20]
A) AmpÊdH$ ¶wÕ nÕVrMr CËnÎmr Am{U {dH$mg g{dñVa ñnï> H$am.
~) Bbo³Q´>m°{ZH$ ¶wÕ nÕVrMo ñdê$n Am{U ì¶már gm§Jm.
H$) Am{W©H$ ¶wÕmMo gmYZo Am{U nÕVr gm§Jm.
S>) ‘m{hVr ¶wÕ nÕVrMo òmoV Am{U n[aUm‘ gm§Jm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]
A) AmYw{ZH$ ¶wÕ nÕVr
~) ¶wÕ nÕVrMo àH$ma
H$) ¶wÕ nÕVrMo V§ÌkmZ
S>) n¶m©daUr¶ ¶wÕmMo ñdê$n
B) A§Vami ¶wÕmMr g§H$ënZm
’$) ‘m{hVr ¶wÕ nÕVr





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-657
T.Y. B.A. (Semester - VI)
DSE - 2D : SOCIOLOGY

S - 4 : Indian Society : Changes and Challenges
(2019 Pattern) (CBCS) (36372)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3949

Q1) Write short notes on (Any Three) : [15]

a) Urbanization

b) Alternative media

c) Transnational investment

d) Ethics in private Health Sector

e) Slums

Q2) Answer the following questions in 50 words each (Any Three) : [15]

a) Write any two Impact of Urban garbage problem.

b) Write in brief the role of media in social movement.

c) Write a nature of Health System in India.

d) Elaborate two reasons of Unequal development in Urban area.

e) Explain role of media in post-truth era.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in 200 words each (Any Two) : [20]

a) Elaborate challenges of online teaching.

b) Explain reasons of commercialization of media.

c) Elaborate pollution in Civic Society.

d) Elaborate Challenges of Democracy in India.

Q4) Answer the following questions in 300 words (Any One) : [20]

a) Describe features and Issues of New Education Policy.

b) Explain Issues of Transport and water in civic society.


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Total No. of Questions : 4]

[5961]-657
T.Y. B.A. (Semester - VI)
DSE - 2D : SOCIOLOGY

S - 4 : Indian Society : Changes and Challenges
(2019 Pattern) (CBCS) (36372)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3949

àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) eharH$aU

~) n`m©̀ r _mÜ`_o

H$) amï´>m§VrV Jw§VdUyH$

S>) ImOJr Amamo½` joÌmVrb Z¡{VH$Vm

B) PmonS>nÅ>r

àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUË`mhr VrZ) [15]

A) ehamVrb H$Mam g_ñ òMo XmoZ n[aUm_ {bhm.

~) gm_m{OH$ Midit_Yrb _mÜ`_m§Mr ŷ{_H$m WmoS>Š`mV {bhm.

H$) ^maVmVrb Amamo½` ì`dñWoMo ñdê$n {bhm.

S>) eham§À`m Ag_mZ {dH$mgmMr XmoZ H$maUo {deX H$am.

B) gË`moÎma H$mimVrb _mÜ`_m§Mr ŷ{_H$m ñnï> H$am.

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUË`mhr XmoZ) [20]

A) Am°ZbmB©Z AÜ`mnZmMr AmìhmZo {deX H$am.

~) _mÜ`_m§À`m ì`mnmar H$aUmMr H$maUo ñnï> H$am.

H$) ZmJar g_mOmVrb àXþfU {deX H$am.

S>) ^maVr` bmoH$emhr nwT>rb AmìhmZo {deX H$am.

àíZ 4) Imbrb àíZm§Mo CÎma 300 eãXm§V {bhm. (H$moUVohr EH$) [20]

A) ZdrZ e¡j{UH$ YmoaUmMo d¡{eï>ço Am{U g_ñ`m§Mo dU©Z H$am.

~) ZmJar g_mOmVrb dmhVwH$ d nmUr àíZm§Mr H$maUo ñnï> H$am.





[5961]-658        
T.Y.B.A.
URDU

CC-1F : Urdu Fiction : Study of Dastan & Afsana
(CBCS 2019 Pattern) (Semester-VI) (Paper - IV) (36073)

Time :2½ Hours] [Max. Marks : 70

                                               
             

[10]   


 

[15]  




[10]   




[15]    




P.T.O.

PA-3954

Total No. of Questions : 5]

[Total No. of Pages :2

SEAT No. :



[20]   
 a

 b

 c

 d

 (e

 (f
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Total No. of Questions : 4]

[5961]-659
T.Y. B.A.

ANTHROPOLOGY
CC-1F : Movements and Social Reforms in Maharashtra

(2019 CBCS Pattern) (Semester - VI) (36193)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3985 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on any three of the following. [15]
a) Rajarshi Shahu Maharaj - Social Reforms Movement.
b) V.D. Savarkar - Political Movement.
c) Dr. Babasaheb Ambedkar - Educational Reforms.
d) Dalit Panthers - Protest Movement.
e) Contribution of Maharshi Karve in Educational Movement.

Q2) Answer any three of the following questions in 50 words each. [15]
a) What is protest movement?
b) Write in brief the role of social Reformist.
c) Elaborate the contribution of tribals in political movement.
d) Explain the contribution of G.G. Agarkar in social Reform movement.
e) Explain the Ethnic movement as a political movement.

Q3) Answer any two of the following questions in 200 words each. [20]
a) Elaborate the work of Gadatai Parulekar for warli tribes.
b) Explain the History of social Reforms movement in Maharashtra.
c) Describe the Ek. Gaon - EK - Panvatha movement.
d) Explain the contribution of Maharshi Shinde in social Reforms Movement.

Q4) Answer any one of the following question in 300 words. [20]
a) Discuss the contribution of Mahatma Phule and Savitribai Phule in

Educational field.
b) Explain the contribution of scheduled castes and women in political

movement.


P.T.O.
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Total No. of Questions : 4]

[5961]-659
T.Y. B.A.

ANTHROPOLOGY
CC-1F : Movements and Social Reforms in Maharashtra

(2019 CBCS Pattern) (Semester - VI) (36193)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3985

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) amOfu emhþ‘hmamO - gm‘m{OH$ gwYmaUm Midi
~) {d.Xm. gmdaH$a - amOH$s¶ Midi
H$) S>m°. ~m~mgmho~ Am§~oS>H$a - e¡j{UH$ gwYmaUm
S>) X{bV n°ÝWa - à{VH$ma Midi
B) ‘hfu H$d} ¶m§Mo e¡j{UH$ MidirVrb ¶moJXmZ

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]
A) à{VH$ma Midi åhUOo H$m¶?
~) gm‘m{OH$ gwYmaH$m§Mr ŷ{‘H$m WmoS>³¶mV {bhm.
H$) amOH$s¶ MidirVrb Am{XdmgtMo ¶moJXmZ {deX H$am.
S>) gm‘m{OH$ gwYmaUm MidirVrb Jmo.J. AmJaH$a ¶m§Mo ¶moJXmZ ñnï> H$am.
B) dm§{eH$ Midi EH$ amOH$s¶ Midi åhUyZ ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVhr XmoZ)  [20]
A) JmoXmVmB© nê$ioH$amMo dmabr O‘mVrgmR>rMo H$m¶© {deX H$am.
~) ‘hmamï´>mVrb gm‘m{OH$ gwYmaUm MidirMm B{Vhmg ñnï> H$am.
H$) EH$Jmd-EH$ nmUdR>m MidirMo dU©Z H$am.
S>) ‘hfu qeXo ¶m§Mo gm‘m{OH$ gwYmaUm MidirVrb ¶moJXmZ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZmMo CÎma 300 eãXm§V {bhm. (H$moUVmhr EH$) [20]
A) ‘hmË‘m ’w$bo Am{U gm{d{Ì~mB© ’w$bo ¶m§Mo e¡j{UH$ joÌmVrb ¶moJXmZmMr g{dñVa MMm© H$am.
~) amOH$s¶ MidirVrb AZwgy{MV OmVr Am{U {ñÌ¶m§Mo AgUmao ¶moJXmZ ñnï> H$am.





Total No. of Questions : 5]

[5961]-660
T.Y. B.A.

HINDI (qhXr)
CC-1F (G-3) : à¶moOZ‘ybH$ qhXr ‘mÜ¶‘ boIZ

(2019 Pattern) (CBCS) (Semester - VI) (36094)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZm … 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

PA-3986

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) OZg§Mma ‘mÜ¶‘ H$m ñdê$n ñnï> H$s{OE&

~) Ñí¶ ‘mÜ¶‘ H$s AdYmaUm ñnï> H$s{OE&

H$) lì¶ ‘mÜ¶‘ ³¶m h¡? {dñVma go ~VmBE&

S>) à¶moOZ‘ybH$ qhXr H$m AW© Am¡a ñdê$n ~VmBE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) à{VdoXZ H$m AW© VWm ñdê$n H$mo ñnï> H$s{OE&

~) n¥ð>g‚mm (‘oH$-An) Ho$ {d{dY A§J {dñVma go ~VmBE&

H$) à{VdoXZ Ho$ {bE gm‘J«r H$m g§¶moOZ Ed§ n¥ð> {ZYm©aU H¡$go {H$¶m OmVm h¡?

S>) à{VdoXZ H$m H$bmnj Ed§ ‘wÐU H$mo AnZo eãXm| ‘| ~VmBE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) g§Mma H«$m§{V Ed§ gyMZm àm¡Úmo{JH$s ³¶m h¡-{dñVma go g‘PmBE&

~) {d{^Þ joÌm| ‘| gyMZm àm¡Úmo{JH$s H$s CnmXo¶Vm H$m g§{já n[aM¶ Xr{OE&

H$) B©-g§gmYZm| H$s gr‘mE± ñnï> H$s{OE&

S>) gm¶~a {ejm ³¶m h¡? ¶h ~VmVo hþE CgH$s Cn¶mo{JVm {b{IE&

[Total No. of Pages : 2

SEAT No. :

P.T.O.
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à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht VrZ na {Q>ßnUr {b{IE& [21]

A) OZg§Mma Ho$ àH$ma&

~) Ñí¶ ‘mÜ¶‘ ‘| à¶wº$ ^mfm&

H$) à{VdoXZ H$s {d{dY n[a^mfmE±&

S>) à{VdoXZ H$m àmê$n&

B) B©-H°$e VWm {S>{OQ>b hñVmja&

’$) B©-H$m°‘g©

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$gr EH$ àíZ H$m CÎma {b{IE& [7]

A) Ñí¶ ‘mÜ¶‘ Ho$ {bE g‘mMma boIZ H¡$go {H$¶m OmVm h¡?

~) à{VdoXZ ‘| erf©H$ H¡$go {ZYm©[aV {H$¶m OmVm h¡- {dñVma go ~VmBE&

H$) ZoQ> ~±qH$J Am¡a Am^mgr H$jm ³¶m h¡?





Q1) Answer any Three of the following questions in 50 words. [15]

a) Explain the concept of statistical model.

b) Define natural sciences with examples.

c) What is a common-sense explanation?

d) Explain the means of inductive.

e) What are social institutions in social sciences?

Q2) Write short notes on any Three of the following in 50 words. [15]

a) Functional Model

b) Derivative Laws

c) Value-neutrality

d) Social sciences

e) Laws of nature

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-661
T.Y. B.A. (Logic)

G3 : Logic and Principles of Reasoning
CC-1F : Logic and Methodology of Science - II

(2019 Pattern) (Semester - VI) (36363)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3987

SEAT No. :

P.T.O.
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Q3) Answer Two of the following questions in 200 words. [20]

a) Explain the Classification of Laws of Nature.

b) What is objectivity? Explain in detail.

c) Explain D.N. model of scientific explanation.

Q4) Answer any One of the following questions in 400 words. [20]

a) Explain in detail the primary and secondary Laws.

b) Elaborately explain the teleological and probabilistic model of scientific
explanation.





Total No. of Questions : 4]

[5961]-661
T.Y. B.A. (Logic)

G3 : Logic and Principles of Reasoning
CC-1F : Logic and Methodology of Science - II

(2019 Pattern) (Semester - VI) (36363)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àýn{ÌH$m nhmdr.

PA-3987

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZVrZVrZVrZVrZ àým§Mr CÎmao 50 eãXmV {bhm. [15]

A) g§»`mË_H$ àmê$nMr g§H$ënZm {deX H$am.

~) Z¡g{J©H$ emóo åhUOo H$m` ho CXmhaUmgh ñnï> H$am.

H$) ì`mdmhm[aH$ ñnï>rH$aU åhUOo H$m`?

S>) {dJ_Z gmYZo H$moUVr ñnï> H$am.

B) gm_m{OH$ emómVrb gm_m{OH$ g§ñWm åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZVrZVrZVrZVrZ Q>rnm 50 eãXmV {bhm. [15]

A) H$m`m©Ë_H$ àmê$n

~) VØd {Z`_

H$) _yë`{ZanojVm

S>) gm_m{OH$ emóo

B) {ZgJ© {Z`_

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZXmoZXmoZXmoZXmoZ àým§Mr CÎma 200 eãXmV {bhm. [20]

A) {ZgJ© {Z`_m§Mo dJuH$aU {deX H$am.

~) dñVy{Zð>Vm åhUOo H$m` g{dñVa {deX H$am.

H$) d¡km{ZH$ ñnï>rH$aUmMo {ZJm_r {Z`_mË_H$ àmê$n gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$mEH$mEH$mEH$mEH$m àým§Mr CÎma 400 eãXmV {bhm. [20]

A) _wb ŷV d Xþæ`_ {Z`_ g{dñVa ñnï> H$am.

~) d¡km{ZH$ ñnï>rH$aUmMo à`moOZmË_H$ d g§̂ mì`mË_H$ àmê$n g{dñVa {deX H$am.





Total No. of Questions : 3]

[Total No. of Pages : 1

[5961]-662
T.Y. B.A.

qhXr (HINDI)
SEC - 2D : SKILL ENHANCEMENT COURSE

nmR²>¶M¶m©: gm{hË¶ Am¡a {’$ë‘m§VaU
(2019 Pattern) (Semester - VI) (36096)

doi : 2 K§Q>o]                      [nyUmªH$ : 25
gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¡&

PA-3988

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) {gZo‘m H$s n[a^mfm XoVo hþE CgHo$ ñdê$n na àH$me S>m{bE&
~) qhXr ’$sMa [’$ë‘m| Ho$ àH$ma {b{IE&
H$) qhXr {gZo‘m Ho$ H$WmZH$ VÎd H$m n[aM¶ Xr{OE&
S>) B³H$sgdt gXr Ho$ qhXr {gZo‘m H$m ~XbVm ñdê$n {deX H$s{OE&

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) {’$ë‘m§VaU H$m ‘hÎd ñnï> H$s{OE&
~) "gmam AmH$me' CnÝ¶mg H$m {’$ë‘m§H$Z H¡$go {H$¶m J¶m h¡?
H$) "gX²J{V' {’$ë‘ H$m g§{já n[aM¶ {b{IE&
S>) "{MÌboIm' {’$ë‘ H$s H$Wm AnZo eãXm| ‘| {b{IE&

àíZ 3) {ZåZ{b{IV ‘| go {H$gr EH$ {df¶ na {Q>ßnUr {b{IE& [5]
A) gm{hË¶ Am¡a {gZo‘m&
~) gm{hË¶ Ho$ {’$ë‘m§VaU H$s Amdí¶H$Vm&



SEAT No. :



Q1) Answer the following questions in one to two sentence each. (Any Eight)[16]
i) State the defination of foreign Investment.
ii) What is the foreign Trade?
iii) What is the protective Trade policy?
iv) Write the full form of FEMA.
v) What is the foreign exchange Rate?
vi) State the defination of flexible exchange Rate?
vii) What is Export Promotion?
viii) Write the full form of SAARC.
ix) State the name of BRICS members.
x) State two objectives of European Economic community.

Q2) Write the answer to the following questions in brief. (any four) [16]
i) Explain the structure of India’s Export.
ii) Explain the concept of foreign Investment.
iii) Explain the concept of convertibility of the Rupee.
iv) State the problems of SAARC Association.
v) State the functions of BRICS Association.
vi) State the merits of Flexible Exchange Rate.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-663
T.Y. B.A.

(36151) : INTERNATIONAL ECONOMICS - II
(2019 Pattern) (CBCS) (Special Paper-III) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All Questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

PA-3989
SEAT No. :

P.T.O.
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Q3) Write the answer to the following questions in 100 words. (Any Three) [18]
i) Explain the features of Special Economic zones.
ii) Explain the types of foreign Investment.
iii) State the functions of foreign exchange market.
iv) Explain the functions of world Trade Organisation.

Q4) Write the answer to the following questions in 200 words each. (Any Two)[20]
i) What is Free Trade Policy? Explain the Arguments in Favour of and

against free trade policy.
ii) Explain the Role of foreign capital in economic development.
iii) What is fixed Exchange Rate? Explain the merits and demerits of fixed

exchange Rate.





Total No. of Questions : 4]

[5961]-663
T.Y. B.A.

(36151) : INTERNATIONAL ECONOMICS - II
(2019 Pattern) (CBCS) (Special Paper-III) (Semester - VI)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ  gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) Amdí¶H$ Ë¶m {R>H$mUr gw~H$ AmH¥$Ë¶m H$mT>m.

4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrb àíZm§Mr CÎmao EH$ Vo XmoZ dm³¶mV {bhm. (H$moUVohr AmR>) [16]
i) naH$s¶ Jw§VdUyH$sMr ì¶m»¶m gm§Jm.
ii) {dXoer ì¶mnma åhUOo H$m¶?
iii) g§a{jV ì¶mnma YmoaU åhUOo H$m¶?
iv) ’o$‘mMo (FEMA) Mo nyU© ê$n {bhm.
v) naH$s¶ {d{Z‘¶ Xa åhUOo H$m¶?
vi) ~XbË¶m {d{Z‘¶ XamMr ì¶m»¶m gm§Jm.
vii) {Z¶m©V àmoËgmhZ åhUOo H$m¶?
viii) gmH©$Mo nyU©ê$n Úm.
ix) {~«³g g^mgX Xoem§Mr Zmdo gm§Jm.
x) ¶wamo{n¶Z Am{W©H$ g‘wXm¶mMr XmoZ C{Ôï>¶o gm§Jm.

àíZ 2) WmoS>³¶mV CÎmao Úm. (H$moUVohr Mma) [16]
i) ^maVmÀ¶m {Z¶m©V ì¶mnmamMr aMZm ñnï> H$am.
ii) naH$s¶ Jw§VdUyH$sMr g§H$ënZm ñnï> H$am.
iii) ê$n¶mMr n[adV©{Z¶Vm hr g§H$ënZm ñnï> H$am.
iv) gmH©$ g§KQ>ZonwT>rb g‘ñ¶m gm§Jm.
v) {~«³g g§KQ>ZoMr H$m¶©o gm§Jm.
vi) ~XbË¶m {d{Z‘¶ XamMo JwU gm§Jm.

3

PA-3989

P.T.O.
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àíZ 3) 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]
i) {deof Am{W©H$ joÌ YmoaUmMr d¡{eï>¶o ñnï> H$am.
ii) naH$s¶ Jw§VdUyH$sMo àH$ma ñnï> H$am.
iii) naH$s¶ {d{Z‘¶ ~mOmamMr H$m¶©o gm§Jm.
iv) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶©o ñnï> H$am.

àíZ 4) 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
i) ‘wº$ ì¶mnma YmoaU åhUOo H$m¶? ‘wº$ ì¶mnma YmoaUmÀ¶m ~mOwMo Am{U {damoYr ¶w{º$dmX

ñnï> H$am.
ii) Am{W©H$ {dH$mgmV naH$s¶ ^m§S>dbmMr ŷ{‘H$m ñnï> H$am.
iii) pñWa {d{Z‘¶ Xa åhUOo H$m¶? pñWa {d{Z‘¶ XamMo JwU-Xmof ñnï> H$am.

.





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-664
T. Y. B.A.
HISTORY

DSE - 2D : CONSTITUTIONAL DEVELOPMENT IN INDIA
(1858-1950)

(2019 Pattern) (Semester - VI) (36173)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3990

Q1) Answer the following questions in 300 words (Any one) : [15]
a) Discuss the important provisions of Government of India Act, 1858 and

state its significance in the constitutional History of India.
OR

b) Explain the background and provisions of the Morley-Minto Amendment
Act, 1909.

Q2) Answer the following questions in 300 words (Any one) : [15]
a) State the salient features of Government of India Act, 1935.

OR
b) State the salient features of the Indian constitution.

Q3) Answer the following questions in 200 words (Any two) : [20]
a) Explain the causes and provisions of the India Act, 1891.
b) Explain the provisions and effect of the Montagu Chelmsford Reforms

Act, 1919.
c) Explain informations about working of provincial Autonomy.
d) Describe the circumstances that led to the sending of Cripps Mission to

India.

SEAT No. :

P.T.O.
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Q4) Short notes (Any Four) : [20]

a) Provisions of the Act of 1861.

b) Montague’s Declaration of August 1917.

c) Nehru Report.

d) First Round Table Conference.

e) Wavell plan.

f) Mountbatten Plan.


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Total No. of Questions : 4]

[5961]-664
T. Y. B.A.

B{Vhmg (HISTORY)
DSE - 2D : ̂ maVmMm KQ>ZmË‘H$ {dH$mg (1858 Vo 1950)

(2019 Pattern) (Semester - VI) (36173)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb AmH$S>o nwU© JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr 300 eãXm§V CÎma X¶m (H$moUVmhr EH$) : [15]
A) B.g. 1858 À¶m ̂ maV{df¶H$ H$m¶X¶mVrb ‘hËdmÀ¶m VaVwXtMr MMm© H$am Am{U ̂ maVmÀ¶m

KQ>ZmË‘H$ B{VhmgmVrb Ë¶mMo ‘hÎd gm§Jm

qH$dm

~) B.g. 1909 À¶m ‘mob} - q‘Q>mo gwYmaUm H$m¶X¶mMr nmíd©̂ y‘r Am{U VaVwXr ñnï> H$am.

àíZ 2) Imbrb àíZm§Mr 300 eãXm§V CÎma X¶m (H$moUVmhr EH$) : [15]
A) B.g. 1935 À¶m ^maV{df¶H$ H$m¶X¶mMr R>iH$ d¡{eï>¶ gm§Jm.

qH$dm

~) ^maVr¶ amÁ¶KQ>ZoMr R>iH$ d¡{eï>¶ gm§Jm.

àíZ 3) Imbrb àíZm§Mo 200 eãXm§V CÎma X¶m (H$moUVohr XmoZ) : [20]
A) B.g. 1891 À¶m ^maV{df¶H$ H$m¶X¶mMr H$maUo Am{U VaVwXr ñnï> H$am.

~) B.g. 1919 À¶m ‘m±Q>o½¶y - Moåg’$moS>© gwYmaUm H$m¶X¶mMr VaVwXr Am{U n[aUm‘ ñnï>
H$am.

H$) àm§Vr¶ ñdm¶VÎmm gÎmoÀ¶m H$m‘H$mS>m{df¶r ‘m{hVr ñnï> H$am.

S>) {H«$ßg {‘eZ ^maVmV nmR>{dÊ¶mg H$maUr ŷV Pmboë¶m n[apñWVrMo dU©Z H$am.

PA-3990

P.T.O.
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àíZ 4) Q>rnm {bhm (H$moUVohr Mma) : [20]
A) B.g. 1861 À¶m H$m¶X¶mVrb VaVwXr.

~) Am°JñQ> 1917 Mr ‘m±Q>o½¶y KmofUm.

H$) Zohê$ Ahdmb.

S>) n{hbr Jmob‘oS>m n[afX

B) d°ìhob ¶moOZm

’$) ‘mD§$Q>~°Q>Z ¶moOZm.





Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-665
T.Y. B.A. (Semester - VI)

MARATHI (_amR>r)
{deofñVa Aä`mgn{ÌH$m

dU©ZmË_H$ ^mfm {dkmZ : ^mJ - 2
(2019 Pattern) (DSE - 2D) (36022)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3991

àíZ 1) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 50 eãXm§n ª̀V {bhm. [10]

A) ^m{gH$ ê$n Am{U ê${nH$m `m g§H$ënZm gmoXmhaU ñnï> H$am.

~) nX~§YmÀ`m g§X^m©Vrb Am§V[aH$ ñW°̀ © d ~mø ñdmV§Í` åhUOo H$m`?

H$) "^mdna AW©' åhUOo H$m`? gmoXmhaU ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) ê${nH$m Am{U eãX `m g§H$ënZm ñnï> H$ê$Z Xmohm|_Yrb \$aH$ ñnï> H$am.

~) ê${n_m§Mo àH$ma H$moUVo? gmoXmhaU ñnï> H$am.

H$) ê${nH$m-ê${n_-ê${nH$mÝVa `m g§H$ënZm ñnï> H$am.

àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) dmŠ` åhUOo H$m` ho gm§JyZ dmŠ`mVrb CÔoe d {dYò  `m g§H$ënZm ñnï> H$am.

~) ^mfoV AgUmè`m dmŠ`-aMZm§Mo àH$ma {dñVmanyd©H$ {bhm.

H$) dmŠ`aMZoÀ`m g§X^m©V dmŠ`mMr d¡{eï>ço ñnï> H$am.

P.T.O.

SEAT No. :
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àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) eãXmWm©da AmYm[aV Agbobo AW© {gÕm§V H$moUVo? gmoXmhaU ñnï> H$am.

~) "eãX' `m nmVirda AWm©Mo H$moUVo àH$ma H$pënbo OmVmV? gmoXmhaU ñnï> H$am.

H$) "AW©{dÝ`mg' g§H$ënZoMm {dñVmanyd©H$ n[aM` H$ê$Z ¿`m.





Q1) Answer any one question of the following in 200 words : [10]

a) Explain the formation of Samyukta Maharashtra.

b) Discuss on rethinking of Bilingual Bombay State.

Q2) Answer any one of the following question in 200 words : [10]

a) State the aftermath of the Samyukta Maharashtra movement on the
politics of Maharashtra.

b) What is Regional imbalance? Explain the demond of separate Vidarbha.

Q3) Write short note (any one) : [5]

a) Marathwada Vikas Andolan.

b) Regional Development Board.



Total No. of Questions : 3]
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Total No. of Questions : 3]

[5961]-666
T.Y. B.A.

POLITICAL SCIENCE
SEC-2D : Samyukta Maharashtra Movement

(2019 Pattern) (Semester - VI) (Extra Credit) (36165)
(_amR>r ê$nm§Va)

doi :  2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3992

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) g§̀ wŠV _hmamï´>mMr {Z{_©Vr ñnï> H$am.

~) {Û^m{fH$ _w§~B© amÁ`mMm nwZ{d©Mma `mda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) g§̀ wŠV _hmamï´> MidirMo _hmamï´>mÀ`m amOH$maUmdarb n[aUm_ gm§Jm.

~) àmXo{eH$ Ag_Vmob åhUOo H$m`? Vo gm§JyZ ñdV§Ì {dX ©̂ amÁ`mMr _mJUr ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm. (H$moUVrhr EH$) … [5]

A) _amR>dmS>m {dH$mg Am§XmobZ

~) àmXo{eH$ {dH$mg _§S>io


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Q1) Answer the following (Any 1) : [10]

a) Explain process and types of decision making with example.

b) Explain meaning of self-esteem. Discuss advantages of and tips to
achieve positive self-esteem.

Q2) Answer the following (Any 1) : [10]

a) Discuss 360-degree assessment.

b) What is communication? Explain non-verbal communication with
examples.

Q3) Answer the following (Any 1) : [5]

a) Explain dangers of negative self-esteem.

b) Write barriers to communication.



Total No. of Questions : 3]

[Total No. of Pages : 2
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Total No. of Questions : 3]

[5961]-667
T.Y. B.A.

PSYCHOLOGY
SEC 2D : Personality Development - II
(2019 Pattern) (Semester - VI) (36224)

(_amR>r ê$nm§Va)
doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3955

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao {bhm (H$moUVmhr 1) [10]

A) {ZU©̀  à{H«$`m d Ë`mMo àH$ma CXmhaUmgh ñnï> H$am.

~) AmË_AmXa ñnï> H$am. gH$mamË_H$ AmË_AmXa gmÜ`H$aÊ`mÀ`m `wŠË`m d \$m`Xo ñnï>
H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao {bhm (H$moUVmhr 1) [10]

A) 360° _wë`m§H$ZmMr MMm© H$am.

~) g§dmX åhUOo H$m`? A^m{fH$ g§dmX CXmhaUo XodyZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao {bhm (H$moUVmhr 1) [5]

A) ZH$mamË_H$ AmË_AmXamMo YmoHo$ ñnï> H$am.

~) g§dmXmVrb AS>Wio {bhm.


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Q1) Write short note (Any three) : [15]

a) Meaning of case study.

b) Advantages of interview techniques.

c) Precautions for writing research report.

d) Nature of Survey

e) Closed form of questionnaire.

Q2) Answer the following questions in 50 words each (Any three) : [15]

a) Describe the steps in case study method.

b) Write any three types of interview techniques.

c) Discuss the use of narratives in data analysis.

d) State the advantages of survey method.

e) Explain the concept of dispersion.

Total No. of Questions : 4]

[Total No. of Pages : 4
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T.Y. B.A.
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Q3) Answer the following questions in 200 words each (Any two) : [20]

a) Describe the disadvantages of case study.

b) Discuss the types of observation.

c) Explain steps in writing research report.

d) Differentiate between quantitative and qualitative research.

Q4) Answer the following questions in 300 words each (Any one) : [20]

a) Explain questionnaire as a technique of data collection. Describe the
advantages and disadvantages of questionnaire.

b) Elucidate the use of photographs, tables, graphs and histograms in
data analysis.





Total No. of Questions : 4]

[5961]-668
T.Y. B.A.

SOCIOLOGY
DSE-1D : Techniques of Social Research

(2019 Pattern) (CBCS) (Semester - VI) (36371)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3994

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ {Q>nm {bhm. [15]

A) ì`ï>r AÜ``ZmMm AW©

~) _wbmIV nÕVrMo \$m`Xo

H$) Ahdmb boIZ H$aVmZm ¿`md`mMr H$miOr

S>) gd}jUmMo ñdê$n

B) ~§{XñV àíZmdbr

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]

A) ì`ï>r AÜ``Z nÕVrVrb nm`è`m ñnï> H$am.

~) _wbmIV V§ÌmMo H$moUVohr VrZ àH$ma {bhm.

H$) VÏ` {díbofUmV H$WZmMm Cn`moJ `mda MMm© H$am.

S>) gd}jU V§ÌmMo \$m`Xo gm§Jm.

B) An{H$aUmMr g§H$ënZm ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr 200 eãXm§V CÎmao {bhm. [20]

A) ì`ï>r AÜ``ZmMo VmoQ>o {deX H$am.

~) {ZarjUmÀ`m {d{dY àH$mam§da MMm© H$am.

H$) Ahdmb boIZmVrb nm`è`m ñnï> H$am.

S>) g§»`mË_H$ d JwUmË_H$ g§emoYZmVrb \$aH$ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [20]

A) "àíZmdbr-VÏ` g§H$bZmMo EH$ V§Ì' åhUyZ ñnï> H$am. àíZmdbrMo \$m`Xo d VmoQ>o {deX
H$am.

~) VÏ` {díbofUmV N>m`m{MÌo, gmaUr, AmboI, Am{U ñV§̂ mboI `m§Mm Cn`moJ ñnï> H$am.





Total No. of Questions : 3]
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Instructions to the candidates:
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SEAT No. :

Q1) Answer any one question in 200 words: [10]

a) Discuss on the formation of Samyukta Maharashtra.

b) Explain the retbinking on the Bilingual Bombay State.

Q2) Answer any one question in 200 words: [10]

a) Discuss the aftermath of the formation of Samyukta Maharashtra.

b) Explain the demand of seperate Vidarbha state and discuss on
Marathwada Vikas Andolan.

Q3) Write short notes (any one): [5]

a) Regional dispartities.

b) Regional Statutory Development Boards.



P.T.O.
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Total No. of Questions : 3]

[5961]-669
T.Y. B.A.

POLITICAL SCIENCE & PUBLIC ADMINISTRATION
SEC - 2D : Samyukta Maharashtra Movement
(2019 Credit Pattern) (Semester - VI) (36447)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3956

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) g§¶wº$ ‘hmamï´>mÀ¶m {Z{‘©Vrda MMm© H$am.

~) {Û^m{fH$ ‘w§~B© amÁ¶mMm nwZ©{dMma hr g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) g§¶wº$ ‘hmamï´>mÀ¶m {Z{‘©VrZ§VaMo ‘hmamï´>mÀ¶m amOH$maUmdarb n[aUm‘m§Mm ‘mJmodm ¿¶m.

~) ñdV§Ì {dX ©̂ amÁ¶mMr ‘mJUr ñnï> H$ê$Z ‘amR>dmS>m {dH$mg Am§XmobZmda MMm© H$am.

à.à.à.à.à.3) {Q>nm {bhm. (’$º$ EH$) [5]

A) àmXo{eH$ Ag‘Vmob

~) àmXo{eH$ {dH$mg ‘§S>io





àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 50 eãXmV {bhm. [10]

A) g§V VwH$mam_m§À`m AmË_M[aÌ na A §̂Jm§Mm WmoS>Š`mV Am‹T>mdm ¿`m.

~) n§{S>V H$dr _moamon§V `m§À`m Am`m©̂ maV J«§Wm{df`r WmoS>Š`mV {bhm.

H$) ~Ia dmL²>_`mMr d¡{eï> ò WmoS>Š`mV {bhm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n ª̀V {bhm. [20]

A) noedoH$mbrZ gm§ñH¥${VH$ nmíd©̂ y_rMm g{dñVa Am‹T>mdm> ¿`m.

~) g§V VwH$mam_m§À`m A §̂Jm§Mr d¡{eï²> ò gmoXmhaU ñnï> H$am.

H$) g§V am_Xmgm§À`m "Xmg~moY' d "H$ê$Umï>Ho$' `m gm{hË` aMZo{df`r g{dñVa {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n ª̀V {bhm. [20]

A) n§{S>Vr dmL²>_`mÀ`m àoaUm d àd¥Îmr gmoXmhaU ñnï> H$am.

~) emhra am_Omoer d à^mH$a `m§À`m em{har dmL²>_`mMo ñdê$n {deX H$am.

H$) dm_Z n§{S>V `m§Mo dmL²>_`rZ H$V©¥Îd gmoXmhaU ñnï> H$am.

P.T.O.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-670
T.Y. B.A.

_amR>r (MARATHI)

DSE 1D : _Ü``wJrZ _amR>r dmL²>_`mMm ñWyb B{Vhmg
(B.g. 1601 Vo B.g. 1817)

(2019 Pattern) (Semester - VI) (36021)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3996
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àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n ©̀V {bhm. [20]

A) ~Ia dmL²>_`mMo ñdê$n ñnï> H$am.

~) _ëhma am_amd {MQ>Urg {b{IV "{edN>ÌnVtMo gáàH$aUmË_H$ M[aÌ' ̀ m ~IarMm n[aM`
H$ê$Z Úm.

H$) AmkmnÌmVrb Ama_ma d XþJmª{df`r N>ÌnVr {edmOr _hmamOm§Mo {dMma ñnï> H$am.





Total No. of Questions : 5]
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[5961]-671
T.Y. B.A.

qhXr (HINDI)
DSE - 1D (S -3) : qhXr gm{hË` H$m B{Vhmg

(AmYw{ZH$ H$mb H$m gm_mÝ` n[aM`)
(2019 Pattern) (Semester - VI) (36091)

g‘¶ : 2½ KÊQ>o]                      [nyUmªH$ : 70
gyMZmE± :- 1) g^r àíZ A{Zdm¶© h¢ &

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢ &

SEAT No. :

P.T.O.

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) AmYw{ZH$ H$mb H$s gm_m{OH$ n[apñW{V H$s MMm© H$s{OE &

~) ^maV|Xþ̀ wJrZ H$mì` H$s gm_mÝ` {deofVmAm| H$mo ñnï> H$s{OE &

H$) {ÛdoXr ẁJrZ H$mì`Ymam H$s àd¥{Îm`m± {b{IE &

S>) ~{ÐZmam`U Mm¡Yar "ào_YZ' H$m ì`{ŠVËd ñnï> H$s{OE &

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) N>m`mdmX H$m AW© ~VmH$a {d{^ÝZ n[a^mfmE± {b{IE &

~) H${d gỳ ©H$m§V {ÌnmR>r {Zambm H$m gm_mÝ` n[aM` Xr{OE &

H$) à`moJdmXr H$mì`Ymam _| Akò  Ho$ `moJXmZ H$mo ñnï> H$s{OE &

S>) à`moJdmXr H$mì` H$s à_wI {deofVmE± {b{IE &
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àíZ 3) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) qhXr JÚ H$m CØd Am¡a {dH$mg ñnï> H$s{OE &

~) qhXr CnÝ`mg gm{hË` _| ào_M§X Ho$ `moJXmZ H$mo ñnï> H$s{OE &

H$) qhXr Ho$ {dH$mg _| \$moQ>© {d{b`_ H$m°boO Ho$ `moJXmZ H$m n[aM` Xr{OE &

S>) àgmX ẁJrZ ZmQ>H$ gm{hË` na MMm© H$s{OE &

àíZ 4) {Q>ßn{U`m± {b{IE : (6 _| go 3) [21]

A) A`moÜ`mqgh CnmÜ`m` "h[aAm¡Y'

~) ^maV|Xþ h[aíM§Ð

H$) H${d am_Ymarqgh {XZH$a

S>) AmYw{ZH$ _ram "_hmXodr d_m©'

B) àgmXmoÎma ZmQ>H$

B©) \$moQ>© {d{b`_ H$m°boO

àíZ 5) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| _| go {H$Ýht gmV àíZm| Ho$ CÎma {b{IE & [7]

i) AmYw{ZH$ H$mb H$m àma§̂  {H$g ẁJ go _mZm OmVm h¡?

A) àgmX `wJ ~) ^maV|Xþ `wJ

H$) ^{ŠVH$mb S>) à`moJdmXr ẁJ

ii) I‹S>r~mobr _| {bIm nhbm I§S>H$mì` h¡ -

A) H$m_m`Zr ~) nX²_mdV

H$) gamoO ñ_¥{V S>) O`ÐW dY

iii) ^maV|Xþ̀ wJrZ H$mì` H$s à_wI àd¥{Îm h¡ -

A) Xoe^{ŠV ~) H¥$îU^{ŠV

H$) am_^{ŠV S>) jUdm{XVm

iv) "gmHo$V' aMZm Ho$ aMZmH$ma H$m¡Z h¡?

A) O`e§H$a àgmX ~) O¡Z|Ð

H$) ào_M§X S>) _¡{WbreaU Jwá
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v) lÕm Am¡a BS>m {H$g aMZm Ho$ nmÌ h¢?

A) nëbd ~) H$m_m`Zr

H$) gmHo$V S>) A§Ym ẁJ

vi) O`e§H$a àgmX {H$g H$mì`Ymam Ho$ H${d h¡?

A) ^{ŠVH$mb ~) ar{VH$mb

H$) N>m`mdmX S>) à`moJdmX

vii) VmagáH$ H$m àH$meZ H$~ hþAm?

A) gZ² 1943 ~) gZ² 1919

H$) gZ² 1990 S>) gZ² 1980

viii) qhXr JÚ H$m {dH$mg {H$g H$mbI§S> _| hþAm?

A) Am{XH$mb ~) AmYw{ZH$ H$mb

H$) ^{ŠVH$mb S>) ar{VH$mb

ix) \$moQ>© {d{b`_ H$m°boO H$s ñWmnZm {H$g eha _| hþB©?

A) ~§Jmb ~) _w§~B©

H$) {Xëbr S>) H$mobH$mVm

x) ZmQ>H$ gm{hË` ............... H$mbI§S> H$s {dYm h¡ &

A) àmMrZ H$mb ~) l¥§Jma H$mb

H$) AmYw{ZH$ H$mb S>) ^{ŠVH$mb


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Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3998

Q1) Attempt any Eight of the following, each answer in 20 words. [16]
a) Which are the merits of Bureaucracy?
b) Write the meaning of Promotion.
c) Meaning of the indirect recruitment.
d) Meaning of the informal training.
e) Which are two budgets presented in India?
f) Write the defination of Bureaucracy.
g) Write the meaning of Administrative Accountability.
h) Who is the piaoneer of Management Science?
i) Which method of recruitment applied in modern India?
j) Write the longform of UPSC?

Q2) Attempt any Four short notes of the following, each in 50 words.
[16]

a) Merits of direct recruitment.
b) Pre-entry training.
c) Age of retirement.
d) Comptroller and Auditor General of India.
e) Question Hour.
f) Interview.

SEAT No. :

P.T.O.
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Q3) Attempt any Three of the following, each answer in 100 words.
[18]

a) Write basic types of examination.
b) Write the features of Bureaucracy.
c) Write the demerits of Direct Recruitment.
d) Write the ordinary criterians of qualification.

Q4) Attempt any Two of the following, each answer in 200 words.
[20]

a) Describe the Budgetary Process in India.
b) Describe the types of Training.
c) Write the merits of Bureaucracy.


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Total No. of Questions : 4]

[5961]-672
T.Y. B.A. (Semester - VI)
POLITICAL SCIENCE

DSE - 1D : Public Administration
(2019 Pattern) (CBCS) (36161)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nmhmdr.

àíZ 1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. [16]
A) ZmoH$aemhrMo JwU H$moUVo?
~) ~T>VrMm AW© {bhm.

H$) AàË¶j ^aVr åhUOo H$m¶?
S>) Am¡nMm[aH$ à{ejU åhUOo H$m¶?
B) ^maVmV H$moUVo XmoZ AW©g§H$ën ‘m§S>bo OmVmV?
’$) ZmoH$aemhrMr ì¶m»¶m {bhm.

¶) àemgH$s¶ CÎmaXm{¶ËdmMm AW© {bhm.
a) ì¶dñWmnZ emñÌmMm AmÚ àUoVm H$moU Amho?
b) AmYw{ZH$ ^maVmV nX^aVrMr H$moUVr nÕVr Adb§~br OmVo?

d) ¶ynrEggrMo XrK©ê$n {bhm.

àíZ 2) Imbrbn¡H$s H$moUË¶mhr Mma Q>rnm àË¶oH$s 50 eãXm§V {bhm. [16]
A) àË¶j ^aVrMo JwU.
~) àdoenyd© à{ejU.
H$) godm{Zd¥ÎmrMo d¶.

S>) ^maVmMm ‘hmboImn[ajH$.
B>) àíZmoÎmamMm Vmg.
’$) Vm|S>r narjm.

PA-3998

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. [18]

A) narjoMo ‘yb ŷV àH$ma {bhm.

~) ZmoH$aemhrMr d¡{eð>¶o {bhm.

H$) àË¶j ^aVrMo Xmof {bhm.

S>) nmÌVm R>a{dÊ¶mMo gm‘mÝ¶ {ZH$f {bhm.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr àË¶oH$s 200 eãXm§V CÎmao {bhm. [20]

A) ^maVmVrb A§XmOnÌH$mMr à{H«$¶m ñnï> H$am.

~) à{ejUmMo àH$ma ñnï> H$am.

H$) ZmoH$aemhrMo JwU {bhm.





Q1) Attempt any One of the following in about 150 words. [10]

a) What is the importance of life values in one's life?

b) Explain any five significant human values.

Q2) Attempt any One of the following in about 150 words. [10]

a) State the importance of professional values at workplace.

b) What are the psychological values? State it's importance in one's life.

Q3) Attempt any One of the following in about 50 words. [5]

a) Write a short note on 'Aesthetic Values'.

b) Explain the ethical values in brief.



Total No. of Questions : 3]

[Total No. of Pages : 1

[5961]-673
T.Y. B.A.

ENGLISH
SEC -2D : Mastering Life Skills and Life Values
(2019 Pattern) (CBCS) (Semester - VI) (36334)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-3999

SEAT No. :
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Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-674
T.Y. B.A.
_amR>r

G-3 CC-1F : ì`mdhm[aH$ d Cn`mo{OV _amR>r ^mJ - VI
(2019 Pattern) (Semester - VI) (36024)

doi :  2½ Vmg     ] [ EHy$U JwU : 70

gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

PA-4000

SEAT No. :

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) nwT>rbn¡H$s H$moUË`mhr Mma àíZm§Mr CÎmao {bhm. [20]

A) Zdg_mO_mÜ`_o åhUOo H$m` Vo gm§JyZ Ë`m§Mm n[aM` Úm.

~) nma§nmarH$ g_mO_mÜ`_o åhUOo H$m` Vo gm§JyZ Ë`m§Mm n[aM` Úm.

H$) g§{hVmboIZ åhUOo H$m`? Vo gm§JyZ H$moUË`m àgma_mÜ`_m§gmR>r g§{hVm boIZ H$amdo bmJVo
Vo gm§Jm.

S>) AZwXrZrboIZ (ãbm°JboIZ) åhUOo H$m`? Vo gm§JyZ Vo Hw$R>o Ho$bo OmVo Vo {bhm.

B) Om{hamV åhUOo H$m` Vo gm§JyZ {VMm hoVy gm§Jm.

\$) d¥ÎmnÌmVrb Om{hamVr_Yrb R>iH$ KQ>H$ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) nwT>rbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm. [20]

A) {MÌnQ> narjU H$aVmZm {MÌnQ>mVrb H$moUË`m Jmoï>tda àH$me Q>mH$bm OmVmo Vo {bhm.

~) _m{bH$m narjU d {MÌnQ> narjU `mVrb gmå` ôX ñnï> H$am.

H$) Vwåhmbm AmdS>boë`m H$moUË`mhr _amR>r {MÌnQ>mMo Z_wZm narjU d¥ÎmnÌmgmR>r H$am.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm. [20]

A) ãbm°J boIZmMr aMZm H$er AgVo Vo {bhm.

~) H$moU-H$moUË`m KQ>H$m§_wio d¥ÎmnÌr` Om{hamV AmH$f©H$ d dmMZr` Ho$br OmVo Vo {bhm.

H$) Zdg_mO_mÜ`_m§Mm g_mO OrdZmda hmoUmè`m Mm§Jë`m, dmB©Q> n[aUm_m§Mr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [10]

A) nma§nmarH$ g_mO_mÜ`_o d Zdg_mO_mÜ`_o `m§À`mVrb gmå` ôX ñnï> H$am.

~) Om{hamV boIZm _Yrb _Wim, Vnerb d KmofdmŠ` `m§Mo _hËd CXmhaUmgh ñnï> H$am.





Q1) Answer the Following Questions in 100 words each (Any Three) : [15]

a) What are the aims of Non-alignment Movement.

b) State the India's Look East.

c) What is the objective of India’s East Look policy?

d) State the India’s maritime policy.

e) State the Act East policy.

Q2) Answer the Following Questions in 300 words each (Any one) : [15]

a) Explain the India’s role in the Non-Aligned Movement.

b) Describe the relation India and Nepal.

Q3) Answer the Following Questions in 200 words each (Any Two) : [20]

a) State the Russia’s role in South Asia.

b) State the historical background of India’s policy in South Asia.

c) Explain the Defense agreement between India and Russia.

d) Explain the America role in South Asia.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-675
T.Y. B.A.

DEFENCE & STRATEGIC STUDIES
G-3 : India's National Security Policy and Strategy - II

(2019 Pattern) (Semester - VI) (36273)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4001

SEAT No. :
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Q4) Write Short notes (Any Four) : [20]

a) Objectives of the Non-Aligned Movement

b) India’s Naval Strategy

c) Strategic importance of the Indian Ocean

d) Meaning of Non-alignment

e) Aims of India’s East Look policy

f) India and Bhutan





Total No. of Questions : 4]

[5961]-675
T.Y. B.A.

DEFENCE & STRATEGIC STUDIES
G-3 : India's National Security Policy and Strategy - II

(2019 Pattern) (Semester - VI) (36273)
(_amR>r ê$nm§Va)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PA-4001

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMr CÎmao àË òH$s 100 eãXmV {bhm. (H$moUVohr VrZ) … [15]

A) A{báVm MidirMo hoVy H$moUVo?

~) ^maVmMo nyd}H$S>o nhm YmoaU gm§Jm.

H$) ^maVmMo nyd}H$S>o nhm YmoaUmMo CÔoe H$moUVo?

S>) ^maVmMo gmJar YmoaU gm§Jm.

B) H$m`Xm nyd© YmoaU gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMr CÎmao àË òH$s 300 eãXmV {bhm. (H$moUVohr EH$) … [15]

A) A{báVm MidirV ^maVmMr ŷ{_H$m ñnï> H$am.

~) ^maV d Zonmi g§~§Y {deX H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) … [20]

A) X{jU Am{e`mV a{e`mMr ŷ{_H$m gm§Jm.

~) ^maVmÀ`m X{jU Am{e`mVrb YmoaUmMr Eo{Vhm{gH$ nmœ©̂ y_r gm§Jm.

H$) ^maV d a{e`m g§ajU H$ama ñnï> H$am.

S>) X{jU Am{e`mV A_o[aHo$Mr ŷ{_H$m ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm (H$moUVohr Mma) … [20]

A) A{báVm MidirMr C{Xï>o

~) ^maVmMo Zm{dH$ S>mdnoM

H$) qhXr _hmgmJmamMo gm_[aH$ _hËd

S>) A{báVoMm AW©

B) ^maVmMo nyd}H$S>o nhm YmoaUmMo hoVy

\$) ^maV d ŷVmZ





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-676
T.Y. B.A. (Semester - VI)

GEOGRAPHY
CC-1F GG - 310(B) : Geography of Tourism - II

(2019 Pattern) (CBCS) (36205)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams.
4) Use of map stencils is allowed.

PA-4002

Q1) Write the answer of questions about 20 words each (any eight) : [16]
a) State any two types of Government accommodation.
b) Define Motels.
c) Write any two cultural impact of tourism.
d) Write two names of folk dance in India.
e) Write two functions of Indian Tourism Development Corporation.
f) Where is the headquarter of Maharashtra Tourism Development

Corporation.
g) Which is the first tourist districts in Maharashtra.
h) Give any two 'Hill Station' in North India.
i) Write two Characteristics of Tajmahal Tourist Centre.
j) Write any two historical forts in Maharashtra.

Q2) Write the answer of the questions about 50 words each (any three):[18]
a) Kaziranga National Park.
b) Tourism and Basic infrastructure development.
c) Traditional Art.
d) Dharmashalas.

SEAT No. :

P.T.O.
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Q3) Write the answer of the questions about 150 words each (any two) :[16]
a) Role of accommodation in tourism development.
b) Write information about world tourism organizations.
c) Write the impact of tourism on environment.

Q4) Write the answer of the questions about 300 words each. (any one) [20]
a) Write in detail the type of accommodation.
b) Write the social and cultural effects of tourism.


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Total No. of Questions : 4]

[5961]-676
T.Y. B.A. (Semester - VI)

GEOGRAPHY
CC-1F GG - 310(B) : Geography of Tourism - II

(2019 Pattern) (CBCS) (36205)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ Amdí`H$.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí`H$ VoWo gy~H$ AmH¥$Ë`m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4002

àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]
A) emgH$s` {ZdmgñWmZmMo XmoZ àH$ma {bhm.
~) _moQ>oëgMr ì`m»`m {bhm.
H$) n ©̀Q>ZmMo XmoZ gm§ñH¥${VH$ n[aUm_ {bhm.
S>) ^maVmVrb XmoZ nma§nmarH$ Z¥Ë`mMr Zmdo {bhm.
B) ^maVr` n ©̀Q>Z {dH$mg _hm_§S>imMo XmoZ H$m ©̀ {bhm.
\$) _hmamï´> n ©̀Q>Z {dH$mg _hm_§S>imMo _y»`mb` H$moR>o Amho.
`) _hmamï´>mVrb n{hbm n ©̀Q>Z {Oëhm H$moUVm Amho.
a) CÎma ^maVmVrb XmoZ W§S> hdoMr {R>H$mUo {bhm.
b) VmO_hb n ©̀Q>Z H|$ÐmMr XmoZ d¡{eîQ>ço {bhm.
d) _hmamï´>mVrb H$moUVohr XmoZ Eo{VhmgrH$ {H$ëbm`m§Mr Zmdo {bhm.

àíZ 2) àË òH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr VrZ) [18]
A) H$mPra§Jm amï´>r` CÚmZ
~) n ©̀Q>Z Am{U nm`m ŷV gy{dYm§Mm {dH$mg
H$) nma§nmarH$ H$bm
S>) Y_©emim

P.T.O.
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àíZ 3) Imbrb àíZm§Mr àË òH$s 150 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]
A) n ©̀Q>Z {dH$mgmV {ZdmgñWmZmMr ŷ{_H$m {bhm.

~) OmJ{VH$ n ©̀Q>Z {dH$mg g§KQ>ZoMr _m{hVr {bhm.

H$) n ©̀Q>ZmMm n`m©daUmda H$m` à^md nS>Vmo?

àíZ 4) Imbrb àíZm§Mr àË òH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]
A) {ZdmgñWmZmMo àH$ma g{dñVa {bhm.

~) n ©̀Q>ZmMo gm_m{OH$ d gm§ñH¥${VH$ n[aUm_ {bhm.





Q1) Answer any eight of the following questions (in 20 words) : [16]
i) What is non-alignment?
ii) Who started NAM?
iii) What is human rights?
iv) What is LPG?
v) Write the definition of liberalization.
vi) Give two names of terrorist organizations.
vii) What is south-south cooperation?
viii) Why colonialism was adopted?
ix) Give two names of environmental organizations.
x) What is poverty?

Q2) Write any four of the following short notes (in 50 words) : [16]
i) International Terrorism.
ii) Neo colonialism.
iii) Globalization
iv) North - South Divide
v) Development
vi) Privatization

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-677
T.Y. B.A.

POLITICAL SCIENCE
DSE - 2D : International Relations

(2019 Pattern) (CBCS) (Semester - VI) (36162)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4003
SEAT No. :

P.T.O.
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Q3) Answer any three of the following questions (in 100 words) : [18]
i) Write the nature of New International Economic order.
ii) Explain the importance of human rights.
iii) State the basic principles of Non-alignment.
iv) Explain the environmental issues.

Q4) Answer any two of the following questions (in 200 words) : [20]
i) Discuss on non-alignment movement.
ii) Explain the consequences of globalization.
iii) Discuss on poverty and hunger.





Total No. of Questions : 4]

[5961]-677
T.Y. B.A.

POLITICAL SCIENCE
DSE - 2D : International Relations

(2019 Pattern) (CBCS) (Semester - VI) (36162)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ  gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V>) [16]
i) A{báVmdmX åhUOo H$m¶?
ii) A{báVmdmX MidirMr gwê$dmV H$moUr Ho$br?
iii) ‘mZdr h³H$ åhUOo H$m¶?
iv) LPG åhUOo H$m¶?
v) CXmarH$aUmMr ì¶m»¶m {bhm.
vi) XmoZ XheVdmXr g§KQ>Zm§Mr Zmdo {bhm.
vii) X{jU - X{jU ghH$m¶© åhUOo H$m¶?
viii) dgmhVdmXmMm ñdrH$ma H$m Ho$bm Jobm?
ix) XmoZ n¶m©daUdmXr g§KQ>Zm§Mr Zmdo {bhm.
x) Xm[aÐ¶ åhUOo H$m¶?

àíZ 2) Imbrbn¡H$s H$moUË¶mhr Mma Q>rnm {bhm. (50 eãXm§V) [16]
i) Am§Vaamï´>r¶ XheVdmX.
ii) Zd-dgmhVdmX.
iii) OmJ{VH$sH$aU
iv) CÎma - X{jU g§Kf©
v) {dH$mg
vi) ImOJrH$aU

3

PA-4003
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àíZ 3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]
i) ZdrZ Am§Vaamï´>r¶ Am{W©H$ ì¶dñWoMo ñdê$n ñnï> H$am.

ii) ‘mZdr h³H$m§Mo ‘hËd {deX H$am.

iii) A{báVmdmXmMr ‘yb ŷV VËdo gm§Jm.

iv) n¶m©daUmMo àíZ ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

i) A{báVmdmX Midirda MMm© H$am.

ii) OmJ{VH$sH$aUmMo n[aUm‘ ñnï> H$am.

iii) Xm[aÐ¶ Am{U ŷH$ ¶mda MMm© H$am.

.





Q1) Answer the following questions in 300 words (Any one) [15]

a) Explain the application of History in various subjects.

OR

b) Review the rise and development of newspapers in India.

Q2) Answer the following questions in 300 words (Any one) [15]

a) Review the archival sources of medieval India.

OR

b) Discuss the rise and development of archeology in India.

Q3) Answer the following questions in 200 words (Any two) [20]

a) Review the major archives of Maharashtra.

b) Write in detail about natural heritage sites in India.

c) Explain the nature and importance of Historical museum.

d) Explain the beginning and expansion of Television in India.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-678
T.Y. B.A.

HISTORY
36171 : Applied History

(2019 Pattern) (CBCS) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4004

SEAT No. :

P.T.O.
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Q4) Write a short note. (Any four) [20]

a) Characteristics of contemporary History.

b) James prinsep

c) Mumbai Archives

d) World heritage committee

e) Balshastri Jambhekar

f) Youtube





Total No. of Questions : 4]

[5961]-678
T.Y. B.A.
B{Vhmg

36171 : Cn`mo{OV B{Vhmg
(2019 Pattern) (CBCS) (Semester - VI)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-4004

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXmV CÎma Xçm. (H$moUVmhr EH$) [15]

A) B{VhmgmMo {d{dY {df`mVrb Cn`moOZ ñnï> H$am.

qH$dm

~) ^maVmVrb d¥ÎmnÌm§À`m CX` d {dH$mgmMm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXmV CÎmao Xçm. (H$moUVmhr EH$) [15]

A) _Ü` ẁJrZ ^maVmÀ`m nwam{^boIr` gmYZm§Mm AmT>mdm ¿`m.

qH$dm

~) ^maVmVrb nwamVËdemómÀ`m CX` d {dH$mgmMr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 200 eãXmV CÎma Xçm. (H$moUVohr XmoZ) [20]

A) _hmamï´>mVrb à_wI nwam{^boImJmam§Mm AmT>mdm ¿`m.

~) ^maVmVrb Z¡gJuH$ dmagm ñWim~X²Xb g{dñVa {bhm.

H$) Eo{VhmgrH$ g§J«hmb`mMo ñdén d _hËd ñnï> H$am.

S>) ^maVmVrb XÿaXe©Z Mm àma§̂  d {dñVma ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Q>rn {bhm. (H$moUVohr Mma) [20]

A) g_H$mbrZ B{VhmgmMr d¡{eð>o

~) Ooåg {àÝgon

H$) _w§~B© nwam{^boImJma

S>) OmJVrH$ dmagm g{_Vr

B) ~miemñÌr Om§̂ oH$a

\$) ỳ-Q>çy~





Q1) Answer the following questions in 300 words (Any one) [15]

a) Discuss the contribution of Greek civilization.

OR

b) Describe Art, Architecture and religion in Roman Civilization.

Q2) Answer the following questions in 300 words (Any one) [15]

a) Narrate the contribution of Arab Civilization.

OR

b) Give the importance of World Heritage sites.

Q3) Answer the following questions in 200 words (Any two) [20]

a) Write short note on Feudalism.

b) Write about the Renaissance period.

c) Define contribution of Arabs to Philosophy.

d) Write importance of the church in the culture of the Ancient World.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-679
T.Y. B.A.

HISTORY OF CIVILIZATION
World Civilization (Part - II)

(2019 Pattern) (Semester - VI) (36175)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4005

SEAT No. :

P.T.O.
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Q4) Short Notes. (Any four) [20]

a) What is Civilization?

b) Colipha

c) Itza - maxico

d) Great Wall of China

e) Petra - Jordon

f) Taj - Mahal - India





Total No. of Questions : 4]

[5961]-679
T.Y. B.A.

HISTORY OF CIVILIZATION
World Civilization (Part - II)

(2019 Pattern) (Semester - VI) (36175)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-4005

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo 300 eãXmV CÎma Xçm. (H$moUVmhr EH$) [15]

A) J«rH$ g§ñH¥$VrÀ`m `moJXmZmMr MMm© H$am.

qH$dm

~) amo_Z g§ñH¥$VrVrb H$bm, ñWmnË` Am{U Y_© {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXmV CÎmao Xçm. (H$moUVmhr EH$) [15]

A) Aa~ gä`VoÀ`m `moJXmZmMr _mhrVr gm§Jm.

qH$dm

~) OmJ{VH$ dmagm ñWim§Mo _hËd gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mo 200 eãXmV CÎma Xçm. (H$moUVohr XmoZ) [20]

A) ga§Om_emhrda WmoS>Š`mV Q>rn {bhm.

~) nwZ©OmJaU H$mbI§S>m{df`r _mhrVr gm§Jm.

H$) VËdmkmZm_Yrb Aa~m§Mo `moJXmZ n[a^mfrV H$am.

S>) OmJVrH$ gä`VoÀ`m g§ñH¥$VrV MM©Mo _hËd {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Q>rn {bhm. (H$moUË`mhr Mma) [20]

A) g§ñH¥$Vr åhUOo H$m`?

~) I{b\$m

H$) BQ>Pm - _oŠgrH$mo

S>) {MZMr ^tV

B) noQ´>m - Om°S>©Z

\$) VmO_hb - ^maV





Q1) Attempt any three of the following questions: [15]

a) Attempt a character sketch of Catherine in A Farewell to Arms.

b) Comment on the ending of A Farewell to Arms.

c) How does Ernest Hemingway reflect the horrors of war in A Farewell
to Arms?

d) Elaborate the theme of love and pain in A Farewell to Arms.

e) Define symbolism in A Farewell to Arms.

Q2) Attempt any three of the following questions: [15]

a) What is the conflict in A Farewell to Arms?

b) What is the impact of war on religion in A Farewell to Arms?

c) How does Rinaldi support Frederic Henry to escape from war?

d) Write a note on the beginning of the novel A Farewell to Arms.

e) Elaborate the significance of the title A Farewell to Arms.

Total No. of Questions : 5]

[Total No. of Pages : 2

[5961]-680
T.Y. B.A.

ENGLISH
DSE -1D : Appreciating Novel

(2019 Pattern) (Semester - VI) (36331)
  Texts : 1)    A Farewell to Arms - Ernest Hemingway

        2)    The  Painter of Signs - R.K. Narayan
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-4006

SEAT No. :

P.T.O.
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Q3) Attempt any three of the following questions: [15]

a) Attempt a character sketch of Raman as an artist.

b) Explain the rustic elements reflected in The Painter of Signs.

c) 'Love can withstand every difficulty'. Justify this comment with
reference to the love relationship of Raman and Daisy.

d) Comment on the narrative techniques used in The Painter of Signs.

e) Write a note on the ending of The Painter of Signs.

Q4) Attempt any three of the following questions: [15]

a) Write a note on Daisy as a modern woman in the contemporary age.

b) Attempt a character sketch of Raman's aunt, Lakshmi.

c) How does Daisy escape from Raman's advances during their return
journey?

d) Do you think The Painter of Signs is a romantic tragedy? Justify.

e) Comment on the theme of tradition and modernity reflected in The
Painter of Signs.

Q5) Attempt any one of the following questions: [10]

a) Compare and contract the male characters-

 Frederic and Raman in A Farewell to Arms and The Painter of Sings.

b) Which one is a deeper tragedy-

 The Painter of Signs or A Farewell to Arms? Discuss.





Total No. of Questions : 4]

[5961]-681
T.Y. B.A.

GEOGRAPHY
DSE-1D Gg 320 B : Geography of India - II

(2019 Pattern) (CBCS) (Semester - VI) (36201)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagram and sketches wherever necessary.
4) Use of Map stencils is allowed.

PA-4007 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in about 20 words each (any Eight) [16]

a) Write the names of two dialects of Hindi language.

b) Write the names of two Buddha religions places in India.

c) What is religion?

d) Which is the longest national highway in India?

e) State two uses of radio broadcasting.

f) State two limitations of water transportation.

g) Write two examples of renewable resources.

h) State two types of coal.

i) Write two good effects of green revolution.

j) What is blue revolution?

Q2) Answer the following questions in about 50 words each (any three) [18]

a) Teaching or Sikh religion.

b) Television and national integration.

c) Significance of hydroelectricity in India.

d) Problems of sugar industries in India.
P.T.O.
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Q3) Answer the following questions in about 150 words each (any two) [16]

a) Write the information of important language families in India.

b) Explain the distribution of Iron-ore in India.

c) State the problems and solutions of agriculture in India.

Q4) Answer the following questions in about 300 words each. (any one) [20]

a) Describe the Philosophy of Islam religion, explain the impact of Islam
on social and political life of people in India.

b) Explain the importance of various transportation modes in the Socio-
Economic and regional development of India.


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Total No. of Questions : 4]

[5961]-681
T.Y. B.A.

GEOGRAPHY
DSE-1D Gg 320 B : Geography of India - II

(2019 Pattern) (CBCS) (Semester - VI) (36201)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nwU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>oÝgrb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘wi B§J«Or àíZnÌrH$m nmhmdr.

PA-4007

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) qhXr ^mfoÀ¶m H$moUË¶mhr XmoZ ~mobr^mfm§Mr Zmdo {bhm.

~) ^maVmVrb XmoZ ~m¡Õ Y‘©ñWim§Mr Zmdo {bhm.

H$) Y‘© åhUOo H$m¶?

S>) ^maVmVrb gdm©V OmñV bm§~rMm amï´>r¶ ‘hm‘mJ© H$moUVm Amho?

B) aoS>rAmo àgmaUmMo XmoZ Cn¶moJ gm§Jm.

’$) ObdmhVwH$sÀ¶m XmoZ ‘¶m©Xm gm§Jm.

¶) nwZZ©drH$aUr¶ g§nXm§Mr XmoZ CXmhaUo {bhm.

a) XJS>r H$moiemMo XmoZ àH$ma gm§Jm.

b) h[aVH«$mÝVrMo XmoZ Mm§Jbo n[aUm‘ {bhm.

d) ZrbH«$m§Vr åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) {eI Y‘m©Mr {eH$dU

~) Xÿa{MÌdmUr d amï´>r¶ EH$mË‘Vm

H$) ^maVmVrb Ob{dX²¶wV CO}Mo ‘hÎd

S>) ^maVmVrb gmIa CX²¶moJmÀ¶m g‘ñ¶m
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 150 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb à‘wI ^mfm g‘whm§Mr ‘m{hVr {bhm.

~) ^maVmVrb bmohI{ZOm§Mo {dVaU ñnï> H$am.

H$) ^maVmVrb eoVrÀ¶m g‘ñ¶m d Cnm¶ gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]

A) Bñbm‘ Y‘m©Mo VËdkmZ dU©Z H$ê$Z ^maVr¶ bmoH$m§À¶m gm‘m{OH$ d amOH$s¶ OrdZmdarb
Bñbm‘Mm à^md ñnï> H$am.

~) {d{dY dmhVwH$ gmYZm§Mo ^maVmÀ¶m gm‘m{OH$, Am{W©H$ Am{U àmXo{eH$ {dH$mgmVrb ‘hËd ñnï>
H$am.





Q1) Write short note (Any three) : [15]

a) Right to Information

b) Aadhar Card

c) Equity

d) Rights of Aged

e) Human Rights

Q2) Answer the following questions in 50 words each (Any Three) : [15]

a) Preamble to the constitution of India

b) Discuss Rights of health

c) Right to privacy

d) Explain the meaning of social justice

e) Human Rights in Indian Constitution

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-682
T.Y. B.A.

SOCIOLOGY
G-3 : Introduction to Human Rights and Social Justice

(2019 Pattern) (CBCS) (Semester - VI) (36373)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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SEAT No. :
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Q3) Answer the following questions in 200 words each (Any two) : [20]

a) Explain the Rights of minorities in India.

b) Elaborate the characteristics of Human Rights.

c) Discuss the Rights of differently able.

d) Explain the importance of Right to information.

Q4) Answer the following questions in 300 words each (Any one) : [20]

a) What is social justice? Explain importance of Social Justice in Indian
Caste System?

b) Elaborate the importance of social justice and Human Rights?





Total No. of Questions : 4]

[5961]-682
T.Y. B.A.

SOCIOLOGY
G-3 : Introduction to Human Rights and Social Justice

(2019 Pattern) (CBCS) (Semester - VI) (36373)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4263

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) _m{hVrMm A{YH$ma

~) AmYma H$mS>©

H$) {Z… njnmVrnUm

S>) d`ñH$/d¥Õm§Mo hŠH$

B) _mZdr hŠH$

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) ^maVr` g§{dYmZmMr àñVmdZm

~) Amamo½`mÀ`m hŠH$m{df`r MMm© H$am.

H$) JmonZr`VoMm A{YH$ma

S>) gm_m{OH$ Ý`m`mMm AW© ñnï> H$am.

B) ^maVr` g§{dYmZmVrb _mZdr hŠH$

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ^maVmVrb Aëng§»`mH$m§Mo hŠH$ ñnï> H$am.

~) _mZdr hŠH$m§Mo d¡{eï>`o {deX H$am.

H$) {Xì`mJm§À`m hŠH$m§Mr MMm© H$am.

S>) _m{hVrÀ`m A{YH$mamMo _hËd ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVmhr EH$) [20]

A) gm_m{OH$ Ý`m` åhUOo H$m`? ̂ maVr` Om{Vì`dñWoV gm_m{OH$ Ý`m`mMo _hËd ñnï> H$am?

~) gm_m{OH$ Ý`m` Am{U _mZdr hŠH$mMo _hËd {deX H$am?





Total No. of Questions : 3]

[5961]-683
T.Y. B.A.

HISTORY
SEC-2D (2) : Heritage Management

(2019 Pattern) (Semester - VI) (36176)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4009 [Total No. of Pages : 2

SEAT No. :

Q1) Write the answers to the following questions in 200 words. (Any one) [10]

a) State the information about world Heritage sites in India.

OR

b) What is National Heritage? Explain its importance.

Q2) Write the answers to the following questions in 200 words (Any one) [10]

a) Explain the role of Government in Heritage conservation.

OR

b) Explain the importance of Ajantha as a world Heritage.

Q3) Write short notes. (Any one) [05]

a) Konark Sun Temple.

b) National Heritage.



P.T.O.
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Total No. of Questions : 3]

[5961]-683
T.Y. B.A.

HISTORY
SEC-2D (2) : Heritage Management

(2019 Pattern) (Semester - VI) (36176)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.
2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-4009

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]

A) ^maVmVrb OmJ{VH$ dmagm ñWim§Mr ‘m{hVr gm§Jm.

qH$dm

~) amï´>r¶ dmagm åhUOo H$m¶? Ë¶mMo ‘hËd {dfX H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr EH$) [10]

A) dmagm g§dY©Zm‘Ü¶o gaH$maMr ŷ{‘H$m gm§Jm.

qH$dm

~) OmJ{VH$ dmagm åhUyZ A§{OR²>>¶mMo ‘hÎd ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) H$moUmH©$ gy¶© ‘§{Xa

~) amï´>r¶ dmagm





Total No. of Questions : 4]

[5961]-684
T.Y. B.A.

HISTORY
DSE - 2D : Maharashtra in 20th Century

(2019 CBCS Pattern) (Semester - VI) (36172)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4010 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 300 words each (any one) [15]
a) Discuss the rise and progress of Non-Brahmin movement.

OR
b) Review the work of Chatrapati Shahu Maharaj.

Q2) Answer the following question in 300 words each (any one) [15]
a) Explain the causes and nature of industrialization Maharashtra in the 20th

century.
OR

b) Take Review at Dalit movement in Maharashtra.

Q3) Answer the following questions in 200 words each (any two) [20]
a) Give a brief account of the united Maharashtra movement in the post-

independence period.
b) Review the social work of Maharshi Vitthal Ramji Shinde.
c) Discuss the womens impowerment work of Maharshi Dhondo Keshav

Karve.
d) Write the information about Co-operative movement in Maharashtra.

Q4) Write the short notes (any Four) [20]
a) Integration of Hyderabad.
b) Problems of cotton Industry.
c) Peasants movements.
d) Pandita Ramabai.
e) Dr. B.R. Ambedkar.


P.T.O.
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Total No. of Questions : 4]

[5961]-684
T.Y. B.A.

HISTORY
DSE - 2D : Maharashtra in 20th Century

(2019 CBCS Pattern) (Semester - VI) (36172)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4010

à.à.à.à.à.1) Imbrb àíZm§Mo 300 eãXm§V CÎmao Úm. (H$moUVohr EH$) [15]
A) ~«m÷UoÎma MidirMm CX¶ Am{U dmQ>Mmb ¶m§Mr MMm© H$am.

qH$dm
~) N>ÌnVr emhþ ‘hmamOm§À¶m H$m¶m©Mm AmT>mdm ¿¶m.

à.à.à.à.à.2) Imbrb àíZm§Mo 300 eãXm§V CÎmao Úm. (H$moUVohr EH$) [15]
A) {dgmì¶m eVmH$mVrb ‘hmamï´>mVrb Am¡Úmo{JH$sH$aUmMr H$maUo d ñdê$n ñnï> H$am.

qH$dm
~) ‘hmamï´>mVrb X{bV MidirMm AmT>mdm ¿¶m.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ñdmV§Í¶moÎma H$mbI§S>mVrb g§¶wº$ ‘hmamï´> MidirMr WmoS>³¶mV ‘m{hVr X¶m.
~) ‘hfu {dR²>R>b am‘Or qeXo ¶m§À¶m gm‘m{OH$ H$m¶m©Mm AmT>mdm ¿¶m.
H$) ‘hfu Ym|S>mo Ho$ed H$d} ¶m§À¶m ñÌrgwYmaUm H$m¶m©Mr MMm© H$am.
S>) ‘hmamï´>mVrb ghH$ma MidirMr ‘m{hVr {bhm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) h¡Ðm~mXMo {d{bZrH$aU
~) ‘hmamO g¶mOramd Jm¶H$dmS>
H$) H$mnS> CÚmoJ g‘ñ¶m
S>) eoVH$ar Midi
B) n§{S>Vm a‘m~mB©
’$) S>m°. ~m~mgmho~ Am§~oS>H$a





Total No. of Questions : 4]

[5961]-685
T.Y. B.A.

POLITICAL SCIENCE
CC - IF : Modern Political Analysis

(2019 CBCS Pattern) (Semester - VI) (36163)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4011 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in 20 words each (any 8) [16]

a) State  any two methods of political participation in a Democratic systesm.

b) State any two level of political participation.

c) State any two factors affecting of political participation.

d) What is a political Elite.

e) What are the two types of political Elite.

f) Define political participation.

g) What is universal Adult suffrage.

h) Define legitimacy.

i) Define political communication.

j) Explain the meaning of Athority.

Q2) Write a short notes in 50 words each (any 4) [16]

a) Differences between political parties and interese groups.

b) Hypnotic supremacy.

c) Legal - Discretionary supremacy.

d) Level of Elite.

e) Decision - making process.

f) Political parties and political communication.

P.T.O.



2[5961]-685

Q3) Answer the following questions in 100 words each (any 3) [18]

a) Discuss News paper as a medium of political communication.

b) Elements affecting on the political participation.

c) How do Socio-Economic conditions affecting Political - Participation.

d) Discuss the aristocracy of Mosca.

Q4) Answer the following question in 200 words each (any 2) [20]

a) What causes the convergence of elites.

b) Discuss the political media.

c) Discuss the origins of Political Power.


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Total No. of Questions : 4]

[5961]-685
T.Y. B.A.

POLITICAL SCIENCE
CC - IF : Modern Political Analysis

(2019 CBCS Pattern) (Semester - VI) (36163)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.

PA-4011

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (’$º$ AmR>) [16]

A) bmoH$emhr ì¶dñWoVrb amOH$s¶ gh^mJmÀ¶m H$moUË¶mhr XmoZ nÕVr gm§Jm.

~) amOH$s¶ gh^mJmMo H$moUVohr XmoZ ñVa gm§Jm.

H$) amOH$s¶ gh^mJmda n[aUm‘ H$aUmao H$moUVohr XmoZ KQ>H$ gm§Jm.

S>) amOH$s¶ loð>rOZ åhUOo H$m¶?

B) amOH$s¶ loð>rOZmMo XmoZ àH$ma H$moUVo AmhoV.

’$) amOH$s¶ gh^mJ… ì¶m»¶m {bhm.

¶) gmd©{ÌH$ àm¡T> ‘Vm{YH$ma åhUOo H$m¶?

a) A{Y‘mÝ¶Vm… ì¶m»¶m {bhm.

b) amOH$s¶ g§gyMZ… ì¶m»¶m {bhm.

d) A{YgÎmm åhUOo H$m¶?

à.à.à.à.à.2) Q>rnm {bhm. (50 eãXm§V) (H$moUVohr Mma) [16]

A) amOH$s¶ nj Am{U {hVg§~§Yr JQ> ¶mVrb ’$aH$

~) g§‘mohH$ A{YgÎmm

H$) {dYr-{ddoH$OÝ¶ A{YgÎmm

S>) A{^OZm§Mo ñVa

B) {ZU©¶ àH«$s¶m

’$) amOH$s¶ nj Am{U amOH$s¶ g§gyMZ
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à.à.à.à.à.3) nwT>rb àíZm§Mr CÎmao 100 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) amOH$s¶ g§gyMZmMo ‘mÜ¶‘ åhUwZ "d¥ÎmnÌ' ¶m ‘mÜ¶‘m§Mr MMm© H$am.
~) amOH$s¶ gh^mJmda n[aUm‘ H$aUmao KQ>H$.
H$) gm‘m{OH$-Am{W©H$ n[apñWVrMm amOH$s¶ gh^mJmda H$gm n[aUm‘ hmoVmo.
S>) "‘moñH$mÀ¶m' A{^OZ {gÕm§VmMr MMm© H$am.

à.à.à.à.à.4) nwT>rb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) A{^OZm§Mo A{^gaU H$moUH$moUË¶m H$maUmZo hmoV AgVo Vo ñnï> H$am.
~) amOH$s¶ g§gyMZ ‘mÜ¶‘m§Mr MMm© H$am.
H$) gmOH$s¶ gÎmoÀ¶m CJ‘ñWmZm§Mr MMm© H$am.


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[5961]-686
T.Y. B.A.

HISTORY
CC-4(3 Credit) India After Independence (1947-1991) 

CC-1F : (2019 Pattern) (Semester - VI) (36174)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3957

Q1) Answer the following question in 300 words (any one) : [15]

a) Analyze the effect of the partition of British India on India.

OR

b) Explain the importance of the Non-Aligned movement in contemporary
Indian foreign policy.

Q2) Answer the following question in 300 words (any one) : [15]

a) Explain the nature and significance of Hindu Code Bill.

OR

b) Explain the main objectives of the Five Year Plan and discuss the success
of the Five Year Plan till 1979.

Q3) Answer the following questions in 200 words. (any two) [20]

a) Highlight the role of Sardar Patel in the integration of Indian states.

b) Give an account of the Indo - Pak war of 1948.

c) Explain the nature and consequences of an Emergency.

d) Review development in the industrial sector in the post-independence
period.

SEAT No. :

P.T.O.
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Q4) Short Notes (any four) [20]
a) Four salient features of the constition of India.
b) Samyukt Maharashtra movement.
c) Panchsheel policy
d) Concept of a mixed economy
e) Rights of women in Hindu Code Bill
f) Privatization


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Total No. of Questions : 4]

[5961]-686
S.Y. B.A.

HISTORY
CC-4(3 Credit) India After Independence (1947-1991)

CC-1F : (2019 Pattern) (Semester - VI) (36174)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-3957

àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [15]

A) {~«{Q>e ^maVmÀ¶m ’$miUrMm ^maVmda H$m¶ n[aUm‘ Pmbm ¶mMo {díbofU H$am.

qH$dm

~) g‘H$mbrZ ^maVmÀ¶m naamï´> YmoaUmVrb A{báVmdmXr MidirMo ‘hÎd {deX H$am.

àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) [15]

A) qhXÿ H$moS> {~bmMo ñdê$n gm§JyZ, ‘hÎd {deX H$am.

qH$dm

~) n§Mdm{f©H$ ¶moOZoMr ‘w»¶ C{Ôï>o ñnï> H$ê$Z, gZ 1979 n¶ªVÀ¶m n§Mdm{f©H$ ¶moOZm§À¶m
¶eàmárMo {ddoMZ H$am.

àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) ^maVr¶ g§ñWmZm§À¶m EH$sH$aUmV gaXma nQ>ob ¶m§Mr ŷ{‘H$m ñnï> H$am.

~) gZ 1948 À¶m ^maV-nmH$ ¶wÕmÀ¶m AmT>mdm ¿¶m.

H$) Am{U~mUrMo ñdê$n Am{U n[aUm‘ ñnï> H$am.

S>) ñdmV§Í¶moÎma H$mimVrb Am¡Úmo{JH$ joÌmV Pmboë¶m {dH$mgmMm AmT>mdm ¿¶m.

P.T.O.
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àíZ 4) Q>rn {bhm. (H$moUË¶mhr Mma) [20]

A) g§{dYmZmMr H$moUVrhr Mma R>iH$ d¡{eï>o

~) g§¶wº$ ‘hmamï´> Am§XmobZ

H$) n§Merb YmoaU

S>) {‘l AW©ì¶dñWoMr g§H$ënZm

B) qhXÿ H$moS> {~bm‘Yrb ‘{hbm§Mo h³H$

’$) ImOJrH$aU


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[5961]-687
T.Y. B.A.

 SEC-1D : ENHANCING EMPLOYBILITY SKILLS
Prescribed Text : Aspirations English for Carcers

(2019 Pattern) (Semester - VI) (36333)

Time : 2½ Hours ]  [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4013 [Total No. of Pages :4
SEAT No. :

Q1) Answer any ten of the following questions. [10 Marks]
a) What is dictionary?

i) A list of words
ii) A list of words with synonyms and antonyms
iii) A list of collocation
iv) A list of words in alphabetical order with their meaning

b) Two or more words usually used together are ________.
i) Word family ii) Collocations
iii) Antonyms iv) Synonyms

c) Choose the correct synonym of the underlined word. ‘The state is in
dangerous situation due to Covid - 19.
i) Excited ii) Protected
iii) Confused iv) Precarious

d) Choose the correct antonym of the underlined word ‘The students read
a long paragraph’.
i) Brief ii) Precise
iii) Short iv) Small

P.T.O.
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e) Identify the tense in the following sentence ‘Manasvi is reading a book’
i) Simple present ii) Present perfect
iii) Present continuous iv) Future continuous

f) Choose the correct tense structure in the following ‘The teacher asks
questions’
i) Subject + V1 + object
ii) Subject + had + V3 + object
iii) Subject + V2 + ing + object
iv) Subject + V2 + object

g) Fill in the blank with correct option ‘Seema ______ playing outside
when her mother asked her to put on the lights.
i) have been ii) was
iii) is iv) had

h) The students ________ homework before meal
i) is finishing ii) finished
iii) have been iv) Finishes

i) Identify the compound preposition in the following.
i) On ii) Below
iii) From iv) Instead of

j) Fill in the blank with correct preposition. ‘Manasvi knows me ______
last two years.
i) since ii) from
iii) in iv) for

k) The parents visited their daughter _____ Sunday.
i) In ii) By
iii) On iv) At
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l) Choose the correct option for the underlined word. ‘The students sit on
the trees’.
i) Among ii) From
iii) Between iv) For

m) What is precis?
i) Explaining the original text
ii) Giving gist of the original test
iii) Repeat original text
iv) Make a list of important points

n) we will meet _______ the new canteen ______ our college
i) In, At ii) From, In
iii) On, At iv) At, In

Q2) Answer any one of the following in about 150 words. [10]
a) Explain the purpose of resume and describe its components.
b) Distinguish between group discussion and personal interview.

Q3) Answer any three of the following in about 100 words. [15]
a) Explain strategies for effective content writing.
b) Describe the types of blogs.
c) Comment on use of social media for trade and commerce.
d) Write a short note on effective presentation.

Q4) Answer any three of the following in about 100 words. [15]
a) What are the similanties and differences between commercial and classified

advertisements.
b) Explain the AIDA technique of advertising.
c) Write a short note on types of TV ads.
d) Discuss the relevance of soft skills.
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Q5) Answer any five of the following: [20]

a) Write a blog post on ‘use of social Media’.

b) Draft a promotional sales advertisement for a new TV brand of your
company.

c) Prepare content for two Powerpoint slides on ‘use of mobile’

d) Describe your routine on Sunday.

e) Prepare an advertisement for ‘organic Food’

f) Prepare a draft of an advertisement for radio on ‘Vaccination’.

g) Prepare a draft of an advertisement for television on ‘Road Safety’

h) Write taglines for the following.

i) A talcum powder

ii) A magical pen

 
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[5961]-688
T.Y. B.A.

GEOGRAPHY
Gg 310 B - CC - 1F : Geography of Disaster Management - II

(2019 Pattern) (CBCS) (Semester - VI) (36204)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of Map stencils is allowed.

PA-4014 [Total No. of Pages : 2

SEAT No. :

Q1) Write answers the following questions in about 20 words (any Eight) [16]
a) Define Earthquake?
b) What is landslide?
c) Define desertification.
d) What is soil degradation?
e) Write any two causes of Global warming.
f) Give any two impact of Tsunami.
g) What is acid rain?
h) Write any two environmental effects of forest fire.
i) Write any two reasons of ozone deplection.
j) What is Hailstrom.

Q2) Write short notes in about 50 words each (any three) [18]
a) Describe the effect of Earthquake.
b) Causes of Global Warming.
c) Effect of Hailstrom.
d) Fukushima Nuclear Disaster - 2011.

Q3) Write the answer of questions in 150 words (any Two) [16]
a) Effect of Acid Rain.
b) Explain indetail cloudburst Disaster of Kedarnath.
c) Describe the causes of Forest Fire disaster.

Q4) Write the answer of questions in 300 words (any one) [20]
a) What is landslide? Explain the causes and effects of landslide?
b) What is soil erosion? Explain the causes and effects of soil degradation?


P.T.O.
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Total No. of Questions : 4]

[5961]-688
T.Y. B.A.

GEOGRAPHY
Gg 310 B - CC - 1F : Geography of Disaster Management - II

(2019 Pattern) (CBCS) (Semester - VI) (36204)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4014

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) ŷH§$nmMr ì¶m»¶m {bhm.
~) ŷ{‘nmV åhUOo H$m¶?
H$) dmid§Q>rH$aUmMr ì¶m»¶m {bhm.
S>) ‘¥XmYyn åhUOo H$m¶?
B) OmJ{VH$ Vmn‘mZdmT>rMr H$moUVrhr XmoZ H$maUo {bhm.
’$) ËgwZm‘rMo H$moUVohr XmoZ n[aUm‘ gm§Jm.
¶) Amåb nO©Ý¶ åhUOo H$m¶?
a) dZ AmJrMo H$moUVohr XmoZ n¶m©daUr¶ n[aUm‘ {bhm.
b) AmoPmoZ èhmgmMr H$moUVohr XmoZ H$maUo {bhm.
d) JmanrQ> åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [18]
A) ŷ§H$nmMo n[aUm‘ ñnï> H$am.
~) OmJ{VH$ Vmn‘mZ dmT>rMr H$maUo.
H$) JmanrQ>rMo n[aUm‘.
S>) 2011 Mr ’w$Hw${e‘m AmnÎmr.

à.à.à.à.à.3) Imbrb àíZm§Mr 150 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]
A) Amåb nO©Ý¶mMo n[aUm‘ ñnï> H$am.
~) Ho$XmaZmW T>J’w$Q>r AmnÎmrMr g{dñVa ‘m{hVr {bhm.
H$) dUdm AmnÎmrMr H$maUo ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) ŷ{‘nmV åhUOo H$m¶? ŷ{‘nmVmMr H$maUo d n[aUm‘ ñnï> H$am?
~) ‘¥XmYyn åhUOo H$m¶? ‘¥Xm èhmgmMr H$maUo d n[aUm‘ ñnï> H$am?


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[5961]-689
T.Y. B.A.

HINDI (qhXr)
CC-1F :  JOb> {dYm Am¡a nÌmMma

nmR>çnwñVH$ … gm¶o ‘| Yyn-g§nm. Xþî¶§V Hw$‘ma
(CBCS 2019 Pattern) (Semester - VI) (36093)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZmE± … 1) g^r àíZ A{Zdm¶© h¡&
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nwUmªH$ h¡&

PA-4015

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) Xþî¶§V Hw$‘ma Ho$ ì¶{º$Ëd H$m n[aM¶ Xr{OE&

~) qhXr JOb Ho$ ñdê$n H$mo ñnï> H$s{OE&

H$) ""H¡$go ‘§Oa gm‘Zo AmZo bJo h¡'' JOb> ‘| ì¶º$ {d{dY ^mdm| H$mo ñnï> H$s{OE&

S>) JOb H$m gm‘mÝ¶ n[aM¶ Xr{OE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) Xþî¶§V Hw$‘ma H$s JObm| ‘| amOZr{V H$m {MÌU {H$g àH$ma hþAm h¡? ñnï> H$s{OE&

~) Xþî¶§V Hw$‘ma H$s JObm| ‘| gm‘m{OH$ ‘yë¶m§o H$m {dKQ>Z {H$g àH$ma hþAm h¡?

H$) ""~mT> H$s g§̂ mdZmE±'' Bg JOb Ho$ X²dmam Xþî¶§V Hw$‘ma Zo H$m¡Z-gm g§Xoe {X¶m h¡?

S>) gmR>moÎmar JObH$mam| ‘| Xþî¶§V Hw$‘ma H$m ñWmZ {ZYm©[aV H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo {df¶m| na {Q>ßnUr¶m± {b{IE& [14]

A) Xþî¶§V Hw$‘ma Ho$ H$mì¶ ‘| amOZr{VH$ MoVZm&

~) Xþî¶§V Hw$‘ma H$s JObm| ‘| Am‘ AmX‘r H$s nrS>m&

H$) Xþî¶§V Hw$‘ma Ho$ H$mì¶ ‘| ‘hmZJar¶ {dÐþnVmE±&

S>) JOb Ho$ àH$ma&

[Total No. of Pages : 2

SEAT No. :

P.T.O.
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à.à.à.à.à.4) A) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""{OE± Vmo AnZo ~JrMo ‘| Jwb‘moha Ho$ Vbo,

‘a| Vmo J¡a H$s J{b¶m| ‘| Jwb‘moha Ho$ {bE&''

ii) ""Bg eha ‘| dmo H$moB© ~mamV hmo ¶m dmaXmV,

A~ {H$gr ^r ~mV na IwbVr Zht h¡ {I‹S>{H$¶m±&''

~) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""‘¢ ~hþV Hw$N> gmoMVm ahVm hÿ± na H$hVm Zht,

~mobZm ^r h¡ ‘Zm, gM ~mobZm Vmo Xa{H$Zma&''

ii) ""do ghmao ^r Zht A~, O§J bS>Zr h¡ VwPo,

H$Q> MwHo$ Omo hmW, CZ hmWm| ‘| Vbdma| Z XoI&''

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo {df¶ na nÌ boIZ H$m Z‘yZm V¡¶ma H$s{OE& [14]

A) ^maVr¶ OrdZ ~r‘m {ZJ‘ Ho$ {ZXoeH$ Xoe Ho$ {d{^Þ amÁ¶m| ‘| pñWV AnZo H$‘©Mm[a¶m| H$mo
H$m¶m©b¶ ‘| R>rH$ g‘¶ na CnpñW{V hoVw n[anÌ ôOVo h¡& n{anÌ H$m Z‘yZm V¡¶ma H$s{OE&

~) ^maV gaH$ma ImX²¶ ‘§Ìmb¶ Ho$ Cng{Md lr AemoH$ bmb> JwOamV Ho$ AH$mb nr{S>V bmoJm| H$mo
AÞ gm‘J«r nhÿ±MmZo Ho$ g§X ©̂ ‘| JwOamV gaH$ma H$mo gaH$mar nÌ ôOVo h¡& nÌ H$m Z‘yZm V¡¶ma
H$s{OE&

H$) ^maV gaH$ma Ho$ ñdmñÏ¶ ‘§Ìmb¶ X²dmam "S>|Jr g§H«$‘U' Ho$ g§~§Y ‘| A‘aqgh, Cng{Md, ^maV
gaH$ma ZB© {X„r, g^r amÁ¶ gaH$mam| H$mo EH$ n[anÌ ôOVm h¡ n[anÌ H$m Z‘yZm V¡¶ma H$s{OE&

S>) lr. A‘mob e‘m©, ‘w»¶ g{Md, J¥h ‘§Ìmb¶, ^maV gaH$ma, g^r ‘§Ìmb¶m| Ho$ H$‘©Mm[a¶m| H$mo
{ZOr H$m‘m| Ho$ {bE gaH$mar dmhZm|H$m à¶moJ Z H$aZo Ho$ g§~§Y ‘| H$m¶m©b¶ kmnZ Omar H$aVo h¢&
H$m¶m©b¶ kmnZ nÌ H$m àmê$n V¡¶ma H$s{OE&


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[5961]-690
T.Y. B.A.

ENGLISH COMPULSORY
Exploring New Horizons

(2019 Pattern) (Credit System) (Semester - VI) (36001)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4016 [Total No. of Pages : 3
SEAT No. :

Q1) a) Answer the following questions in a sentence each. (6 out of 9) [6]

i) What was Judith’s parent’s attitude to her education?

ii) Who was Judith in the essay; Shakespeare’s sister?

iii) What is the main cause for the quarrel between Judith and her father?

iv) How long did the man from the West wait in the story, ‘After Twenty
years’?

v) How was the weather when two friends were meeting after twenty
years in the story?

vi) What are the names of two friends in the story, ‘After Twenty years’?

vii) What magic words did the conjuror use every time when he
performed the trick?

viii) Who spoiled the conjuror’s magic trick every time in the story
‘Conjuror’s Revenge’?

ix) What remark was made by the Quick Man every time to the
conjuror’s trick in the story?

b) Answer the following questions (Any 2 out of 3) [14]
i) What is the main message of Woolf’s essay, ‘Shakespeare’s sister?

ii) Comment on the ending of the story, ‘After Twenty years’.

iii) Attempt the character sketch of conjuror in the story ‘conjuror’s
Revenge!

P.T.O.
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Q2) a) Answer the following questions in a sentence each. (6 out of 9) [6]

i) Who is the poet of the poem, ‘The man of Life Upright’?

ii) What does the upright man consider as his wealth in the poem,
‘The Man of Life Upright’?

iii) How does the upright man think of the heaven in the poem. ‘The
Man of Life Upright?

iv) Who is the poet of the poem, ‘Money Madness’?

v) Identify the figure of speech in the line ‘And no wonder, for money
has a fearful cruel power among men’.

vi) What is the main cause of fear in the speaker’s mind in ‘Money
Madness’?

vii) How did the father Punish the child in the poem, ‘The Toys’?

viii) What was the child’s mistakes in the poem, ‘The Toys’?

ix) Who is the poet of the poem ‘The Toys’?

b) Attempt the following questions (Any 2 out of 3) [14]
i) Comment on the character of the ‘Upright Man’ in the poem ‘The

Man of Life Upright.

ii) What is the significance of the title of the poem, ‘Money Madness’?

iii) Discuss the theme of the poem, ‘The Toy’s!

Q3) Do as directed: [10]
a) Frame ‘Wh-questions’ to elicit the underlined information in the following

sentences (Any 3 out of 5) [03]

i) The N.S.S. volunteers are doing the village survey.

ii) He submitted his project to subject teacher yesterday.

iii) Raju goes to college every day.

iv) Ketaki could answer the question.

v) There are ten mango trees in the garden.
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b) Change the following sentences into ‘Yes-No’ questions. (Any 3 out of 5)
[3]

i) Radha lover classical music.
ii) My friend is speaking with his father.
iii) We should work hard to get success.
iv) Rohit passed the exam.
v) Teachers appreciate hardworking students.

c) Change the following sentences into ‘negative imperatives’. (Any 4 out of 6)
[4]

i) Submit your papers
ii) Tell me your problem.
iii) Participate in the workshop.
iv) Let me discuss the issue with bank manager.
v) Complete the task
vi) See the picture

Q4) Answer the following questions in brief (Any 2 out of 3) [10]
a) Write a short note on ‘Bar chart’ as a kind of graphic representation.

b) Abhay wants to open a Saving Account in a Nationalized bank. Write a
dialogue between Abhay and a clerk in the bank regarding opening an
account.

c) You are on HR in Quick Tech solutions Pvt. Ltd. Mumbai which has
organized One Day workshop on ‘Soft skills and communicative English’
for its employees. Mr. Rajesh Agarwal is the Resource person of the
workshop. So, write an email to rajeshagarwal.com inviting him for the
workshop.

Q5) Answer the following questions in brief (Any 2 out of 3) [10]
a) Comment on the impact of positive thinking and optimism on our health.

b) What are the ways of coping with stress?

c) ‘Goal setting’ is trying to achieve our goal and making our dream a
reality. Explain in your own words.

 



Total No. of Questions : 4]

[5961]-691
T.Y. B.A.

POLITICAL SCIENCE
CC-1F : Local Self Government in Maharashtra
(2019 Credit Pattern) (Semester - VI) (36164)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4017 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any 8 of the following (20 words each) [16]

a) For which area does 74th amendment came into existence?

b) In which year does 74th amendment established?

c) Meaning of Amendment.

d) Any two functions of Nagar Panchayats?

e) Any two qualification of corporator?

f) When was state Election commission established?

g) Any two functions of state Election commission.

h) When was state Finance Commission established?

i) Any two challenges before Local Self Government?

j) Tenure of Mayor?

P.T.O.
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Q2) Attempt any 4 short notes (50 words each) [16]

a) State the qualification of the members of Nagar Panchayat?

b) Write the functions of Mayor.

c) Write the functions of State Finance Commission?

d) Discuss the information of the income sources of Panchayat Samiti

e) Explain the functions of Nagar Panchayat

f) Importance of state Election commission?

Q3) Attempt any 3 of the following (100 words each) [18]

a) Explain the role of Nagar Panchayat.

b) Explain the Limitations of Local Self Government.

c) Explain Article 243.

d) Explain the challenges before State Finance Commission.

Q4) Attempt any 2 of the following (200 words each) [20]

a) Explain the 74th constitutional Amendment and Urban bodies before
Independence?

b) Explain the structure and functions of Nagar Parishad.

c) Explain the control of legislature on Local Self Government.


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Total No. of Questions : 4]

[5961]-691
T.Y. B.A.

POLITICAL SCIENCE
CC-1F : Local Self Government in Maharashtra
(2019 Credit Pattern) (Semester - VI) (36164)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4017

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) 74 dr KQ>ZmXþê$ñVr H$moUË¶m ^mJmgmR>r H$aÊ¶mV Ambr?

~) 74 dr KQ>ZmXþê$ñVr H$moUË¶m dfu Pmbr?

H$) KQ>ZmXþê$ñVr åhUOo H$m¶?

S>) ZJan§Mm¶VrMo H$moUVohr XmoZ H$m¶© gm§Jm?

B) ZJa godH$mMr XmoZ nmÌVm gm§Jm?

’$) amÁ¶ {ZdS>UyH$ Am¶moJmMr ñWmnZm H$Yr Pmbr?

¶) amÁ¶ {ZdS>UyH$ Am¶moJmMr H$moUVohr XmoZ H$m¶© {bhm?

a) amÁ¶ {dÎm Am¶moJmMr ñWmnZm H$Yr Pmbr?

b) ñWm{ZH$ emgZm g‘moarb H$moUVohr XmoZ AmìhmZo gm§Jm?

d) ‘hmnm¡amMm H$m¶©H$mb gm§Jm?
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à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr Mma àíZm§Mr CÎmao {bhm. (50 eãXmV) [16]

A) ZJa n§Mm¶V gXñ¶m§Mr nmÌVm gm§Jm.

~) ‘hmnm¡amMo H$m¶© {bhm.

H$) amÁ¶ {dÎm Am¶moJmMo H$m¶© {bhm.

S>) n§Mm¶V g{‘VrMo H$m¶© ñnï> H$am.

B) ZJa n§Mm¶VrMo H$m¶© ñnï> H$am.

’$) {ZdS>UyH$ Am¶moJmMo ‘hÎd ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. [18]

A) ZJan§Mm¶VrMr ŷ{‘H$m ñnï> H$am.

~) ñWm{ZH$ ñdamÁ¶ g§ñWm§À¶m ‘¶m©X ñnï> H$am.

H$) H$b‘ 243 ñnï> H$am.

S>) amÁ¶ {dÎm Am¶moJm g‘moarb AmìhmZo ñnîQ> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) 74 ì¶m KQ>ZmXþê$ñVr nyduÀ¶m ZmJar g§ñWm ñnï> H$am.

~) ZJan[afXoMr aMZm d H$m¶} ñnï> H$am.

H$) ñWm{ZH$ ñdamÁ¶ emgZmdarb {d{Y‘§S>imMo {Z¶§ÌU ñnï> H$am.





àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr 3 àíZm§Mr CËVao àË òH$s 50 eãXmn ª̀V {bhm. [15]

A) ^maVr` amÁ`KQ>ZoVrb ^mfm{df`H$ VaVwXr WmoS>Š`mV {bhm.

~) amÁ` _amR>r {dH$mg g§ñWoMo H$m ©̀ WmoS>Š`mV ñnï> H$am.

H$) "H${dVm' `m gm{hË`àH$mamMo ñdén WmoS>Š`mV ñnï> H$am.

S>) Xo{dXmg Mm¡Yar `m§Zr "hm`Hy$' `m H$mì`àH$mam_Ü ò {ZgJm©Mo dU©Z H$go Ho$bo Amho?

B) "em§VVobm AmVm AmR>dV Zmhr H$mhrM' ̀ m H${dVo_YyZ àkm X`m ndma ̀ m§Zr A{Ib _mZdVoÀ`m
^{dî`mMr H$moUVr qMVm ì`ŠV Ho$br Amho?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr 2 àíZm§Mr CËVao àË òH$s 200 eãXmn ª̀V {bhm. [20]

A) _amR>r ^mfm{df`H$ H$m ©̀ H$aUmè`m emgH$s` g§ñWm§Mm n[aM` H$éZ Xçm.

~) H${dVm ̀ m gm{hË` àH$mam_Ü ò H${dVoMo én Am{U KmQ> ̀ m§Mm {dMma H$gm _hÎdmMm R>aVmo?

H$) _amR>r H${dVoMr dmQ>Mmb, àoaUm Am{U d¡{eîQ>ço ñnï> H$am.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-692
T.Y. B.A.

MARATHI (_amR>r)
{ZdS> AmYm[aV lo`m§H$ nÕV

(2019 Pattern) (CBCS) (Semester - VI) (36023)
{Z`{_V Aä`mgH«$_ : gm_mÝ`ñVa Aä`mgn{ÌH$m - "^m{fH$ H$m¡eë` {dH$mg Am{U

AmYw{ZH$ _amR>r gm{hË`àH$ma - H${dVm' [CC-1F]
doi : 2½ Vmg     ] [ EHy$U JwU : 70
Aä`mgH«$_ : 1) _amR>r gm{hË`, ^m{fH$ H$m¡eë` {dH$mg Am{U emgZì`dhma.

2) H${dVm - gm{hË`àH$ma, VmpËdH$ {ddoMZ.
3) én: H${dVoMo - g§nm{XV Aä`mgnwñVH$.

gyMZm : 1) gd© àíZ  gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3960

SEAT No. :

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr 2 àíZm§Mr CËVao àË òH$s 200 eãXmn ª̀V {bhm. [20]

A) àH$me hmoiH$a `m§Zr Amnë`m qMVZmË_H$ H${dVoVyZ H$moaS>dmhÿ eoVrMo d eoVH$è`mMo Xþ:I
H$go dU©Z Ho$bo Amho?

~) H$dr _§Joe Zmam`U H$mio `m§Zr Amnë`m H${dVo_YyZ X§VH$Wm, nwamUH$Wm d {_WHo$ `m§À`m
_mÜ`_mVyZ _mZdr OrdZmbm Zdo n[a_mU H$go àmá H$ê$Z {Xbo Amho?

H$) g§Vmof nX²_mH$a ndma `m§Zr Amnë`m H${dVo_YyZ _mUgm§À`m d¥Îmr-àd¥Îmrda, Ë`m§À`m dV©Z
ì`dhmamda H$emàH$mao àhma Ho$bm Amho?

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr 1 àíZmMo CÎma 300 eãXm§n ª̀V {bhm. [15]

A) H$dr g§Xrn Iao `m§Zr Amnë`m H${dVo_YyZ _mV¥ào_mMm hidm gya, _mZdr OrdZ OJÊ`mMo
__© H$emàH$mao dU©Z Ho$bo Amho?

~) OmJ{VH$sH$aU d ~mOmarH$aUmÀ`m aoQ>`mV _mUgm§Mr Pmbobr ^rfU AdñWm H$dr àdrU
A¸$Zdé `m§Zr Amnë`m H${dVoV H$er A{^ì`ŠV Ho$br Amho?





Total No. of Questions : 4]

[5961]-693
T.Y. B.A.

ECONOMICS
CC-1F : Indian Economic Development - II (G3)

(2019 Credit Pattern) (Semester - VI) (36153)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions must be solved.
2) Numbers to the right indicate full marks.

PA-4019 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following question in 20 words each (Any Eight). [16]

a) Write the two objectives of Economic planning.

b) State the two objectives of NITI AAYOG.

c) State the two measures for sustainable Development.

‘ d) NITI Ayog was established after which institution was abolished.

e) State the two objectives of sustainable Development.

f) What is the strategy of National Environment conservation.

g) State the two negative effect of global warming.

h) What is the sustainable Development.

i) State the meaning of Economic planning.

j) State the meaning of Environment.

Q2) Answer the following question in 50 words (Any four) [16]

a) Why is the necessity of Economic planning.

b) State the structure of NITI Ayog.

c) Explain the needs of sustainable Development.

d) Explain the challenges regarding Environment.

e) State in brief the relationship between the sustainable development and
environment.

f) State in brief the National Environment policy - 2006.

P.T.O.
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Q3) Answer the following questions in 100 words (Any three) [18]

a) Explain the difference between planning commission and NITI Ayog.

b) Explain the characteristics of Economic planning.

c) Explain the Goals of sustainable Development.

d) Explain the National Environment conservation strategy - 1992.

Q4) Answer the following questions in 200 words (Any two) [20]

a) Explain the nature and importance of Economic planning.

b) Explain the role of NITI Ayog.

c) Explain the measures to Reduce the global Warming.


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Total No. of Questions : 4]

[5961]-693
T.Y. B.A.

ECONOMICS
CC-1F : Indian Economic Development - II (G3)

(2019 Credit Pattern) (Semester - VI) (36153)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>m§ ‘yi B§J«Or àíZnÌrH$m nhmdr.

PA-4019

à.à.à.à.à.1) nwT>rb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) Am{W©H$ {Z¶moOZmMo XmoZ C{Ôï>²¶o {bhm.

~) ZrVr Am¶moJmMr XmoZ C{ÔîQ>ço gm§Jm.

H$) emídV {dH$mgmgmR>rMo XmoZ Cnm¶ gm§Jm.

S>) H$moUË¶m g§ñWoÀ¶m OmJr ZrVr Am¶moJmMr ñWmnZm Ho$br?

B) emídV {dH$mgmMo XmoZ C{ÔîQ>ço gm§Jm.

’$) amï´>r¶ g§dY©Z aUZrVr åhUOo H$m¶?

¶) OmJ{ZH$ Vmn‘mZ dmT>rMo XmoZ XþînarUm‘ gm§Jm.

a) emídV {dH$mg åhUOo H$m¶?

b) Am{W©H$ {Z¶moOZmMm AW© H$m¶?

d) n¶m©daUmMm AW© gm§Jm.

à.à.à.à.à.2) nwT>rb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) Am{W©H$ {Z¶moOZmMr Amdí¶H$Vm H$m Amho?

~) ZrVr Am¶moJmMr aMZm gm§Jm.

H$) emídV {dH$mgmMr JaO ñnï> H$am.

S>) n¶m©daU {df¶H$ AmìhmZo ñnï> H$am.

B) emídV {dH$mg Am{U n¶m©daU ¶mVrb g§~§Y WmoS>³¶mV gm§Jm.

’$) amï´>r¶ n¶m©daU YmoaU-2006 WmoS>³¶mV gm§Jm.
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à.à.à.à.à.3) nwT>rb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) {Z¶moOZ Am¶moJ d ZrVr Am¶moJ ¶mVrb ’$aH$ ñnï> H$am.

~) Am{W©H$ {Z¶moOZmMr d¡{eîQ>ço ñnï> H$am.

H$) emídV {dH$mgmMr Ü¶o¶ ñnï> H$am.

S>) amï´>r¶ g§dY©Z aUZrVr-1992 WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.4) nwT>rb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) Am{W©H$ {Z¶moOZmMo ñdê$n gm§JyZ Ë¶mMo ‘hÎd ñnï> H$am.

~) ZrVr Am¶moJmMr ŷ{‘H$m ñnï> H$am.

H$) OmJ{VH$ Vmn‘mZ dmT> amoIÊ¶mgmR>r Mo Cnm¶ ñnï> H$am.





Total No. of Questions : 2]

[5961]-696
T.Y. B.A.

SOCIOLOGY
SEC - 2A - IV : Understanding and Mitigating Violence
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Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4022 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 200 words. (any one). [10]

a) Critically evaluate the violence against women during Covid Pandemic
period.

b) Discuss the measures taken to stop violence against women at government
and civil society levels.

Q2) Write short notes (any three) [15]

a) Gender discrimination and violence

b) Vishakha Act

c) Caste and violence

d) Humiliation

e) Teasing



P.T.O.
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Total No. of Questions : 2]

[5961]-696
T.Y. B.A.

SOCIOLOGY
SEC - 2D - IV : Understanding and Mitigating Violence

(2019 Pattern) (CBCS) (Semester - VI) (36375)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-4022

à.à.à.à.à.1) Imbrb àíZm§Mo CÎma 200 eãXm§V {bhm. (H$moUVohr EH$) [10]

A) H$moamoZm ‘hm‘mar H$mimV {ó¶m§darb qhgoMo {MH$sËgH$ n[ajU H$am.

~) emgZ Am{U ZmJar g‘mOmÀ¶m nmVirda {ó¶m§da hmoUmar qhgm Wm§~dÊ¶mgmR>r ¶mo{Oboë¶m
Cnm¶¶moOZmda MMm© H$am.

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) qbJ^md {df‘Vm Am{U qhgm

~) {demIm H$m¶Xm

H$) OmV Am{U qhgm

S>) An‘mZ

B) N>oS>N>mS>





Total No. of Questions : 4]

[5961]-697
T.Y. B.A.

PSYCHOLOGY
 SEC - 1D : Applied Psychology

(2019 Credit Pattern) (Semester - VI) (36223)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4023 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words each (any Four). [20]
a) Explain the nature of applied Psychology.
b) Explain the scope of educational Psychology.
c) Explain the nature of developmental Psychology.
d) Explain the cyber crimes.
e) Explain the identity crisis issue of adolescents.
f) Explain the types of violence.

Q2) Answer the following question in 200 words each (any two) [20]
a) Explain the role of psychologists in tackling social issues.
b) Describe the cognitive behaviour therapy.
c) Explain the issues of mentally challenged students.
d) Explain the family and marital problems.

Q3) Answer the following questions in 400 words (any one) [20]
a) Describe Fields of applied Psychology.
b) Describe the effective - teaching - learning methodologies.

Q4) Write short notes on (any four) [10]
a) Love
b) Correctional psychology
c) Psychology of Corruption
d) Live in relationship



P.T.O.
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Total No. of Questions : 4]

[5961]-697
T.Y. B.A.

PSYCHOLOGY
 SEC - 1D : Applied Psychology

(2019 Credit Pattern) (Semester - VI) (36223)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4023

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [20]
A) Cn¶mo{OV ‘mZgemómMo ñdê$n ñnï> H$am.
~) e¡j{UH$ ‘mZgemómMr ì¶már ñnï> H$am.
H$) d¡H$m{gH$ ‘mZgemómMo ñdê$n ñnï> H$am.
S>) gm¶~a JwÝho ¶m{df¶r ‘m{hVr {bhm.
B) {H$emoam§À¶m ñd. AmoiI g§Kf© g‘ñ¶m ñnï> H$am.
’$) qhgmMmamMo àH$ma ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. [20]
A) gm‘m{OH$ g‘ñ¶m hmVmiÊ¶m Vrb ‘mZgemókm§Mr ŷ{‘H$m {deX H$am.
~) ~moYmË‘H$ dV©ZmonMma nÕV ñnï> H$am.
H$) ‘mZ{gH$Ñï>¶m AmH$mZmË‘H$ {dÚmÏ¶mªÀ¶m g‘ñ¶m ñnï> H$am.
S>) H$m¡Qw>§{~H$ Am{U d¡dm{hH$ g‘ñ¶m ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 400 eãXm§V {bhm. [20]
A) Cn¶mo{OV ‘mZgemómÀ¶m {d{dY joÌm§Mo dU©Z H$am.
~) n[aUm‘H$maH$ AÜ¶mnZ AÜ¶¶Z nÕVtMo dU©Z H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZda ¶moS>³¶mV {Q>nm {bhm. [10]
A) ào‘
~) gwYmaUmË‘H$ ‘mZgemó
H$) «̂ï>mMmam Mo ‘mZgemó
S>) ào‘r ¶wJwbm§Mo ghOrdZ ({bìh-BZ-[aboeZern)





Q1) Write short notes on any three of the following : [12]

a) Characteristics of Book review.

b) Critical reading and Book review.

c) Types of Book review.

d) Nature of Book review.

e) Book reviewer as a career.

Q2) Write a book review on the book you have recently read. [8]

Q3) a) Write short notes on any three of the following : [12]

i) Importance of translation.

ii) Qualities of good translator.

iii) Scope of translation in print media.

iv) Translation as a skill.

v) Types of translations by Roman Jakobson.

Total No. of Questions : 5]

[Total No. of Pages : 2

[5961]-699
T.Y. B.A. (Vocational Stream)
FUNCTIONAL ENGLISH - V

Introduction to Print Media and Writing for Mass Media
and Key Competency Modules

(2019 Pattern) (Semester - VI) (36851)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4279
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b) Translate the given news item in English. [8]

Q4) a) Give Marathi/Hindi words for the following words (any five) : [5]
i) Budget
ii) Survey
iii) Secretary
iv) Television
v) Documentary
vi) Manual
vii) Communication
viii) Industrial
ix) Director
x) Dictionary

b) Translate the following passage in Marathi/Hindi He had left his village
without any previous thought or plan. If he had continued there he
would have carried on the work of his forefathers-namely, tilling the
land, living, marrying and ripening in his cornfield an a ancestral home.
But that was not to be. He had to leave home without telling anyone,
and he could not vest till he left it behind a couple of hundred miles.
To a villager it is a great deal, as if an ocean flowed between. [5]

Q5) a) Write short notes on any three of the following : [12]
i) Cinematography
ii) Elements of films
iii) Dialogue in film
iv) Sound and music in films
v) 'Flashback' technique in films.

b) Write a film review any horror movie. You have seen. [8]





Q1) Answer any eight (Around 20 words each): [16]

a) How the word entrepreneur derived?

b) Who introduced the word Entrepreneur?

c) Explain the concept of novice entrepreneur.

d) Explain the concept of social entrepreneur.

e) Define professional entrepreneur.

f) What is the objective of HRD?

g) Explain the concept of trading entrepreneur.

h) Who is the father of HRM in India?

i) What do you mean by enterprendre?

j) Where the HRD ministry of India located?
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Q2) Write short notes on any three (Around 50 words each): [18]

a) Write about any two personalities of entrepreneur.

b) What are the qualities required to become entrepreneur?

c) What is the procedure to setup travel agency as an entrepreneur?

d) How entrepreneur promotes economic growth of the country?

Q3) Answer any two (Around 100 words each): [16]

a) What are the approaches in HRD?

b) Explain the work profile of tour agent.

c) What are licenses and registration required for setting up a tourism
enterprise?

Q4) Answer in detail any one (Around 500 words each): [20]

a) Explain the nature and history of HRD.

b) Explain various job profile in tourism industry.
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